Part 5

2025 /84t
A=












1-1. Mt L QA(LA=2 AHQl)
(SHQ| : MICH, &, %)
= AT ol AH
T g dich Ol 71 e o1t A o o1t
2 02 04 23,178 44 464 22,781 21,683 100.0 51.2 48.8
2 02 1 4 23,160 43,365 22,206 21,159 100.0 51.2 48.8
2 02 2 4 23,358 43,146 22,162 20,984 100.0 51.4 48.6
2 02 3 4 23,400 42,543 21,892 20,651 100.0 51.5 48.5
2 0 2 4 4 23,170 42,026 21,548 20,478 100.0 51.3 487
242 A, KOSIS 'ZUSZOITEA,
Z) Q=201 Q|
1-2 ¢ & gy o
(EHQ : H %)
=] of X
T = 27 izt of 2t T3 izt of 2t
2 0 2 4 4 42,026 21,548 20,478 100.0 51.3 487
0O ~ 9 A 1,846 934 912 4.4 2.2 2.2
1T0~19MA 2,964 1,534 1,430 7.1 3.7 3.4
20 ~29MA 3,361 1,992 1,369 8.0 4.7 3.3
30~ 39 A 3,166 1,684 1,482 7.5 4.0 3.5
40 ~49A 4563 2,491 2,072 10.9 59 49
50~59MA 7,302 4153 3,149 17.4 9.9 7.5
6 0~69 A 8,444 4. 603 3,841 20.1 11.0 9.1
70~79A 5,601 2,665 2,936 13.3 6.3 7.0
80 ~89 A 4107 1,339 2,768 9.8 3.2 6.6
90 M ©Of 4 672 153 519 1.6 0.4 1.2
242 A%, KOSIS 'ZUSZ0IEA,
Z) Q=201 Q|
1-3 gASMe Y AHYE
(Tl &, %)
T ol 4 HAELE QPNAE
2 020 4 44,464 260 1.51 2.8
2 0 2 1 4 43,365 153 0.95 -2.5
2 0 2 2 H 43,146 126 0.83 -0.5
2 023 4 42543 172 1.15 -1.4
2 0 2 4 4 42,026 - 1.34 -1.2
2R S, KOSIS "RUUSZQIREH, QLS FRAL,
49
Z) BAZSME(TFR)= Y, (ASFR),/1,000, 7101 18 B7 SAore
1=15
Z) 20244 BHZASLS SHHOIN TA YHSH= £27t Ofd ZAMR0|DR AN BHSAR ZHT Ot YL 4 UG
Z) QITANAE = (Y UERVSZP-HAT RS Z0I7)/HE L R0ISZ20I2] X100, HEHHY
Z) =0l Q|
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1- 4 MMHSAT U Hlg
(9l 1, %)
(=]
T E 7 15-24A) ° 25-49A ° 50-64Al °
Hl& Hl& Hl&
20204 26,733 3,766 14.1 11,437 42.8 11,530 43.1
20214 25,811 3,494 13.5 10,595 41.0 11,722 45.4
20224 25,540 3,363 13.2 10,308 40.4 11,869 46.5
20234 24,945 3,221 12.9 9,870 39.6 11,854 47.5
202 44 24,267 3,074 12.7 9,521 39.2 11,672 48.1
T BRAAE RUSEUTEA,
1-5 9705 U 20|58
(Eh9l -, %)
o= ae e o s | =5 | o8
2 020 4 5,698 12.8 6,715 15.1 -1,017 -2.3
2 021 4 5,720 13.2 6,214 14.3 -494 -1.1
2 02 2 4 5,210 121 4,807 11.1 403 0.9
2 02 3 4 4,615 10.8 4,814 11.3 -199 -0.5
2 02 4 4 4,636 11.0 4,756 11.3 -120 -0.3
A= § A%, KOSIS FUSEeTEA,
Z) MO = A2 2t Agl + AIE 2 HY + AIZR U Ol
) U < A7 2 A + AE 2 BE + 27 U oS
- 6. 4 I 9= A7
(9l - Q)
374
P S ]
T 9T | w | o |wisw | zmcenaeRil malm | G0 | uE | oot | et
2 020 4 993 618 375 319 156 107 106 44 46 35 180
2 021 4 923 576 347 282 154 99 96 63 36 35 158
2 02 2 4| 1030 670 360 293 165 118 96 62 55 46 195
2 02 3 4| 1,135 73 404 315 185 117 116 72 69 65 196
2 02 4 djf 1,227 801 426 353 195 136 110 89 80 68 196
Az A%, KOSIS "EUFALAZARUZA, / 20244 547 7|2
%) 202418 950 QTS At 0N ASorE HHAS AR 929 a0t Aot U 4 AL









2 - 1. &9 CHSE Q=7 - (1) AN &
(9l - 2, %)
2 g |E5F

= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 8 | on | 10w
2025 4| 71 1000 05 02 01 17 33 207 122 173 200 107 132
20244 7.0 100.0 0.1 0.4 0.7 2.3 44 156 153 179 188 11.3 132
20234 6.7 100.0 0.6 0.7 1.1 2.6 3.8 260 126 163 178 79 10.7
LR
= = 2 7.0 100.0 0.2 0.2 0.0 1.6 43 189 143 183 198 10.2 122
2 = = 6.9 100.0 1.4 0.3 0.8 1.5 51 31.3 57 141 10.9 6.8 221
A = = 7.2 100.0 0.2 0.2 0.0 2.0 16 174 105 203 246 128 104
ZzolaA| 711000 07 00 00 20 17 211 146 135 217 125 123
R,
=k At 7.0 100.0 0.5 0.2 0.2 2.4 43 229 10.7 16.7 178 100 144
o At 7.1 100.0 0.5 0.2 0.0 1.0 23 185 137 180 223 115 120
LR
15~294| 701000 00 00 00 27 11 252 155 152 180 7.0 152
30~394| 711000 00 00 00 00 54 200 117 215 181 120 11.3
40~494 | 701000 10 00 00 14 35 191 128 167 280 68 107
50~59 A 71 1000 00 00 00 10 27 207 131 203 178 120 124
60AM o4 7.1 100.0 0.7 0.4 0.3 2.2 36 202 109 161 19.7 119 14.0
65AM oOfA4 7.1 100.0 0.5 0.4 0.2 2.6 3.2 214 99 169 186 121 14.2
Cot oy
Z2 Z o] 3} 6.9 100.0 0.5 0.2 0.2 2.4 44 230 123 160 16.2 10.8 139
ni = 7.0 100.0 0.9 0.0 0.2 1.4 1.8 219 123 182 221 9.0 123
I & o 4 7.2 100.0 0.0 0.4 0.0 1.2 35 166 11.8 181 225 124 134
CEOIAEf )
] z 6.6 100.0 0.0 0.0 0.2 2.1 6.4 309 132 127 171 6.4 11.1
Moxgel 731000 07 02 01 12 20 147 124 192 220 127 148
At /ol & 6.7 100.0 0.4 0.5 0.2 3.0 40 285 105 165 16.7 9.0 10.7
TS
2 A 7.1 100.0 0.2 0.3 0.1 1.5 29 197 117 180 21.2 115 13.0
AR Ol HPREE 6.9 100.0 0.9 0.1 0.2 2.2 40 224 13.0 16.3 180 95 13.6
CH Yy
Ao/ ma| 781000 00 00 00 10 16 94 73 242 194 190 181
At = 6.5 100.0 0.0 1.4 0.0 0.0 79 343 80 123 21.7 45 10.0
Me|A/moy | 7.2 1000 10 00 03 12 04 191 147 161 212 120 139
L 2 o o 7.2 100.0 0.0 0.0 0.0 2.1 2.4 205 98 16.1 224 140 12.7
s/ =8 6.7 100.0 0.0 0.5 0.0 3.3 44 192 205 175 21.0 5.5 8.0
= 0l 7.6 100.0 0.0 0.0 0.0 0.0 0.0 16.4 85 215 243 129 164
OtPAS S
j00mtel jar| 65 1000 05 02 05 48 65 289 100 155 148 87 94
100~2000t8 | 68 1000 05 06 00 08 40 253 140 152 233 71 91
200~300%+d 7.1 100.0 0.0 0.0 0.0 1.6 3.7 21.7 83 21.7 219 9.0 121
300~4008td | 7.1 1000 00 00 00 20 12 234 106 189 204 89 146
4002+ o|At 7.7 100.0 0.8 0.8 0.3 0.0 217 114 100 13.2 255 143 215
20253 Hetde Z/da APBIRAL
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2 - 1. ol Chg BEZ - (2) 4D U= A MY
(9l - 2, %)
2 g |E5F

= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 81 | 9m | 10w
20254 70 1000 03 03 02 14 33 223 138 156 199 110 119
202 4 4 6.9 100.0 0.0 0.4 0.7 3.2 3.4 192 154 166 19.0 9.7 123
20234 6.5 100.0 0.7 0.6 1.3 4.1 3.3 276 126 174 152 7.2 10.1
LR
= = 2 7.0 100.0 0.0 0.2 0.4 1.7 3.3 195 146 159 219 106 118
=2 = = 6.8 100.0 0.0 0.5 0.5 1.1 6.8 314 106 14.2 9.0 51 208
A = = 6.9 100.0 0.8 0.5 0.0 1.0 26 21.7 131 18.1 21.0 13.7 7.6
FzoizA| 771000 07 00 00 13 15 224 153 126 224 136 103
R,
= At 6.9 100.0 0.4 0.4 0.5 2.2 3.8 232 130 152 176 10.2 135
o At 7.1 100.0 0.2 0.2 0.0 0.5 28 21.2 146 160 223 119 10.2
LR
15~294| 661000 10 00 00 22 29 308 153 120 193 59 106
30~394| 671000 00 13 00 33 88 194 133 144 207 83 104
40~49K| 691000 00 00 00 08 24 246 114 211 242 80 7.4
50~59A| 69 1000 10 00 06 04 27 220 159 169 193 121 90
60AM o4 7.2 100.0 0.0 0.4 0.3 1.3 29 20.2 132 149 191 131 146
65AM oOfA4 7.2 100.0 0.0 0.5 0.4 1.2 28 210 124 151 180 133 15.2
Cot oy
Z2 Z o] 3} 7.0 100.0 0.6 0.2 0.2 1.3 3.0 224 154 144 173 115 138
ni = 7.0 100.0 0.0 0.0 0.2 0.2 26 255 143 168 20.7 9.5 10.3
I & o 4 7.0 100.0 0.3 0.7 0.4 2.7 45 187 113 159 224 121 11.0
CEOIAEf )
] z 6.5 100.0 0.6 0.0 0.2 2.7 6.0 309 150 11.8 187 5.2 9.0
oxoe|l 721000 01 04 03 11 27 176 127 182 208 131 128
At /ol & 6.9 100.0 0.5 0.4 0.2 0.7 25 274 158 118 183 106 118
TS
2 A 7.0 100.0 0.1 0.4 0.2 1.5 3.0 214 137 162 205 11.3 118
AR Ol HPREE 6.9 100.0 0.6 0.2 0.4 1.2 39 236 140 147 188 106 120
CH Yy
A2 /2a| 751000 00 00 00 00 16 132 144 167 240 145 157
At = 6.4 100.0 0.0 1.4 0.0 2.7 9.0 330 3.7 17.2 191 6.4 7.4
MH|A/oof | 7.2 1000 00 00 07 15 06 21.0 166 111 234 104 145
= 2 o 9| 721000 00 00 00 12 21 214 97 178 218 154 108
s/ =8 6.7 100.0 0.0 0.0 0.0 1.7 41 210 223 181 173 6.7 8.6
= ol 6.7 100.0 2.5 3.5 0.0 3.5 0.0 234 95 180 139 129 129
OtPAS S
1009ty jat | 68 1000 00 05 09 12 60 251 134 143 168 109 109
100~200at2 | 68 1000 00 00 00 00 15 300 167 182 152 108 76
200~300%+d 7.1 100.0 0.0 0.0 0.0 2.0 21 208 132 201 199 95 124
300~4008td | 7.1 1000 09 12 1.2 27 12 189 114 139 245 87 154
4002+ o|At 7.4 100.0 0.0 0.8 0.0 1.7 29 136 113 144 247 13.7 16.9
20253 Hetde Z/da APBIRAL
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2 - 1. &9 CHSt k=7t - (3) WE YT
(9l - 2, %)
2 g |E5F
= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 8 | on | 10w
2025 4| 69 1000 02 05 07 21 42 232 132 158 173 112 115
202 4 4 6.9 100.0 0.1 0.7 1.4 2.8 47 192 142 16.2 147 126 134
20234 6.6 100.0 0.6 0.9 1.4 3.3 46 260 11.7 146 180 84 10.5
LR
= = = 6.8 100.0 0.0 0.4 0.4 2.7 44 238 124 187 176 9.6 9.9
=2 = = 6.7 100.0 0.3 1.3 0.9 3.4 6.7 248 126 144 108 76 17.2
A = = 7.0 100.0 0.2 0.6 0.8 0.6 29 204 148 164 183 144 106
ZFzo Yy 7.0 100.0 0.7 0.0 1.2 1.6 3.1 241 133 89 209 142 120
R,
=k At 6.8 100.0 0.0 0.4 0.5 2.9 47 263 128 128 165 104 128
o At 6.9 100.0 0.4 0.6 0.9 1.3 3.7 199 135 190 182 122 10.2
LR
15~294| 691000 00 00 07 26 56 218 135 152 206 70 13.1
30~394| 711000 00 00 00 00 21 256 93 188 230 107 106
40~494 | 681000 10 00 00 27 33 228 147 146 221 113 75
50~594| 69 1000 00 00 09 06 38 239 116 185 173 156 7.9
60AM o4 6.8 100.0 0.2 1.0 0.9 2.8 46 230 140 148 144 10.7 13.7
65AM oOfA4 6.8 100.0 0.2 1.2 1.1 3.3 49 230 146 137 126 115 141
Cot oy
Z2 Z o] 3} 6.8 100.0 0.2 0.7 0.9 2.4 46 252 153 139 128 10.8 133
i = 6.9 100.0 0.4 0.1 0.3 2.9 3.4 229 125 167 193 111 10.2
I & o 4 7.0 100.0 0.0 0.6 0.9 1.0 45 210 11.0 174 211 119 10.6
CEOIAEf )
] z 6.5 100.0 0.0 0.0 0.4 1.7 6.8 31.2 127 141 193 4.5 9.2
ozt el 711000 03 04 06 23 26 188 132 172 184 133 130
A& /O & 6.5 100.0 0.2 1.3 1.2 2.0 6.2 286 136 136 119 118 9.6
TS
Z| %) 6.9 100.0 0.0 0.2 0.4 2.5 35 223 132 166 186 114 11.3
AR Ol HPREE 6.7 100.0 0.5 0.9 1.3 1.5 5.3 247 131 146 153 109 11.8
CH Yy
Ao /2g| 741000 00 00 10 16 39 119 108 169 261 150 128
At = 6.4 100.0 0.0 1.4 0.0 2.3 78 255 186 130 185 7.8 5.2
MHA/THOf| 77 1000 00 00 00 40 08 218 125 192 162 128 127
= 2 o ¢ 6.9 100.0 0.0 0.0 0.6 2.9 39 227 136 149 180 127 108
s/ =8 6.7 100.0 0.0 0.4 0.4 1.7 51 29.7 131 125 21.3 51 10.7
= 0l 7.6 100.0 0.0 0.0 0.0 0.0 0.0 20.9 85 180 155 174 198
OtPAS S
j00mtel jar| 63 1000 00 19 23 29 97 268 134 129 101 106 95
100~2000k9! | 65 1000 00 00 00 47 43 294 160 174 87 109 85
200~3008+2 6.8 100.0 0.0 0.0 0.0 1.2 55 240 153 163 211 7.5 9.1
300~4000tel | 69 1000 00 00 00 05 37 296 104 181 153 58 166
4002+ o|At 7.5 100.0 0.0 0.8 0.0 2.5 1.9 16.1 10.1 10.4 220 189 174

20258 HEfdE Zga ARIZAL
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2 - 1. &l oigt =Y - (4) HH =
(EH9l - A, %)
SN (i
= | mz om | 13 | 21 | 33 | 4n |58 | em | 73 | 81 | on | 107
2025 43| 42 1000 87/ 83 101 116 101 228 121 78 55 20 09
202 4 4 3.7 100.0 121 96 148 13.0 88 194 6.6 7.5 4.1 25 1.4
20234 4.0 100.0 9.5 89 116 126 10.6 226 6.8 7.7 5.6 2.1 2.1
LR
= = 4 4.5 100.0 6.0 7.5 84 102 11.7 237 143 8.9 5.8 2.6 0.9
2 =2 i 3.9 100.0 17.3 7.3 47 10.0 9.7 280 9.6 5.9 5.6 0.8 1.1
4 =2 | 381000 93 102 152 120 97 204 97 78 42 16 00
Fzola2A| 411000 79 88 120 157 70 199 116 67 65 20 18
R,
= At 4.2 100.0 9.4 8.3 7.8 112 101 254 116 8.1 5.3 23 0.4
o At 4.1 100.0 8.0 83 126 119 101 202 125 7.5 5.8 1.7 1.4
<o
15~294| 451000 59 78 76 124 88 259 134 93 48 42 00
30~394 | 471000 12 53 37 96 64 224 158 97 109 51 00
40~49K| 461000 55 64 129 96 73 219 138 131 60 08 27
50~59A| 431000 58 99 103 78 90 276 136 88 56 12 04
60AM o4 3.8 100.0 10.9 88 111 136 122 206 10.1 5.5 4.6 1.6 1.0
65AM oOfA4 3.8 1000 104 103 119 128 115 216 104 5.8 2.5 1.5 1.3
S LR
Z2 Z o] 3} 4.1 100.0 8.9 84 103 129 115 207 114 8.1 4.4 2.5 0.8
il = 4.1 100.0 8.8 8.0 9.8 119 99 244 124 8.2 4.5 0.6 1.5
I & o 4 4.3 100.0 8.5 85 10.2 9.4 84 2471 126 7.1 8.1 2.8 0.2
E N
0| = 4.5 100.0 6.4 6.1 59 138 87 288 147 8.1 5.1 2.1 0.3
ozt el 411000 100 86 104 112 11.0 198 120 82 60 22 06
A& /O & 41 100.0 7.3 9.7 135 102 87 26.3 9.5 6.4 4.8 1.6 2.1
FHEED
2 A 4.1 100.0 9.9 8.9 86 11.2 9.6 252 127 6.2 5.4 1.8 0.6
AR Ol HPREE 4.3 100.0 6.9 74 125 121 109 191 111 105 5.8 2.4 1.3
CH Y
Ao /e | 391000 119 94 125 131 87 172 86 96 77 13 00
At = 4.3 100.0 6.5 8.2 9.9 7.2 9.6 314 148 5.6 5.0 0.0 1.7
MH|A/mof | 43 1000 112 70 51 113 102 237 143 43 91 28 10
= 2 o ¢ 4.0 100.0 8.2 9.1 9.6 122 126 245 122 8.1 1.8 0.9 0.7
s/ =8 39 100.0 11.3 116 7.7 109 6.2 280 139 3.4 4.8 2.2 0.0
= 0l 41 100.0 135 9.5 9.5 9.5 70 199 104 104 3.5 7.0 0.0
REESTX
1000k O3t | 40 1000 79 93 130 144 88 199 111 81 49 16 09
100~2000t | 41 1000 100 65 96 97 102 310 124 62 20 19 05
200~300%+d 4.3 100.0 5.2 7.4 85 115 161 273 137 2.4 2.2 3.2 2.5
300~4000ted | 4.4 1000 124 51 74 78 61 305 119 91 67 27 04
4000k9] OjAH| 3.9 1000 115 147 72 101 71 212 106 72 88 15 00

20258 HEfdE Zga AfRIZAL
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2 - 2. 717 Y4WZ 25

5022 | 1008|2008+ | 3008k [ 4008Hel (5008l (6008l 7008+

y 5o |~ < 7| 8008+2
T 2 | A |Tajer 1002k 2008t 3008k 4008t 5003tel 6008+l 7008|8008kl OJA
ofge  ojee ook ool foojek ook poapgk |oofgk
2025 H| 1000 109 154 144 179 163 104 48 42 17 41
2024 4| 1000 67 186 152 189 119 105 63 31 35 52
20234| 1000 91 183 179 179 173 72 37 32 20 33
LR
= =2 4 100.0 11.6 15.7 10.7 18.3 17.7 10.6 4.4 4.0 1.3 5.5
2 =2 3 100.0 22.3 15.8 18.1 15.2 8.6 7.6 4.7 3.1 1.0 3.8
N 2 #H 100.0 5.0 13.8 15.0 19.5 19.9 11.3 5.1 4.0 3.9 2.6
zoam| 1000 75 167 192 168 143 110 57 60 00 28
Y
= At 100.0 5.5 10.2 14.1 17.9 19.7 13.2 6.2 58 2.4 5.1
o At 100.0 23.7 27.7 15.0 17.9 8.2 3.8 1.5 0.6 0.0 1.6

<A FED
15~29A | 1000 34 52 137 642 88 00 4.7 0.0 0.0 0.0
30~394 | 1000 00 0.0 37 203 437 90 30 123 3.0 4.8
40~49 M| 1000 00 1.5 95 12,6 246 245 101 8.7 3.5 5.0
50~59A| 1000 30 4.1 89 159 200 219 106 3.1 40 86
60AM OlA| 1000 177 248 185 156 108 4.4 2.0 3.1 0.5 2.6
654 OfA| 1000 204 284 199 152 8.6 2.9 1.4 1.5 0.3 1.4

SR

= Z o] 5| 100.0 23.3 30.3 19.5 16.1 5.8 2.1 0.5 1.4 0.4 0.6
i Z | 100.0 4.5 9.5 17.4 15.6 24.0 15.4 5.3 3.7 1.1 3.5
[ £ o] A 1000 0.0 0.9 4.7 22.2 234 16.9 10.3 85 3.9 9.2
(ZQSEHED

0| Z | 100.0 6.2 11.1 17.9 41.3 21.6 1.9 0.0 0.0 0.0 0.0
Hi & A Q' & | 100.0 3.0 8.4 13.7 14.6 19.0 17.0 8.1 6.7 2.9 6.5
At& /o & | 1000 28.8 31.5 13.9 13.2 8.3 1.1 0.7 1.2 0.0 1.2
(BAZED

2 A 100.0 1.5 6.9 14.3 22.3 21.0 13.8 6.4 58 2.3 5.7

Abigiypet | 100.0 34.6 36.9 14.6 6.6 4.3 1.8 0.9 0.2 0.0 0.0

KR

Mg /2a| 1000 00 33 111 108 241 209 121 60 2.1 9.5
Ab of 1000 00 16 00 465 198 96 100 63 37 24
MH/A/mOy| 1000 00 24 133 187 232 165 66 80 2.1 9.3
= 2 of o 1000 40 11.0 248 246 177 72 2.1 32 17 37
Js/w=| 1000 1.7 155 163 213 204 134 41 40 00 32
2 ol 1000 00 00 41 139 199 233 105 104 95 85
OtHAEE

1000te] O] 1000 413 587 00 00 00 00 00 00 00 00
100~2000t2d | 1000 00 00 1000 00 00 00 00 00 00 00
200~3008t | 1000 00 00 00 1000 00 00 00 00 00 00
300~4000t | 1000 00 00 00 00 1000 00 00 00 00 00
4009t ojAF | 1000 00 00 00 00 00 412 192 168 66 162

ra
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2-3 25 U35 - (1) 25 8

: %)

T = Al 25 US 25 93 9| =

2025 4 100.0 83.1 16.9 3.2
202 3 4 100.0 87.4 12.6 -
CAL Y &5
z = 37 100.0 85.6 14.4 5.2
g = 7 100.0 85.2 14.8 0.0
N = A 100.0 81.2 18.8 1.9
ZFzoa 100.0 77.7 22.3 2.6
<M )
ot 2t 100.0 92.3 7.7 3.2
of 2t 100.0 73.4 26.6 3.2
a3 8o
15~29A 100.0 68.3 31.7 26.7
30~39A 100.0 83.8 16.2 0.0
40~49A 100.0 80.8 19.2 0.0
50~59A 100.0 86.4 13.6 0.0
60A O A 100.0 84.9 15.1 0.0
65K O A 100.0 86.0 14.0 0.0
I
z = o & 100.0 85.4 14.6 7.4
il = 100.0 76.6 23.4 1.1
i & o] A 100.0 87.0 13.0 0.0
(ZOIGENES
oj ke 100.0 74.9 25.1 15.8
B © 2t Q! & 100.0 82.8 17.2 0.0
At /O & 100.0 91.2 8.8 0.0
(BAESE
e of 100.0 97.5 2.5 0.0
AR Ol HpRiBE 100.0 57.3 427 8.5
<A Y g
=Ry n ] 100.0 100.0 0.0 0.0
At =] 100.0 100.0 0.0 0.0
A H| A /THOj 100.0 97.8 2.2 0.0
=2 of o 100.0 92.1 7.9 0.0
Ns/ R 100.0 99.6 0.4 0.0
2 ol 100.0 100.0 0.0 0.0
OttasE
1008+l O]9t 100.0 92.9 7.1 0.0
100~2008+ 100.0 99.1 0.9 0.0
200~300%t! 100.0 97.4 2.6 0.0
300~4009+8] 100.0 97.8 2.2 0.0
4002+ o|At 100.0 99.4 0.6 0.0

2025 HMEtHE

F) oY 2

AR ABIZA

[olNe)
OF 19M| O|2to2 AL CHAOIA A|QE
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o=

= ow )| oA | = e A e R
2025 4 29 1000 331 6.1 27.0 6.1 208 16.2 46
20234 2.8 100.0 37.0 6.9 30.2 46.1 16.9 10.9 59
Ao
= =l | 29 100.0 32.2 57 26.5 48.0 19.7 15.4 4.3
=2 = 2 2.8 100.0 35.1 9.6 255 47.0 179 15.9 1.9
N o= 2 29 1000 332 43 289 437 231 158 7.3
B zol 3 29 1000 333 64 269 433 234 194 4.0
T
= At 29 100.0 33.3 59 27.4 42.3 24.4 19.7 4.7
o At 2.8 100.0 32.7 6.3 26.4 51.2 16.1 11.6 4.5
LR
15~29A| 29 1000 359 2.3 336 437 205 11.0 9.5
30~394 28 1000 40.9 9.8 312 34.4 246 197 4.9
40~49 K 30 1000 239 2.2 216 579 182 146 36
50~59MA 3.1 100.0 239 4.3 19.6 46.0 30.1 245 5.6
60AM o4 2.8 100.0 37.0 7.6 294 459 171 13.4 3.7
65M O A 27 1000 40.1 72 328 457 142 11.4 2.8
Cot
Z2 Z o] 3} 2.6 100.0 419 9.6 32.3 46.4 11.7 9.2 2.5
ni = 2.9 100.0 32.8 4.4 28.4 46.6 20.6 16.2 4.5
I & o 4 3.1 100.0 23.0 3.6 19.5 45.4 31.6 24.4 7.2
CZOIAERE)
0| =z 2.7 100.0 42.7 9.5 33.2 42.2 15.2 10.9 4.2
Hf @ A U S 3.0 100.0 26.7 4.2 22.4 485 24.8 19.1 57
A& /O & 2.6 100.0 44.0 8.8 35.1 42.2 13.9 121 1.8
GAALSE
E of 30 1000 27.9 38 24.0 477 24.4 193 5.1
ADI I HPREE 25 1000 49.0 131 359 412 98 6.7 31
CH oY
A2/ e 32 1000 240 39 201 390 369 251 11.9
At = 29 100.0 234 50 18.4 56.3 20.3 179 2.4
A H| A /THOf 30 1000 265 36 229 463 271 20.0 7.1
L a2 o o 29 100.0 29.4 3.1 26.3 47.7 229 19.2 3.7
s/ =8 2.8 100.0 32.2 4.6 27.6 53.5 14.4 13.7 0.7
= ol 3.2 100.0 234 3.5 19.9 40.3 36.3 29.3 7.0
OlRASE)
1008kl Ojat 23 1000  61.1 137 474 341 48 48 0.0
100~2008+) 27 1000 372 47 325 50.3 125 109 16
200~3000+] 28 1000 29.1 6.3 228 56.6 14.4 123 2.1
300~400%2 3.0 100.0 249 3.3 21.6 51.3 23.8 18.4 5.4
40038 OfA 34 1000 17.6 26 15.0 342 482 36.2 12.0
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- 130 -

2 - 4 MASA o FY H=

(THQ] @ %)

T+ = Al A ATt 0?64 Ha2 UALCE Jta e 2tz
A ACE AACE UAACE UACE

2025 4 100.0 59.9 19.7 40.2 40.1 323 7.8
202 3 4 100.0 61.9 20.6 41.3 38.1 30.2 7.9
CA 9 EH
z =2 100.0 59.2 17.8 41.3 40.8 328 8.0
2 =2 7 100.0 53.3 13.3 40.0 46.7 40.9 5.8
N =2 A 100.0 65.2 25.0 40.2 348 28.6 6.3
Zzoay 100.0 60.3 22.8 375 39.7 28.5 11.2
<A =
Lt 2t 100.0 62.1 19.8 42.4 37.9 29.4 8.5
o 2t 100.0 57.6 19.7 37.9 42.4 35.3 7.1
g 8o
15~29A 100.0 76.0 22.0 54.0 24.0 16.7 7.2
30~39A4A 100.0 54.4 23.6 30.8 456 28.2 17.3
40~49A 100.0 58.7 17.5 41.2 41.3 36.0 5.3
50~59Al 100.0 65.7 26.3 39.5 34.3 29.8 45
60M O A 100.0 56.0 16.7 39.4 44.0 35.9 8.1
65M O A 100.0 53.7 14.4 39.3 46.3 38.0 8.3
s 8
z 2 o & 100.0 51.5 1.8 39.8 485 40.4 8.1
= Z 100.0 60.6 19.6 411 39.4 30.6 8.8
tf £ o At 100.0 69.1 29.4 39.7 30.9 24.5 6.4
(ZOISENE
oj k= 100.0 62.1 16.1 46.0 37.9 26.2 1.7
Hj 9 2} 9 & 100.0 63.5 22.8 40.7 36.5 29.9 6.6
AE /o E 100.0 47.0 13.5 335 53.0 44.8 8.2
(BAHZFE
Ed o 100.0 64.8 22.9 41.9 35.2 28.9 6.2
AD QI HpBE 100.0 51.1 14.0 37.0 48.9 383 10.6
CA Y 8D
A2 /g 100.0 74.2 40.6 335 25.8 19.0 6.9
At =] 100.0 73.3 16.4 56.9 26.7 25.3 1.4
A H| A /THOj 100.0 56.4 24.1 323 436 37.1 6.5
= 2 of o 100.0 63.4 20.9 425 36.6 29.8 6.8
s/ 28 100.0 62.1 14.1 47.9 37.9 30.2 7.7
= ol 100.0 79.1 30.9 48.3 20.9 17.4 35
Tt as58>
1008+l O]9t 100.0 35.0 6.4 28.6 65.0 52.5 12.4
100~2009+ 100.0 51.6 13.7 37.9 48.4 431 5.3
200~3009+H 100.0 63.8 15.1 48.7 36.2 27.8 8.4
300~4000t 100.0 64.1 17.9 46.2 35.9 29.0 6.9
4000+ O] A} 100.0 76.5 383 38.2 23.5 21.6 1.9
2025\ HeteEE Z/dT AIBIZRAL



2 -5 FAAP UAZ: - (1) F=

cr9l : %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
20tz | gorE N

2025 4 100.0 10.7 24 83 30.7 58.6 30.4 282
20234 100.0 12.9 26 10.3 39.2 48.0 236 24.4
<2 Qe
z = g 100.0 48 1.0 3.9 30.0 65.2 326 326
2 = o 100.0 6.6 1.8 48 26.8 66.6 30.5 36.1
N =2 2 100.0 21.9 53 16.6 328 453 26.8 18.5
Zzolay 100.0 13.9 2.7 11.2 33.0 53.1 29.3 238
<H g
Lt Zt 100.0 11.9 2.8 9.0 31.1 57.1 29.8 27.3
o 2t 100.0 9.5 20 75 303 60.2 30.9 29.3
R
15~29A 100.0 16.4 45 11.9 34.3 493 285 20.8
30~39A 100.0 23.3 75 15.9 208 55.8 33.1 22.7
40~49A 100.0 12.1 19 10.2 37.0 50.9 25.2 25.6
50~59 A 100.0 11.1 2.2 8.9 31.2 57.6 288 288
60M O At 100.0 6.5 1.2 5.3 29.8 63.6 32.2 315
65AM O At 100.0 6.8 1.0 5.8 32.4 60.8 29.9 31.0
-
z = o & 100.0 6.4 0.8 5.6 34.1 59.5 29.1 30.4
Il = 100.0 10.9 37 7.3 30.8 58.2 32.9 25.4
o = o] A 100.0 15.9 32 12.7 26.2 57.8 29.4 28.4
(ZOIAENE)
i s 100.0 14.1 2.4 11.7 36.7 49.1 288 20.4
Hi 2 29 S 100.0 10.7 3.0 7.7 26.6 62.7 31.3 31.4
Ae /ol & 100.0 7.0 0.6 6.5 37.1 55.9 29.3 26.6
(BAESE
2 o 100.0 12.2 2.3 9.9 28.2 59.6 315 28.1
ADI D HpRIEE 100.0 83 26 5.7 34.8 56.9 28,5 28.4
<A Y g
Mo /e 100.0 11.4 46 6.8 25.6 63.0 343 28.7
n [=] 100.0 136 0.0 136 325 53.9 25.8 28.1
M H| A /THOj 100.0 6.8 19 4.9 236 69.6 37.4 32.2
= 2 o of 100.0 9.2 0.3 8.8 32.2 58.7 32.9 25.8
N /e m 100.0 12.3 0.4 11.9 30.9 56.8 24.4 32.4
2 ol 100.0 50.1 19.8 30.4 22.4 27.4 17.0 10.5
OtRLSE
1000+ Ojgt 100.0 7.1 1.1 6.0 37.8 55.1 29.0 26.0
100~2008+) 100.0 11.7 19 9.8 33.1 55.2 30.4 24.8
200~3008+2 100.0 2.9 0.7 2.3 28.9 68.2 33.1 35.0
300~4000+2 100.0 12.9 36 9.2 22.1 65.0 33.7 31.3
4008t oAt 100.0 13.7 47 9.0 275 58.8 29.3 29.5
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2 -5 FHEF UZE - (2) 7|MAH

£l : %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
20tz | gorE N

2025 4 100.0 9.4 2.2 7.2 334 57.2 311 26.1
20234 100.0 10.5 3.0 7.6 39.3 50.2 25.8 24.4
CAL g &5
z = g 100.0 5.9 2.2 37 28.8 65.4 34.1 31.2
2 = g 100.0 12.6 4.1 85 303 57.0 26.0 31.0
N 2 A 100.0 13.2 1.1 12.1 396 47.2 26.7 205
Zzolay 100.0 10.4 19 8.4 395 50.1 335 16.6
=
Lt at 100.0 9.5 2.1 75 345 56.0 30.1 25.8
o Zt 100.0 9.2 23 6.9 323 58.4 32.1 26.4
(A
15~29A 100.0 4.6 1.8 2.9 48.0 47.3 27.7 19.7
30~39A 100.0 1.1 2.0 9.1 338 55.0 40.1 14.9
40~49A 100.0 9.0 1.0 8.1 438 471 26.2 20.9
50~59 A 100.0 14.4 48 9.6 313 54.3 28.2 26.1
60M O At 100.0 8.4 16 6.8 28.1 63.6 326 30.9
65AM O At 100.0 8.6 1.1 75 29.8 61.6 31.9 29.7
<ot
z = o & 100.0 7.5 1.1 6.4 34.2 58.3 29.0 29.3
Il = 100.0 8.8 2.0 6.9 34.9 56.3 30.9 25.4
o = o] A 100.0 12.4 38 85 30.9 56.7 34.0 227
(ZQIAYER )
i k3 100.0 5.4 1.7 37 44.3 50.3 315 18.8
Hi © 2t 9 2 100.0 1.1 26 85 29.8 59.1 30.8 283
Ae /ol & 100.0 83 16 6.7 33.2 58.5 31.4 27.1
(BAESE
2 o 100.0 10.7 2.2 85 32.2 57.0 315 25.6
ADI D HpRIEE 100.0 7.2 2.1 5.1 35.4 57.4 30.5 27.0
(Y
Mo /e 100.0 14.8 6.1 8.7 26.8 58.3 34.1 24.2
n =] 100.0 11.3 0.0 11.3 37.7 51.0 26.5 245
M H| A /THOj 100.0 7.6 38 38 31.2 61.3 325 2838
= 2 o of 100.0 14.0 0.8 132 31.8 54.2 31.4 22.8
-] 100.0 5.7 2.0 38 30.4 63.8 32.1 31.7
2 ol 100.0 15.4 0.0 15.4 53.8 30.8 20.4 10.4
OtRLSE
1000+ Ojgt 100.0 7.3 19 55 36.9 55.8 29.7 26.1
100~2008+) 100.0 12.7 16 11.1 26.4 60.9 33.1 27.9
200~3008+2 100.0 1.3 0.0 1.3 25.9 72.8 36.8 36.0
300~4000+2 100.0 8.9 25 6.5 28.4 62.7 31.0 31.7
4008t oAt 100.0 17.6 6.8 10.8 31.9 50.5 26.5 24.0
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T2 | oA | =ws | oe | ow | =8 | o | o7 | B | as
S0rE | 2OIE BHE | orE

2025 4 100.0 6.1 2.1 4.0 32.8 57.4 30.2 27.2 3.7
20234 100.0 12.7 3.4 9.3 39.1 45.4 19.0 26.4 2.7
<2 Qe

z = 3 100.0 5.2 2.5 2.7 30.4 60.8 29.1 31.7 35
2 = g 100.0 2.3 1.0 1.3 34.0 55.6 26.4 29.2 8.1
N =2 o 100.0 1.3 3.2 8.2 37.0 49,5 286 20.8 2.2
ZF=oaxy 100.0 4.7 0.7 3.9 322 60.8 380 228 2.3
<M g

Lt p 100.0 6.2 2.4 38 332 58.0 30.6 27.4 2.6
ol Zt 100.0 6.1 1.9 4.2 325 56.6 29.7 27.0 48
<A FED

15~29A 100.0 5.8 1.8 4.0 49.1 44.1 233 20.8 1.0
30~39A 100.0 12,6 7.0 5.7 29.3 56.0 39.0 17.0 2.0
40~49 A 100.0 7.4 1.5 5.9 37.2 53.8 296 24.2 1.6
50~509 Al 100.0 10.0 3.4 6.7 29.4 58.2 296 286 2.3
60M O At 100.0 3.3 1.1 2.2 29.7 61.4 30.6 30.8 5.6
65AM O At 100.0 3.2 0.9 2.3 31.0 59.3 295 29.8 6.6
-

z = o & 100.0 2.8 0.7 2.1 34.2 56.0 27.2 288 7.0
i £ 100.0 7.1 3.9 3.1 332 58.1 31.1 27.1 1.5
o = o] A 100.0 9.4 2.1 7.3 30.7 58.3 330 253 1.6
(ZOIAEN)

O| T 100.0 4.9 1.5 3.4 47.1 46.3 27.1 19.2 1.7
Y © 2t 9 & 100.0 7.6 3.0 46 27.3 62.3 32.1 30.3 2.8
Ate /ol & 100.0 3.0 0.2 2.8 35.0 53.6 27.4 26.2 8.4
(BAHEEE>

2 of 100.0 7.0 2.2 4.8 332 58.0 30.7 27.2 1.9
ADI D HpRIEE 100.0 48 2.1 2.7 322 56.4 29.2 27.2 6.6
R

A2/ B g 100.0 9.0 1.3 7.7 26.6 63.7 40.4 233 0.7
Ab o 100.0 2.2 1.4 0.8 49.8 480 249 23.1 0.0
A H| A /Tt Of 100.0 9.0 4.0 5.0 29.8 57.2 255 316 4.0
= 2 o of 100.0 43 0.5 3.8 36.6 56.9 323 246 2.2
=] 100.0 5.3 1.3 4.0 28.1 65.2 31.2 340 1.3
2 ol 100.0 22.3 10.4 12.0 32.8 44.9 275 17.4 0.0
THHA258

1000te! Ojat 100.0 3.3 0.7 26 35.3 49.8 29.3 205 11.6
100~2008+ 100.0 2.8 0.0 2.8 31.3 64.7 337 31.0 1.2
200~3008+2 100.0 2.2 0.6 1.6 30.4 66.0 29.4 366 1.4
300~4008t2] 100.0 7.0 2.3 46 28.4 64.0 30.5 335 0.7
4008t oAt 100.0 11.9 6.7 5.2 30.2 56.5 29.8 26.7 1.5
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2 - 6. AELT UZE - (1) AUHA/OISHA
Tl 1 %)
2 o2 | oA |=ez| ooe | o9z | =5 | oz | gz | e | AT
gotz | goiz oz | o= | %8
2025 9| 1000 4.8 53 95 263 347 204 143 24.2
20234| 1000 13.8 48 9.0 235 26.3 115 148  36.4
TS
= = al 1000 5.0 0.8 42 239 427 228 198 285
=2 =l | 100.0 9.5 3.1 6.4 25.5 41.0 245 16.5 239
4 = @[ 1000 238 91 147 307 263 179 84 192
F=oamy| 1000 320 134 186 269 206 140 66 205
TR
= At 100.0 14.5 6.0 8.5 24.7 31.6 18.1 13.5 29.2
o At 100.0 15.1 4.5 10.6 279 38.0 22.8 15.2 19.0
o>
15~294 | 1000 20.3 9.2 11.1 328 367 233 134 103
30~394 | 1000 17.6 9.6 80 307 27.5 233 42 24.2
40~49A4 | 1000 16.4 5.2 11.1 254 273 13.1 142 308
50~59 4| 1000 11.9 4.4 75 26.5 215 12,0 95 401
60AM Of 4t 100.0 13.7 39 9.8 24.0 42.4 24.2 18.2 20.0
654 olA| 1000 14.0 36 104 247 434 248 186 17.9
Cote oy
Z2 Z o] 3} 100.0 14.8 3.9 10.8 23.2 45.2 26.1 19.1 16.8
o =| 1000 14.4 47 9.7 29.2 305 21.0 9.5 258
I & o 4 100.0 15.2 7.5 7.6 27.2 25.6 12.5 13.1 32.1
CZOINERE)
0| = 100.0 15.9 6.6 9.3 324 33.6 239 9.7 18.1
oz e| 1000 151 5.5 96 235 334 173 161 280
A /o= 1000 127 3.3 9.4 284 399 261 138 190
AALS
Z| o 100.0 13.1 49 8.1 25.9 30.7 17.2 13.6 30.3
AR Ol HPREE 100.0 17.6 58 11.8 26.9 41.3 25.7 15.6 14.2
CA Yy
Ao /me| 1000 124 7.2 52 268 273 163 110 335
At = 100.0 9.5 4.9 4.6 38.9 259 15.9 10.0 25.8
MHA/mof | 1000 9.4 15 79 235 332 152 179 339
L a2 o o 100.0 13.3 3.5 9.8 229 35.9 18.4 17.5 279
s/ =8 100.0 10.6 3.1 7.5 245 30.9 21.6 9.3 33.9
= ol 100.0 31.3 24.3 7.0 30.3 239 10.4 13.5 14.5
OtRASE
1000tg OgF| 1000 156 52 104 263 453 299 154 128
100~2008td | 100.0 17.8 48 130 309 295 135 16.0 217
200~3008t | 100.0 13.9 5.4 85 27.2 333 147 186 257
300~4000t8d | 100.0 6.6 3.4 3.2 251 303 218 85 380
400atel ojar | 100.0 12.3 56 6.7 245 238 89 150  39.4
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2 -6 1FsH UFZE - (2) AQJ/AEHA
cr9l : %)
et
TR | A [ 2um | o | o | =5 | @x | ozt | me | 0S
20z | g0rE oz | oarm | %S
2025 4 100.0 12.8 46 82 26.1 317 186 13.1 295
20234 100.0 11.8 4.4 7.4 23.2 24.8 11.9 12.9 40.1
CA g &
z = g 100.0 45 0.5 4.0 24.4 37.4 20.3 17.1 33.7
2 = g 100.0 6.2 1.8 4.4 21.9 37.1 224 14.7 34.7
N o2 - 100.0 24.3 7.5 16.8 30.5 22.9 15.4 75 22.2
ZF=oaxy 100.0 236 135 10.2 27.9 24.3 15.3 9.0 24.2
<H g
Lt Zt 100.0 12.3 48 7.5 24.4 29.8 16.7 13.2 33.4
ol 2t 100.0 13.2 4.4 8.9 27.9 336 206 13.0 25.3
a3 8o
15~209A4 100.0 18.2 7.9 10.3 339 35.5 23.1 12.4 12.4
30~39A4 100.0 18.7 6.9 11.8 276 285 22.2 6.2 25.2
40~49A 100.0 9.5 2.8 6.7 29.3 27.0 13.9 13.1 34.1
50~509 Al 100.0 9.7 3.1 6.6 26.9 20.3 10.9 9.4 43.1
60M O At 100.0 12.3 4.4 7.9 22.8 36.7 20.9 15.8 28.1
65AM O At 100.0 12.8 4.0 8.7 23.4 36.2 21.1 15.2 27.6
-
z = o & 100.0 13.3 3.4 9.9 223 38.3 226 15.7 26.1
Il £ 100.0 11.8 5.7 6.2 29.2 29.1 19.6 95 29.8
o = o] A 100.0 13.1 5.1 8.0 27.7 25.8 12.4 134 335
(ZQIATER )
o| s 100.0 14.1 4.7 9.4 32.1 31.3 23.1 8.2 22.4
HY S 2} Q1 2 100.0 133 5.0 8.3 238 31.1 15.6 155 31.8
Ad /o E 100.0 9.8 3.4 6.4 26.9 336 23.0 10.6 29.7
(BAESE
2 of 100.0 12.6 4.9 7.8 24.6 29.4 16.2 133 33.4
ADI D HpRIEE 100.0 13.0 4.2 8.8 286 35.3 225 128 23.1
(Y
e/ ng 100.0 6.6 3.9 2.7 25.6 29.2 17.7 115 386
At [=] 100.0 13.4 5.2 8.2 39.7 19.9 11.4 8.4 27.0
M H| A /T O} 100.0 10.3 2.9 7.5 20.3 326 15.3 17.3 36.7
= 2 o of 100.0 136 5.2 8.4 21.2 34.1 19.4 14.7 31.1
=] 100.0 12.6 2.9 9.6 23.0 283 17.0 1.3 36.1
2 ol 100.0 27.8 17.3 10.5 30.3 20.4 3.4 17.0 215
OtRLSE
1000+l Ojot 100.0 12.8 4.2 8.6 23.2 36.4 24.2 123 276
100~2008+ 100.0 14.7 6.3 8.4 314 27.8 13.7 14.1 26.1
200~3008+2 100.0 15.8 4.2 11.6 275 27.1 9.9 17.2 29.5
300~4008t2] 100.0 9.1 2.7 6.4 216 35.1 24.7 10.4 34.2
4008t oAt 100.0 9.1 3.9 5.2 23.2 25.4 9.4 16.1 42.2
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2 - 6. 4T VIE - (3) YA
=Rl - %)
22 oA |=uzs| ooe | an | =5 | wzx | on | me | M
2oz | goiz oz | oz | %S
2025 4| 1000 54 6 38 270 426 245 8.2 25.0
202 34| 1000 8.1 35 4.5 233 320 15.1 168 367
ZEEE
= = A 100.0 2.7 0.2 2.5 20.2 47.0 27.0 20.0 30.0
= = @] 1000 42 2.9 13 286 424 251 173 247
A4 = @[ 1000 8.1 2.8 53 368 345 201 144 207
F=oamy| 1000 9.5 2.5 70 293 428 236 192 184
TR
= At 100.0 4.8 1.8 3.0 25.2 40.5 234 171 29.5
o At 100.0 6.0 1.5 45 28.8 449 25.6 19.3 20.3
TELR
15~294 | 1000 43 18 26 386 471 316 156 9.9
30~394 | 1000 121 4.0 82 360 291 20.8 83 227
40~49A4 | 1000 7.8 1.0 68 265 332 189 144 325
50~59 4| 1000 6.4 2.8 36 224 305 16.7 138 407
60AM o4 100.0 3.5 0.9 2.6 24.4 50.9 27.7 23.1 21.3
654 o A| 1000 38 0.7 3.1 244 516 288 229 20.2
TELR
Z2 Z o] 3} 100.0 3.6 0.3 3.3 23.8 53.7 30.3 234 18.9
i = 100.0 5.6 2.6 3.0 30.8 383 24.6 13.7 253
I & o 4 100.0 7.5 2.4 5.1 27.0 33.0 17.0 16.0 325
o
0| = 100.0 4.2 0.5 3.7 36.0 431 30.5 12.6 16.8
oz e| 1000 5.7 2.1 36 245 408 205 203 290
Arg /o= | 1000 5.7 1.4 42 252 478 305 173 214
GHEED
2 A 100.0 4.6 1.7 3.0 25.7 38.7 20.8 179 31.0
AR Ol HPREE 100.0 6.6 1.6 5.1 29.1 492 30.6 18.6 15.1
CHY
A2 /2a| 1000 6.3 2.7 36 281 328 179 149 327
At = 100.0 3.0 0.9 2.1 379 356 19.5 16.1 23.6
MHA/mof | 1000 34 15 19 174 436 220 215 356
w2 of o 1000 2.8 14 14 255 429 204 226 287
s/ =8 100.0 3.0 0.7 2.4 21.6 39.1 256 134 36.3
= 0l 100.0 20.9 6.9 14.0 447 12.9 3.4 9.5 215
R
1008t Ojat | 100.0 6.6 0.7 59 281 490 312 178 162
100~2008td | 100.0 4.4 0.6 39 309 448 266 182 19.8
200~3000tgd | 100.0 35 1.1 24 256 440 207 233 269
300~4008t2 | 100.0 4.0 2.0 20 183 428 237 191 348
40038 ofA | 100.0 6.8 3.0 38 230 306 121 185 397

2025 HEtHE

g A=A

[LE

- 136 -



2 - 6. RELT HZE - (4) ASHY/ZHH

(T2l %)
2o oA |=es| owe | oan | =5 | @ | oz | o | OF
g0z | 20= oz | ws | 99

20254 100.0 23 0.9 1.4 2.2 0.9 0.4 0.5 94.6
20234 100.0 0.8 0.4 0.4 1.5 0.4 0.2 0.2 97.2
ZETE
=z =2 3 100.0 1.7 0.2 1.4 2.3 0.9 0.8 0.2 95.2
2 =2 3 100.0 0.9 0.0 0.9 0.0 1.2 0.3 0.9 97.9
N 2 #H 100.0 5.8 3.2 2.6 3.6 0.6 0.0 0.6 90.1
F=oamy| 1000 0.5 0.5 0.0 2.0 0.9 0.0 09 95
TR
= At 100.0 1.8 1.1 0.7 2.6 0.6 0.2 0.4 95.0
o At 100.0 2.8 0.8 2.1 1.8 1.2 0.6 0.6 94.2
LR
15~29A 100.0 7.5 1.8 5.8 6.4 0.0 0.0 0.0 86.1
30~39A4 100.0 4.5 3.5 0.9 6.0 2.8 2.1 0.7 86.7
40~49 A 100.0 4.0 2.0 2.1 4.9 0.8 0.0 0.8 90.3
50~59MA 100.0 2.0 0.5 1.4 0.0 0.5 0.0 0.5 97.5
60AM o4 100.0 0.4 0.2 0.2 0.7 0.9 0.4 0.5 98.0
65AM oOfA4 100.0 0.3 0.3 0.0 0.6 0.8 0.2 0.6 98.3
CopE g
Z2 Z o] 3} 100.0 0.5 0.2 0.2 0.3 0.5 0.2 0.4 98.6
Inl z| 1000 2.6 1.3 1.3 2.7 11 0.7 04 935
I & o 4 100.0 4.3 1.4 2.9 4.0 1.1 0.3 0.8 90.5
EAXED
0| = 100.0 4.4 0.0 4.4 4.7 1.2 0.9 0.3 89.7
ozoe| 1000 2.1 1.4 0.6 18 0.9 0.3 06 953
At /ol & 100.0 1.0 0.5 0.5 0.9 0.5 0.0 0.5 97.6
FNTED
Z| o 100.0 3.2 1.2 2.0 24 1.2 0.5 0.7 93.2
AR Ol HPREE 100.0 0.9 0.6 0.4 1.9 0.3 0.2 0.2 96.9
TR
A2/ 2| 1000 2.2 1.3 0.9 0.9 0.0 0.0 00 969
At = 100.0 6.9 0.0 6.9 5.8 35 23 1.2 83.9
M| A~/oof | 100.0 15 0.0 15 2.7 10 0.6 03 948
L a2 o o 100.0 0.6 0.6 0.0 1.4 1.5 0.3 1.2 96.5
s /w2 1000 1.8 18 0.0 0.0 1.1 0.0 1.1 97.1
= ol 100.0 18.0 10.4 7.6 10.5 0.0 0.0 0.0 71.5
Gtras
17000ted gjat | 100.0 0.0 0.0 0.0 0.0 0.9 0.4 04 991
100~2002+] 100.0 3.2 0.0 3.2 0.0 0.6 0.0 0.6 96.2
200~300%+d 100.0 4.1 0.0 4.1 24 1.0 0.0 1.0 92.5
300~4000t8d | 100.0 3.7 2.4 1.2 25 0.0 0.0 00 939
400atel ojar | 100.0 2.1 1.4 0.7 33 1.0 0.3 07 936
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2 - 7. AGYAZAZ L HRAN - (1) WY HF2|

(CH9 © %)

Q2w 2 1~5 | 5~104 [ 10~154 | 15~20E | 20~254 | 25~301E | 304
|2k aj gt aj gt aj gt aj gt aj gt ol

2025 4 100.0 7.8 7.7 6.5 49 8.0 48 60.3
20234 100.0 10.7 7.9 8.5 7.1 8.1 4.9 52.8
<2 Qe
z = g 100.0 4.0 4.0 3.7 6.5 9.4 5.9 66.4
2 = 100.0 0.6 115 6.0 35 3.7 3.1 71.6
N o2 - 100.0 15.9 10.8 7.9 48 9.9 38 47.0
Zzolay 100.0 12.6 9.7 12.0 2.1 5.7 46 53.3
<N g
Lt 2t 100.0 9.7 8.7 6.7 46 9.4 3.8 57.1
ol 2t 100.0 5.8 6.6 6.2 5.2 6.6 5.8 63.7
<A g &>
15~209A4 100.0 11.2 10.4 1.8 24.2 30.7 18.1 3.7
30~39A4l 100.0 26.7 10.6 8.2 1.3 45 4.6 44.1
40~49A 100.0 15.3 135 8.9 5.8 7.4 3.0 46.2
50~509 Al 100.0 5.8 11.0 9.1 2.7 8.2 3.2 60.0
60M O At 100.0 26 38 5.7 1.4 3.1 25 80.7
65M O At 100.0 25 33 45 1.3 1.8 1.2 85.4
-
z = o & 100.0 2.1 38 3.2 6.9 2.2 16 80.1
Il £ 100.0 5.6 9.8 8.3 36 12.8 5.3 54,7
o = o] A 100.0 17.4 10.5 8.8 3.7 10.5 8.3 40.8
(ZOIAEN)
o| s 100.0 8.2 8.4 35 14.9 21.0 11.5 32.4
HY S 2} Q1 2 100.0 9.5 88 8.4 2.8 5.5 3.0 62.0
Ad /o 100.0 2.2 37 3.8 0.9 2.3 3.1 83.9
(BAHESE
2 o 100.0 8.4 86 7.8 2.9 7.8 5.9 58.6
ADI D HpRIEE 100.0 6.9 6.2 4.4 8.1 8.4 2.9 63.2
(Y
e/ ng 100.0 14.4 12.9 6.4 1.4 11.3 6.7 47.0
At o 100.0 9.3 7.2 4.2 8.3 11.6 17.0 42.3
M H| A /T O} 100.0 3.0 12.7 9.2 1.3 8.0 3.9 61.9
= 2 of of 100.0 2.4 2.8 7.4 2.3 1.9 15 81.8
=] 100.0 2.7 7.7 9.1 25 7.1 6.7 64.3
2 ol 100.0 58.1 12.0 12.0 7.0 11.0 0.0 0.0
OtHAE5E
1000t Ojot 100.0 2.4 1.9 1.1 1.4 2.3 26 88.3
100~2000t] 100.0 6.2 5.1 7.0 1.8 5.3 4.7 69.9
200~3008+2 100.0 48 7.9 6.8 0.4 10.0 5.3 64.9
300~4008+2 100.0 9.5 12.1 6.4 4.7 4.4 0.7 62.3
4008t oAt 100.0 16.2 95 10.2 2.7 9.2 4.1 48.0
20254 et ZET AIRI2AL
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2 - 7. AGAHRIIZE L HFAA - (2) B8 AR

(9] : %)

Q2w 2 1~54 | 5~104 | 10~15E | 15~204 [ 20~25 | 25~30 | 304
ot o|gt ojgt o|gF ojgt ojgt” [ oy

2025 4 100.0 10.9 85 8.0 5.7 7.6 55 53.8
20234 100.0 11.9 8.4 8.8 7.7 7.9 4.9 50.3
<2 Qe
z = 3 100.0 8.6 47 4.9 7.0 8.4 6.6 59.8
2 = 100.0 3.2 12.4 9.5 4.9 4.9 4.4 60.6
N o2 - 100.0 17.4 125 8.9 6.4 8.4 4.2 42.1
Zzolay 100.0 14.4 9.3 13.7 1.8 6.5 5.4 49.0
<N g
Lt Zt 100.0 13.3 9.9 8.5 5.7 9.0 4.2 49.4
ol 2t 100.0 8.4 7.1 75 5.6 6.0 6.9 58.5
R
15~209A4 100.0 19.4 10.4 1.8 25.2 24.4 17.0 1.8
30~39A4l 100.0 36.6 9.8 6.1 1.3 6.6 46 35.0
40~49A 100.0 16.7 13.7 12.3 48 7.9 4.1 40.5
50~509 Al 100.0 8.7 126 11.7 26 6.6 5.9 51.9
60M O At 100.0 3.7 5.0 7.4 3.0 3.9 3.0 74.0
65M O At 100.0 3.0 4.1 6.2 2.1 2.7 1.2 80.7
-
z = o & 100.0 2.8 4.4 3.9 8.0 2.8 2.2 76.0
Il £ 100.0 8.2 10.6 11.3 36 12.3 6.4 47.7
o = o] A 100.0 24.1 11.7 9.9 48 8.8 8.8 31.9
(ZOISEIE>
o| s 100.0 17.3 9.1 46 15.5 18.4 10.8 24.3
Y © 2t 9 & 100.0 11.3 9.4 9.9 3.3 55 48 55.8
Ae /ol & 100.0 33 5.0 5.8 26 2.7 2.0 78.5
(BAHESE
2 o 100.0 12.7 9.7 9.2 4.0 7.0 6.7 50.8
ADI D HpRIEE 100.0 8.0 6.6 6.1 8.3 8.5 35 58.9
KR
e/ ng 100.0 23.0 14.9 9.3 0.7 9.7 75 35.0
At [=] 100.0 17.9 9.8 2.3 10.0 5.8 17.1 37.1
M H| A /T O} 100.0 6.6 12.7 10.3 3.2 9.5 36 54.0
= 2 of of 100.0 3.1 2.8 8.4 33 3.0 4.7 74.7
=] 100.0 7.3 9.6 11.3 25 6.4 7.0 55.9
2 ol 100.0 62.1 12.0 12.0 7.0 7.0 0.0 0.0
OtHAE5E
1000t Ojot 100.0 3.2 25 2.3 26 35 3.0 82.7
100~2008+ 100.0 11.0 86 7.5 2.2 3.9 6.5 60.4
200~3008+2 100.0 13.7 9.0 6.8 45 5.8 4.4 55.8
300~4008t2] 100.0 14.3 11.0 8.9 4.4 5.4 1.4 54.6
4008t oAt 100.0 17.8 115 13.8 3.9 7.9 4.2 41.0
2025\ Hetde /gt AR EAL



2 - 7. AGAFIIL L HFoAA - (3) 10 T HFAA(MY)

: %)

= aFA| Al
S A it Y| oe | msoln| 2w | oo -
wo|c} Ho|Ct =}

2025 4 100.0 13.6 36 9.9 12.4 74.1 39.0 35.1
20234 100.0 1.1 3.2 7.9 17.3 71.6 36.7 34.9
Ao
=z =2 3 100.0 12.6 4.9 7.7 12.2 75.2 41.6 33.7
2 =2 3 100.0 5.1 1.1 4.1 11.3 83.6 253 58.3
N =2 oA 100.0 14.7 32 11.5 15.4 69.9 455 24.4
Fzolay 100.0 21.7 3.3 18.4 9.7 68.6 35.1 336
<A D
2 At 100.0 14.8 4.3 10.5 12.7 72.5 39.0 33.5
o At 100.0 12.3 29 9.3 12.0 75.8 39.0 36.7
g g g
15~29A 100.0 52.3 7.8 445 26.6 21.2 17.1 4.0
30~39A 100.0 21.0 7.2 13.8 31.8 47.2 37.3 9.8
40~49A 100.0 13.3 6.6 6.7 21.1 65.6 42.4 23.2
50~509 Al 100.0 12.4 4.2 8.3 5.9 81.7 50.3 31.3
60AM o4 100.0 3.2 1.0 2.1 5.8 91.0 39.5 51.6
65AM oOfA4 100.0 3.1 1.1 2.0 4.2 92.8 39.1 53.7
-
Z2 Z o] 3} 100.0 7.1 2.1 5.0 5.9 87.1 34.9 52.2
i = 100.0 18.7 4.9 13.8 14.5 66.8 40.1 26.7
I & o 4 100.0 16.6 4.3 12.3 18.4 65.0 43.0 22.0
(ZQIATEN >
0| = 100.0 35.5 7.3 28.2 28.6 35.9 25.0 10.9
HY 2 2t 9 2 100.0 8.9 29 6.0 8.1 83.0 443 38.7
A" /o & 100.0 5.1 2.0 3.1 8.6 86.2 37.3 49.0
(BAEEE>
Z| o 100.0 12.4 3.7 8.7 12.7 75.0 41.6 334
AR Ol HPREE 100.0 15.5 35 12.0 11.9 72.6 34.7 37.9
R
A2 /1o g 100.0 17.4 4.2 13.2 11.9 70.7 411 29.6
At = 100.0 18.5 4.7 13.9 34.2 47.3 31.0 16.3
M H| A/ THOY 100.0 11.7 43 7.4 6.3 82.0 45.0 36.9
= 2 of o 100.0 3.7 2.0 1.6 6.9 89.5 411 48.4
N5/ 100.0 9.6 3.3 6.2 4.6 85.8 51.6 34.2
= ol 100.0 358 8.5 27.3 279 36.3 328 3.5
(A RE N
1008+l 0ot 100.0 1.3 0.7 0.6 5.6 93.1 38.8 54.4
100~2008+2 100.0 7.4 17 5.7 10.0 82.6 45.3 37.3
200~3008+2 100.0 12.3 2.2 10.1 14.4 73.3 375 35.9
300~4000+ 100.0 14.4 6.8 7.6 8.8 76.8 46.6 30.3
4008t8) oAt 100.0 9.7 2.4 7.3 11.0 79.3 41.2 38.1
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2 - 7. AGAFIIL L HFoAA - (4) 100 T HFAM(ZEZ)

: %)

= aFA| Al
S A it | we | =EeM| awe | o -
AT molct | amr

2025 4 100.0 13.6 33 10.3 11.9 74.5 40.0 345
20234 100.0 12.4 3.7 8.7 17.9 69.6 35.4 34.2
CAL 9 g5
z =2 3 100.0 12.4 37 8.7 10.8 76.8 433 335
2 =2 3 100.0 4.4 0.3 4.1 11.9 83.7 28.8 54.8
N =2 oA 100.0 15.8 46 11.2 15.5 68.8 45.0 238
= 100.0 21.2 3.1 18.2 10.1 68.6 345 34.2
<A D
2 At 100.0 14.7 3.6 11.1 12.8 72.5 39.9 32.6
of 2t 100.0 12.4 3.0 9.4 11.0 76.6 40.2 36.4
@
15~29A 100.0 53.4 9.5 43.8 25.5 21.2 18.9 2.3
30~39A 100.0 21.9 85 13.4 275 50.6 40.7 9.8
40~49A 100.0 13.7 5.0 8.7 21.1 65.2 43.8 21.5
50~509 Al 100.0 11.4 3.0 8.4 7.2 81.4 50.6 30.8
60AM o4 100.0 3.0 0.5 25 5.5 91.5 40.2 51.3
65AM oOfA4 100.0 3.0 0.7 23 4.2 92.8 39.1 53.7
-
Z2 Z o] 3} 100.0 7.4 1.8 5.5 5.1 87.6 35.1 52.5
i Z 100.0 18.1 4.0 14.1 15.0 66.8 40.7 26.1
I & o 4 100.0 16.8 4.5 12.3 17.5 65.7 45.7 20.0
(ZAIAERED
0| = 100.0 36.7 8.3 28.4 259 37.4 27.8 9.6
Y 2 29 & 100.0 8.5 2.3 6.2 8.6 82.9 44.8 38.2
A" /o & 100.0 5.1 1.3 3.9 7.8 87.1 38.3 48.8
(BAEEE>
2 A 100.0 12.0 3.2 8.8 12.7 75.3 43.0 32.3
AR Ol HPREE 100.0 16.0 3.4 12.6 10.8 73.2 35.2 38.0
<y
A2 /1o g 100.0 17.4 4.2 13.2 12.8 69.8 40.2 29.6
At = 100.0 20.2 7.3 12.9 30.2 49.6 35.9 13.7
M H| A/ THOY 100.0 11.9 29 9.0 5.9 82.2 48.1 341
L a2 o o 100.0 2.2 0.5 1.6 6.9 90.9 42.3 48.6
N5/ 100.0 8.3 1.5 6.8 7.8 84.0 50.5 33.4
= ol 100.0 39.3 11.9 27.4 279 328 29.3 3.5
(A RE N
1000t Ojgt 100.0 1.7 0.7 1.0 5.7 92.6 38.4 54.2
100~2008+2 100.0 8.0 13 6.7 9.3 82.7 45.9 36.8
200~3000tS 100.0 1.4 2.0 9.3 10.6 78.0 45.4 32,6
300~4000+ 100.0 14.4 45 10.0 8.3 77.2 46.5 30.8
4008t8) oAt 100.0 9.7 3.2 6.5 12,6 77.7 418 35.9
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2 - 8. x| SFEX

(29l : %)

22| oA | o | & | e | msonr| awo | om | oo
act | molct sl s

2025 4 100.0 31.3 6.2 25.2 433 25.3 205 48
20234 100.0 33.9 6.6 27.3 51.5 14.6 11.8 2.8
CAL 9 g5
=z =2 3 100.0 30.9 8.6 22.2 43.8 253 20.3 5.0
2 = 3 100.0 19.4 2.1 17.3 48.7 31.9 22.8 9.1
N o2 100.0 35.9 43 31.6 4.7 22.4 18.8 3.7
= 100.0 36.4 6.0 30.4 39.7 23.9 21.7 2.2
<K
=k At 100.0 32.2 6.8 254 44.3 235 18.7 4.8
o At 100.0 30.4 5.6 24.8 42.3 27.3 225 4.8
A
15~29 Al 100.0 44.4 8.9 35.4 432 12.5 12.5 0.0
30~39A 100.0 39.4 8.8 30.6 44.2 16.4 14.4 2.0
40~49A| 100.0 413 86 32.7 40.8 17.9 13.7 4.2
50~59M4A 100.0 31.6 10.4 211 40.2 28.2 25.9 2.3
60K Of A 100.0 24.2 238 21.4 450 30.8 232 7.6
65AM oOfA4 100.0 24.3 2.8 21.4 457 30.0 22.0 8.0
LR
Z2 Z o] 3} 100.0 23.3 38 19.5 46.5 30.2 225 7.7
i Z 100.0 37.5 7.3 30.3 37.8 247 211 3.6
o = o A 100.0 35.2 8.1 27.1 451 19.7 17.4 2.3
(ZQIATER )
0| = 100.0 43.1 9.4 33.7 44.3 12.6 11.2 1.4
HY 2 2t 9l 2 100.0 29.7 5.9 23.8 4.4 28.9 23.9 5.1
AHe /ol & 100.0 24.1 37 20.4 483 27.6 20.0 7.6
(BAEEE>
2 A 100.0 32.5 6.7 25.8 431 24.4 20.5 4.0
AR Ol HPREE 100.0 295 5.4 241 43.7 26.8 20.6 6.2
SRR
=T 100.0 22.4 35 18.9 47.9 29.8 24.1 5.6
At [=] 100.0 358 7.2 286 45.6 18.7 18.7 0.0
A H| A /T Of 100.0 34.3 838 25.6 42.2 23.5 17.5 5.9
L a2 o o 100.0 31.2 4.6 26.6 41.5 27.2 22.9 4.3
N/ R 100.0 36.6 8.5 28.1 36.2 27.2 23.7 36
= ol 100.0 38.8 8.5 30.3 50.8 10.3 10.3 0.0
CAEENELD
1000t Ojgt 100.0 21.1 5.1 16.0 46.5 32.3 232 9.2
100~2000t 100.0 28.2 13 26.9 47.8 24.0 21.6 2.4
200~3002+2 100.0 32,5 45 28.0 45.7 21.7 19.2 2.6
300~4000+ 100.0 36.9 5.8 31.1 426 20.6 14.9 5.7
4008t8] o| A} 100.0 26.7 75 19.3 496 23.7 19.9 3.8
2025 Hetd® AT MEZA



T = Al Lot RS OfA| HRUAZ
20254 100.0 59.5 40.5
20234 100.0 63.4 36.6
<29
2 =2 100.0 59.3 40.7
g g9 3 100.0 53.2 46.8
N 2 H 100.0 64.4 35.6
FRolay 100.0 58.8 41.2
< =1
& At 100.0 70.6 29.4
q At 100.0 47.9 52.1
g g 2o
15~29A 100.0 46.7 53.3
30~39A 100.0 82.0 18.0
40~49A 100.0 77.9 22.1
50~59A 100.0 81.4 18.6
6 0A OfA 100.0 45.8 54.2
65 A O] At 100.0 41.1 58.9
<ot
= Z o] g} 100.0 38.7 61.3
il Z 100.0 64.2 35.8
o & o A 100.0 81.3 18.7
(ZQSEHED
| z 100.0 54.8 45.2
Hi & A Q! & 100.0 67.2 32.8
A /o & 100.0 41.0 59.0
(BAEEE>
2 o 100.0 94.0 6.0
AD QI HPRBE 100.0 2.9 97.1
g g
J 8 /3 g 100.0 98.6 1.4
At = 100.0 98.0 2.0
AN H| A /THOf 100.0 95.5 4.5
= 2 o o 100.0 87.3 12.7
Ns/ R 100.0 93.7 6.3
= ol 100.0 100.0 0.0
(A RE N
10022l O]3tk 100.0 17.8 82.2
100~2000r 100.0 67.8 32.2
200~300%t! 100.0 83.3 16.7
300~4008t2] 100.0 91.2 8.8
4002+ o|At 100.0 94.5 5.5
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2 -9 YA HEE - (2) St

EROl ¢ %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
oz | 20rE oz | o

2025 4 100.0 11.1 0.5 10.6 47.0 418 30.0 11.9
20234 100.0 11.1 1.1 10.0 53.8 35.2 26.1 9.1
<2 Qe
z = g 100.0 13.8 0.4 13.4 45.7 40.5 30.7 9.7
2 = o 100.0 8.5 0.0 8.5 57.1 34.4 19.9 14,5
N =2 o 100.0 6.3 0.7 5.7 46.4 473 30.9 16.4
ZF=oaxy 100.0 135 0.7 12.8 436 42.9 345 8.4
<M g
Lt p 100.0 11.2 0.5 10.7 44.7 44.1 325 11.6
ol Zt 100.0 11.0 0.4 10.6 50.7 383 26.0 12.3
<A FED
15~29A 100.0 13.7 0.0 13.7 52.5 338 236 10.2
30~39A 100.0 3.4 0.0 3.4 54,7 41.9 31.0 10.9
40~49 A 100.0 8.8 1.2 7.5 44.8 46.5 29.3 17.1
50~509 Al 100.0 11.0 0.7 10.4 453 437 30.8 12.9
60M O At 100.0 14.0 0.3 13.7 45.4 40.7 30.9 9.7
65AM O At 100.0 12,6 0.5 12.1 46.1 41.4 32.0 9.4
-
z = o & 100.0 13.9 0.5 13.5 50.8 35.3 26.7 8.6
i £ 100.0 10.7 0.0 10.7 52.8 36.5 27.4 9.1
o = o] A 100.0 9.8 0.9 8.9 40.0 50.2 34.1 16.1
(ZQISEHEH
O| T 100.0 14.6 0.0 14.6 50.1 35.2 27.7 7.5
Y © 2t 9 & 100.0 9.0 0.5 8.5 46.3 44.7 30.9 13.7
Ate /ol & 100.0 16.9 0.9 16.0 46.2 36.8 28.3 8.5
AHBEL
2 of 100.0 10.8 0.3 10.5 47.2 42.0 30.3 1.7
ADI D HpRIEE 100.0 28.3 9.2 19.0 39.9 31.9 12.4 19.5
R
A2/ B g 100.0 7.0 0.0 7.0 28.7 64.3 39.7 246
Ab o 100.0 9.7 1.4 8.2 54,7 35.6 28.1 7.6
A H| A /Tt Of 100.0 11.9 0.0 11.9 51.6 36.5 30.1 6.4
= 2 o of 100.0 13.0 0.6 12.4 488 383 30.8 7.5
=] 100.0 14.9 0.0 14.9 45,6 39.5 26.0 135
2 ol 100.0 0.0 0.0 0.0 45,7 54.3 27.4 26.9
THHA258
1000te! Ojat 100.0 20.2 0.0 20.2 55.0 24.8 17.0 7.8
100~2008+ 100.0 17.1 13 15.8 57.0 25.9 20.7 5.2
200~3008+2 100.0 11.9 0.0 11.9 49.2 389 32.9 6.0
300~4002+2 100.0 8.9 0.0 8.9 51.1 40.1 306 9.5
4008t oAt 100.0 8.7 0.8 7.9 29.0 62.3 388 236
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2 - 9. YAZ WEE - (3) UB/HRLE

cr9l : %)

3 e A | geE | ome | gz | =5 | @E | ooz | ooe
20tz | gorE N

2025 4 100.0 186 25 16.1 453 36.1 26.5 95
20234 100.0 19.1 3.0 16.1 53.1 27.8 21.0 6.9
CAL g &5
z = g 100.0 17.6 09 16.8 49.6 32.8 238 9.0
2 = g 100.0 15.2 5.7 9.4 483 36.5 25.0 115
N =2 2 100.0 21.3 238 185 375 413 29.0 12.3
ZF=oaxy 100.0 19.9 39 16.0 43.7 36.4 31.2 5.2
<H g
Lt Zt 100.0 17.7 2.8 14.9 436 38.7 30.3 8.5
ol 2t 100.0 20.1 2.1 18.0 47.9 32.0 20.8 11.2
(A
15~209A4 100.0 21.8 0.0 21.8 51.5 26.6 16.4 10.2
30~39A4 100.0 16.2 1.7 145 51.0 32.8 26.1 6.8
40~49A 100.0 14.5 23 12.2 42.3 43.2 30.7 12,6
50~509 Al 100.0 15.3 2.4 12.9 457 39.0 28,5 10.4
60M O At 100.0 226 36 19.0 428 346 26.2 8.4
65AM O At 100.0 21.9 25 19.4 438 34.4 26.4 7.9
<ot
z = o & 100.0 22.8 45 18.3 438 33.3 25.4 7.9
Il £ 100.0 18.8 1.7 17.1 46.5 34.7 26.5 8.2
o = o] A 100.0 15.9 20 13.9 45.2 38.9 27.3 11.6
(ZQIATER )
o| s 100.0 25.2 19 233 50.5 24.3 18.1 6.2
Hi 9 2 9 & 100.0 16.1 2.4 13.7 438 40.2 29.4 10.8
Ate /ol & 100.0 22.2 37 18.4 457 32.1 24.0 8.1
(BAESE
2 of 100.0 18.3 23 15.9 456 36.2 26.9 9.3
ADI D HpRIEE 100.0 38.1 12.4 25.6 30.1 31.9 9.1 22.7
(Y
e/ ng 100.0 15.2 1.4 13.9 29.8 54.9 33.9 21.0
At [=] 100.0 16.4 1.4 15.0 54.5 29.1 24.2 4.9
M H| A /THOj 100.0 16.6 0.3 16.3 495 33.9 29.1 48
= 2 o of 100.0 23.3 59 17.3 45.4 31.3 25.9 55
N /e m 100.0 22.7 2.8 19.8 40.7 36.6 22.8 13.8
2 ol 100.0 7.0 0.0 7.0 49.8 43.2 29.4 13.9
IttasE
1000+l Ojot 100.0 375 9.0 285 46.4 16.0 8.4 7.7
100~2008+ 100.0 325 37 28.8 457 21.9 18.5 3.4
200~3008+2 100.0 27.3 6.2 21.1 47.2 25.5 21.7 3.7
300~4008t2] 100.0 12.2 0.8 11.4 53.9 33.9 286 53
4008t oAt 100.0 6.9 1.1 5.8 32.3 60.8 416 19.2
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2 - 9. gAE UEE - (4) 2EAN

(249l : %)
T+ = Al =05 < oFzt 2S k= oFzt 0 &
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2025 4 100.0 1.3 10 10.3 496 39.1 275 11.6
20234 100.0 11.3 1.3 10.0 57.4 31.3 23.4 7.9
<2 Qe
z = g 100.0 15.1 1.4 13.7 47.0 37.9 27.7 10.2
2 = g 100.0 7.3 0.5 6.8 53.5 39.2 24.1 15.1
N =2 o 100.0 7.9 0.7 7.2 49.1 431 27.0 16.0
=0l 100.0 9.7 0.7 8.9 54.0 36.4 30.2 6.1
<M g
Lt p 100.0 11.8 1.0 10.8 483 39.8 28.8 11.0
ol Zt 100.0 10.5 0.9 9.6 51.5 38.0 25.4 12,6
D
15~29A 100.0 11.3 0.0 1.3 57.6 31.1 20.9 10.2
30~39A 100.0 17.0 25 14.6 4.8 40.1 29.8 10.4
40~49 A 100.0 8.6 1.2 7.4 51.6 39.8 24.1 15.7
50~509 Al 100.0 8.6 0.7 8.0 483 431 29.3 13.8
60M O At 100.0 12.3 0.8 1.5 49.8 37.8 286 9.2
65AM O At 100.0 12.9 1.2 11.8 48.9 38.1 28.7 9.5
-
z = o & 100.0 12.7 1.2 1.5 51.5 35.8 25.2 10.6
i £ 100.0 11.4 0.0 11.4 53.7 34.9 25.5 9.4
o = o] A 100.0 10.3 16 8.7 45.1 44.6 30.6 14.1
(ZQISEHEH
O| T 100.0 17.1 16 15.5 52.9 30.0 24.1 5.9
HY S 2} Q1 2 100.0 9.2 0.7 8.5 48.2 426 29.1 13.4
Ad /o E 100.0 135 1.4 12.2 52.0 34.4 23.9 10.5
(BAHEEE>
2 of 100.0 11.0 0.8 10.2 49.6 39.4 28.0 11.4
ADI D HpRIEE 100.0 28.3 9.2 19.0 49.0 22.7 0.0 22.7
(Y
A2/ B g 100.0 8.7 0.0 8.7 34.1 57.2 34.0 232
Ab o 100.0 11.3 1.4 9.8 51.8 36.9 29.8 7.1
A H| A /Tt Of 100.0 12.8 1.7 11.0 53.2 34.1 27.6 6.4
= 2 o of 100.0 11.5 0.6 10.9 54.0 345 27.9 6.6
=] 100.0 11.3 0.0 1.3 45.2 435 27.7 15.8
2 ol 100.0 35 0.0 35 52.7 438 20.5 23.4
THHA258
1000te! Ojat 100.0 17.2 1.4 15.8 61.7 21.1 12.0 9.1
100~2008+ 100.0 12.2 13 10.9 59.2 285 235 5.1
200~3008+2 100.0 12.0 0.0 12.0 52.5 35.5 30.4 5.1
300~4008t2] 100.0 10.9 2.1 8.8 54.4 348 26.0 8.7
4008t oAt 100.0 5.7 0.8 4.9 31.8 62.6 38.0 246
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2025 4 100.0 10.2 12 8.9 495 403 30.0 10.3
202 3 4 100.0 8.8 0.9 7.9 59.0 32.2 24.5 7.7
<2 Qe

z = g 100.0 12.3 1.9 10.4 49.2 38.4 30.1 8.3
2 = o 100.0 6.6 0.0 6.6 50.6 42.8 29.3 136
N o2 - 100.0 8.8 1.1 7.7 47.3 44.0 28.7 15.3
=0l 100.0 9.5 0.7 8.8 52.9 37.6 31.9 5.7
<N

Lt Zt 100.0 10.8 16 9.2 48.3 40.9 315 9.4
ol 2t 100.0 9.3 0.7 8.6 51.4 39.3 27.6 11.7
D

15~209A4 100.0 15.4 2.4 12.9 57.3 27.3 17.1 10.2
30~39A4 100.0 8.4 25 5.9 450 46.6 36.2 10.4
40~49A 100.0 8.0 2.0 6.0 52.8 39.2 26.7 12.5
50~509 Al 100.0 7.3 0.7 6.7 47.2 45.4 33.1 12.3
60M O At 100.0 12.3 0.6 11.6 493 385 30.4 8.1
65AM O At 100.0 13.1 0.5 12,6 488 38.1 30.9 7.2
-

z = o & 100.0 136 0.5 13.1 50.8 35.6 26.5 9.1
Il £ 100.0 10.5 0.7 9.8 51.7 37.8 28.3 9.5
o = o] A 100.0 7.9 2.1 5.7 47.0 45.1 33.4 11.8
(ZOIAEN)

o| T 100.0 14.9 2.8 12.1 54.4 30.7 24.8 5.9
HY S 2} Q1 2 100.0 8.5 0.9 7.7 48.4 43.0 31.3 11.8
Ate /ol & 100.0 11.8 0.9 10.9 482 40.0 30.6 9.3
(BAHESE

2 o 100.0 9.8 1.1 8.8 49.8 40.3 30.2 10.1
ADI D HpRIEE 100.0 28.3 9.2 19.0 34.1 37.6 14.9 22.7
(Y

e/ ng 100.0 3.2 0.0 3.2 40.9 55.9 38.0 17.9
At o 100.0 7.4 1.4 6.0 55.6 36.9 31.2 5.7
M H| A /T O} 100.0 10.0 1.3 8.8 51.1 38.9 331 5.8
= 2 o of 100.0 11.2 0.6 10.7 53.7 35.1 28.2 6.9
=] 100.0 16.7 1.4 15.2 446 38.8 23.4 15.4
2 ol 100.0 35 0.0 35 52.7 438 24.0 19.9
OtHAE5E

1000+l Ojot 100.0 15.8 0.0 15.8 60.7 23.5 14.4 9.1
100~2008+ 100.0 19.0 1.3 17.7 52.5 28,5 25.1 3.4
200~3008+2 100.0 12,5 0.8 11.7 53.2 343 29.2 5.1
300~4002+2 100.0 8.4 2.1 6.3 54.8 36.8 29.0 7.8
4008t oAt 100.0 3.9 0.8 3.1 34.4 61.7 40.1 21.7
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2025 4 100.0 8.4 0.7 7.7 52.2 39.3 284 10.9
20234 100.0 8.1 0.6 75 58.4 335 26.4 7.1
CAL g &5

z = 3 100.0 9.9 0.7 9.2 50.9 39.2 28.5 10.6
2 = g 100.0 5.7 0.0 5.7 56.6 37.7 26.7 11.0
N =2 2 100.0 6.8 1.1 5.7 50.2 43.0 28.2 14.7
ZF=oaxy 100.0 9.2 0.7 8.5 55.3 35.5 29.9 5.7
<H g

Lt at 100.0 8.9 0.7 8.2 51.3 39.8 29.5 10.2
ol Zt 100.0 7.7 0.7 7.0 53.7 38.7 26.8 11.9
(A

15~29A 100.0 12.9 0.0 12.9 57.4 29.7 19.5 10.2
30~39A 100.0 6.7 0.0 6.7 55.2 38.1 28.9 9.3
40~49A 100.0 8.0 2.0 6.0 49.7 42.3 26.6 15.7
50~59 A 100.0 6.1 0.7 55 50.5 43.4 31.1 12.3
60M O At 100.0 9.6 0.6 9.0 52.2 38.2 29.5 8.7
65AM O At 100.0 10.1 0.5 9.7 51.1 38.7 30.4 8.3
<ot

z = o & 100.0 9.2 05 8.7 56.8 34.0 24.9 9.1
in} £ 100.0 9.2 0.7 86 54.0 36.8 27.2 9.6
o = o] A 100.0 7.4 09 6.5 48.0 44.6 316 13.0
(ZQIATER )

i s 100.0 15.3 0.0 15.3 58.4 26.3 19.3 6.9
Hi 9 2 9 & 100.0 6.1 0.9 53 50.1 43.8 31.3 12,5
Ate /ol & 100.0 10.5 09 9.6 54.3 35.2 27.0 8.2
(BAESE

2 of 100.0 8.1 05 75 525 39.5 288 10.7
ADI D HpRIEE 100.0 283 9.2 19.0 39.9 31.9 9.1 22.7
(Y

Mo /e 100.0 4.0 0.0 4.0 388 57.2 35.7 215
n [=] 100.0 5.7 1.4 43 63.1 31.2 24.1 7.1
M H| A /THOj 100.0 6.4 0.0 6.4 56.0 37.7 32.2 5.4
= 2 o of 100.0 9.7 0.6 9.2 54.8 35.5 28.9 6.6
N /e m 100.0 14.9 1.4 135 455 39.5 24.2 15.3
2 ol 100.0 0.0 0.0 0.0 52.7 47.3 27.4 19.9
IttasE

1000+ Ojgt 100.0 15.4 0.0 15.4 62.2 22.4 13.3 9.1
100~2008+ 100.0 14.3 1.3 13.0 63.3 22.3 19.0 3.4
200~3002+2 100.0 9.8 0.8 9.1 55.7 345 29.4 5.1
300~4008t2] 100.0 6.1 0.0 6.1 57.6 36.2 288 7.4
4008t oAt 100.0 3.2 0.8 2.4 337 63.1 40.5 225
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HADS
1 O o —
22 | A | wues | agae |TETIST S| ane | D25 | v
Aoz

2025 4 700.0 2.8 2.7 12.2 6.8 8.9 39.4 7.4
20234 100.0 28 33 15.7 18.7 14.9 325 121
TR

=z =2 3 100.0 2.1 3.0 17.1 14.5 15.5 41.0 6.7
2 =5 3 100.0 3.7 2.3 0.0 11.7 31.4 44.6 6.4
N =2 3 100.0 2.5 1.8 11.5 26.3 17.4 316 8.9
B zol2my 100.0 4.0 30 12.1 16.0 17.5 39.4 8.0
R,

= At 100.0 5.1 3.6 19.1 1.4 221 41.2 7.5
o At 100.0 1.4 2.1 8.0 25.9 17.0 38.3 7.2
TEER

15~29A 100.0 7.0 82 713 33 8.0 0.0 2.1
30~394 100.0 5.1 0.0 11.7 387 13.9 16.6 13.9
40~49A 100.0 5.0 48 26 495 10.8 27.2 0.0
50~509A| 100.0 31 76 0.0 44.0 26.6 1856 0.0
60N O A 100.0 1.4 06 0.3 11.9 217 54.2 9.9
65M O A 100.0 1.1 0.5 0.2 6.5 21.2 59.3 11.2
(ot

Z2 Z o] 3} 100.0 1.2 0.4 12.2 8.0 16.2 524 9.5
il Z 100.0 41 53 14.3 22.6 23.2 27.7 2.8
= o A 100.0 7.1 6.7 7.6 41.9 21.9 7.8 7.1
E QN>

0| =z 100.0 9.1 6.8 51.9 0.0 12.0 16.4 3.8
B © 2 Q2 100.0 0.6 16 0.4 343 22.3 35.8 4.9
R 100.0 15 1.2 0.6 0.3 18.7 63.5 14.3
GHYS D

Z| o 100.0 7.2 4.4 2.8 11.4 555 13.7 5.0
AR Ol HPREE 100.0 2.4 2.5 13.1 17.3 15.2 42.0 7.6
TR

HE /e 100.0 0.0 0.0 0.0 00 1000 0.0 0.0
At = 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0
M H| A /Oy 100.0 0.0 10.3 10.3 17.8 36.6 8.5 16.5
L 2 o ¢ 100.0 0.0 0.0 1.8 15.7 58.8 19.9 3.9
s/ =8 100.0 10.4 15.3 0.0 0.0 63.4 10.9 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EPETT

10008l Ojat 100.0 1.8 16 0.7 1.1 16.6 67.1 11.1
100~2008+] 100.0 7.1 26 0.0 15 314 443 131
200~3008+] 100.0 37 8.4 0.0 33 511 335 0.0
300~4000+ 100.0 0.0 0.0 0.0 19.8 28.0 458 6.5
4008t] OfAf 100.0 0.0 0.0 0.0 138 4.4 217 23.1
2025 Hetdz: B/da ABIRA
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T+ = Al =05 0 & oF7t 23 k= oFzt 0 &
20tz | gorE N

2025 4 100.0 16.2 0.0 16.2 40.7 432 353 7.9
20234 100.0 11.3 0.0 1.3 60.6 28.0 23.7 43
<2 Qe
z = g 100.0 26.7 0.0 26.7 49.8 235 23.5 0.0
2 = o 100.0 0.0 0.0 0.0 63.2 36.8 18.4 18.4
N =2 o 100.0 17.0 0.0 17.0 21.3 61.6 48.4 13.2
=0l 100.0 0.0 0.0 0.0 81.1 18.9 18.9 0.0
<M g
Lt p 100.0 7.1 0.0 7.1 43.2 49.8 415 8.2
ol Zt 100.0 58.2 0.0 58.2 29.2 12,6 6.3 6.3
D
15~29A 100.0 100.0 0.0 100.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.0 0.0 0.0 43.3 56.7 37.8 18.9
40~49 A 100.0 13.3 0.0 13.3 59.8 27.0 27.0 0.0
50~509 Al 100.0 24.7 0.0 24.7 30.6 44.7 44.7 0.0
60M O At 100.0 0.0 0.0 0.0 30.6 69.4 50.7 18.7
65AM O At 100.0 0.0 0.0 0.0 45.1 54.9 27.5 27.5
-
z = o & 100.0 0.0 0.0 0.0 25.0 75.0 59.8 15.2
inl = 100.0 0.0 0.0 0.0 65.2 348 348 0.0
o = o] A 100.0 26.0 0.0 26.0 30.5 435 326 10.9
(ZQISEHEH
O| T 100.0 78.9 0.0 78.9 21.1 0.0 0.0 0.0
HY S 2} Q1 2 100.0 7.1 0.0 7.1 43.2 49.8 415 8.2
Ate /ol & 100.0 41.4 0.0 41.4 35.8 22.8 11.4 11.4
AHBEL
2 of 100.0 17.0 0.0 17.0 40.7 423 34.0 8.3
ADI D HpRIEE 100.0 0.0 0.0 0.0 39.5 60.5 60.5 0.0
(Y
A2/ B g 100.0 375 0.0 375 31.2 31.3 0.0 31.3
Ab o 100.0 54.4 0.0 54.4 45,6 0.0 0.0 0.0
A H| A /Tt Of 100.0 15.5 0.0 15.5 54.4 30.1 30.1 0.0
= 2 of o 100.0 0.0 0.0 0.0 0.0 100.0 87.5 12,5
s/ 2 100.0 0.0 0.0 0.0 84.7 15.3 15.3 0.0
2 ol 100.0 8.3 0.0 8.3 22.9 68.8 57.4 11.4
THHA258
1000te! Ojat 100.0 0.0 0.0 0.0 0.0 100.0 100.0 0.0
100~2000t 100.0 0.0 0.0 0.0 44.6 55.4 55.4 0.0
200~3008+2 100.0 72.5 0.0 72,5 19.7 7.8 0.0 7.8
300~4002+2 100.0 0.0 0.0 0.0 4.9 58.1 34.7 23.4
4008t oAt 100.0 12.7 0.0 12.7 48.2 39.1 39.1 0.0
2025\ HeteEE Z/dT AIBIZRAL
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2025 4 100.0 23.9 45 19.4 35.0 411 288 12.3
20234 100.0 13.3 1.1 12.3 60.0 26.6 20.8 5.9
Ao
z = 100.0 29.2 8.9 20.2 35.2 35.6 26.7 8.8
2 =2 3 100.0 0.0 0.0 0.0 43.2 56.8 10.4 46.4
N 2 #H 100.0 23.0 0.0 23.0 33.8 43.3 31.3 11.9
Fzolay 100.0 12.6 0.0 12.6 34.0 53.4 38.4 15.0
<A D
Lt 2t 100.0 22.4 5.3 17.0 37.2 40.4 28.3 12.1
o At 100.0 32.6 0.0 32.6 22.6 44.8 31.3 13.4
g g g
15~29A 100.0 0.0 0.0 0.0 0.0 100.0 100.0 0.0
30~39A4 100.0 25.2 0.0 25.2 28.7 46.1 24.8 21.2
40~49A 100.0 35.6 10.1 25.5 33.7 30.7 20.2 10.5
50~509 Al 100.0 4.3 0.0 4.3 48.4 47.2 37.2 10.1
60A O A 100.0 26.1 0.0 26.1 26.3 47.6 38.7 8.9
65AM oOfA4 100.0 0.0 0.0 0.0 21.4 78.6 57.0 21.6
CstE g
Z2 Z o] 3} 100.0 28.0 0.0 28.0 37.3 34.7 252 9.5
i = 100.0 19.3 4.1 15.2 45.4 35.3 243 11.0
I & o 4 100.0 26.5 5.2 21.3 28.2 45.3 31.9 13.4
(ZQIATEN >
0| = 100.0 0.0 0.0 0.0 14.8 85.2 85.2 0.0
Y 2 29 & 100.0 25.9 5.3 20.6 37.0 37.1 26.4 10.8
A" /o & 100.0 18.8 0.0 18.8 28.0 53.2 20.7 325
(BAEEE>
Z| o 100.0 24.4 4.7 19.6 36.2 39.4 26.5 12.9
AR Ol HPREE 100.0 15.6 0.0 15.6 10.2 74.2 74.2 0.0
R
2/ 2a 100.0 0.0 0.0 0.0 58.1 419 13.9 27.9
At = 100.0 15.0 0.0 15.0 38.7 46.2 46.2 0.0
MH| A /THOY 100.0 40.1 14.7 254 27.4 325 21.8 10.6
L a2 o o 100.0 13.1 0.0 13.1 37.1 49.8 33.9 15.9
s/ =8 100.0 10.4 0.0 10.4 36.5 53.1 328 20.4
= ol 100.0 34.4 0.0 34.4 29.2 36.4 291 7.2
(A RE N
1008+l 0ot 100.0 0.0 0.0 0.0 28.3 71.7 71.7 0.0
100~2008+2 100.0 0.0 0.0 0.0 43.0 57.0 57.0 0.0
200~3008+2 100.0 16.3 0.0 16.3 29.3 54.3 49.9 45
300~4000+ 100.0 19.0 6.3 12.6 49.3 31.7 18.9 12.9
4008t8) oAt 100.0 315 5.4 26.1 29.2 39.3 23.7 15.7
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Lo

2025 4 700.0 36.4 44 31.9 396 241 226 15
20234 100.0 30.5 23 282 52.7 16.7 16.7 0.0
EEEE
=z =2 3 100.0 34.0 8.7 25.3 41.3 24.8 21.9 2.9
2 =2 3 100.0 36.6 0.0 36.6 23.3 40.1 40.1 0.0
N =2 3 100.0 306 0.0 30.6 48.7 20.7 20.7 0.0
ZFzo Yy 100.0 65.7 0.0 65.7 9.0 25.3 25.3 0.0
< /g &)
2 At 100.0 34.9 5.3 29.6 38.4 26.8 25.0 1.8
o At 100.0 44.5 0.0 44.5 46.0 9.5 9.5 0.0
Co oy
15~29 M 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
30~39A 100.0 286 0.0 28.6 35.7 35.7 35.7 0.0
40~49 A 100.0 43.9 9.7 341 36.2 20.0 16.7 3.2
50~59 A 100.0 36.2 0.0 36.2 37.3 26.5 26.5 0.0
60AM o4 100.0 24.5 0.0 24.5 54.7 20.8 20.8 0.0
65AM oOfA4 100.0 15.0 0.0 15.0 32.2 52.8 52.8 0.0
CohE g
Z2 Z o] 3} 100.0 20.9 0.0 20.9 55.8 23.3 23.3 0.0
i = 100.0 30.1 4.0 26.1 51.0 18.9 14.8 4.0
I & o 4 100.0 42.3 5.2 37.1 30.1 27.6 27.6 0.0
ZoAE)
0| = 100.0 0.0 0.0 0.0 77.0 23.0 23.0 0.0
Hf @ A U S 100.0 39.0 5.3 33.7 37.0 24.0 22.2 1.8
At /ol & 100.0 37.8 0.0 37.8 36.5 25.6 25.6 0.0
LS
! of 100.0 36.5 48 317 410 226 21.0 16
ADI O HpRBE 100.0 349 0.0 34.9 20.7 44.4 44.4 0.0
EEEER
He /R a 100.0 11.8 0.0 11.8 51.4 36.7 36.7 0.0
At = 100.0 15.0 0.0 15.0 85.0 0.0 0.0 0.0
M H|A /T 100.0 55.0 14.7 40.3 23.0 22.0 22.0 0.0
L a2 o o 100.0 24.0 0.0 24.0 65.1 10.9 10.9 0.0
s/ =8 100.0 22.6 0.0 22.6 411 36.3 239 12.4
= ol 100.0 41.8 0.0 41.8 36.4 21.8 21.8 0.0
REZST
100ate! ojat 100.0 60.5 0.0 60.5 0.0 395 395 0.0
100~200at8) 100.0 25.5 0.0 255 453 29.2 29.2 0.0
200~3001t8 100.0 24.4 0.0 24.4 52.1 235 235 0.0
300~4000+] 100.0 331 6.5 26.5 53.8 131 13.1 0.0
4009 O| A} 100.0 41.0 5.4 35.7 315 27.4 24.7 2.7
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(29l : %)
SO T - B e L L (T I U
ot | mojct Holer ) ==
2025 4 700.0 173 78 15.4 39.1 793 178 15 243
20234 100.0 16.7 3.0 13.7 50.2 125 106 2.0 206
EEEE
= = A 100.0 13.3 2.0 11.2 43.0 20.2 18.4 1.8 235
2 = 3 100.0 4.6 0.0 4.6 53.4 14.4 13.2 1.1 27.6
H =2 @H| 1000 285 34 251 248 177 175 02 290
2zolay| 1000 228 0.7 221 367 233 205 28 173
< =
=k At 100.0 19.1 2.4 16.6 389 20.3 18.5 1.8 21.7
o At 100.0 15.4 1.1 14.2 39.4 18.2 17.0 1.2 27.0
EEER
15~29 M 100.0 111 5.1 6.0 49.4 26.7 26.7 0.0 12.8
30~394 100.0 21.9 0.7 212 43.4 19.2 1738 1.4 155
40~49K 100.0 286 5.4 232 36.1 20.0 19.0 1.0 15.4
50~509Al 100.0 20.9 26 183 410 21.0 19.4 16 171
60AM o4 100.0 12.8 0.5 12.3 37.5 17.8 16.0 1.8 31.9
65AM oOfA4 100.0 11.6 0.4 11.2 355 16.8 15.0 1.9 36.1
SRR
Z2 Z o] 3} 100.0 11.6 0.2 11.4 34.0 16.2 14.4 1.8 38.2
i Z 100.0 16.8 2.8 14.0 46.3 17.3 16.5 0.8 19.7
o = o A 1000 246 28 218 387 250 232 18 116
B OIAE >
0] s| 1000 164 13 150 484 187 182 06 165
Hf @ A U S 100.0 19.3 2.0 17.3 37.6 21.0 19.3 1.8 221
A& /Ol & 100.0 11.7 1.7 10.0 37.7 14.3 13.0 1.4 36.3
GBS
2 A 100.0 19.2 23 16.9 38.6 20.9 19.0 20 21.3
AR Ol HPREE 100.0 13.7 0.9 12.8 40.2 16.2 15.6 0.6 29.9
EEEE
A2 /1o g 100.0 21.2 1.3 19.9 41.8 30.4 27.0 3.3 6.7
At = 100.0 17.3 2.7 14.6 43.4 19.7 19.7 0.0 19.5
Mu|A/mop | 1000 194 3.1 163 390 203 174 30 212
L a2 o o 100.0 18.3 0.7 17.5 31.8 21.6 19.6 2.0 28.4
s/ =8 100.0 12.2 0.0 12.2 40.0 19.5 17.7 1.8 28.3
= 0l 100.0 47.7 16.1 31.6 389 10.8 10.8 0.0 2.6
REZE]
1008k Ojat | 100.0 9.0 0.3 87 393 139 129 10 378
100~2008+] 100.0 17.2 1.7 15.5 346 15.7 13.0 2.7 326
200~3008+] 100.0 132 35 9.7 44.3 227 208 18 19.9
300~4000+ 100.0 20.8 2.8 18.1 39.9 21.0 203 0.7 183
400atgl o | 1000 256 27 229 322 226 188 38 196
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2 - 11. 971ZF UZT - (1) 2S97IAH

(9] : %)
T = Al == i< ozt 2E = oFzt 0%
20tz | gorE N

2025 4 100.0 235 48 18.7 545 21.9 17.4 46
20234 100.0 28,5 9.4 19.1 54.3 17.2 12,6 4.6
CA g &
z = g 100.0 16.6 1.8 14.8 56.6 26.8 20.0 6.8
2 = g 100.0 11.8 35 8.4 63.4 24.7 20.6 4.1
N o2 - 100.0 38.1 8.7 29.4 488 13.1 11.8 1.3
ZF=oaxy 100.0 31.2 8.2 23.0 49.6 19.2 15.4 38
<H g
Lt Zt 100.0 23.0 5.0 18.0 52.8 24.1 19.8 4.4
ol 2t 100.0 24.0 46 19.5 56.4 19.6 14.9 48
a3 8o
15~209A4 100.0 15.0 1.8 13.3 67.1 17.9 14.5 3.4
30~39A4 100.0 38.7 12.9 25.8 45.4 15.9 13.0 2.9
40~49A 100.0 32.0 5.1 26.9 433 24.6 17.5 7.2
50~509 Al 100.0 20.9 36 17.3 54.8 24.4 22.8 15
60M O At 100.0 21.9 45 17.4 55.7 22.4 16.8 5.7
65AM O At 100.0 21.3 5.1 16.1 57.0 21.8 15.8 6.0
-
z = o & 100.0 24.1 5.9 18.2 55.7 20.2 14.8 5.4
Il £ 100.0 18.2 33 14.9 63.6 18.2 14.6 36
o = o] A 100.0 28.3 49 23.4 43.7 28.1 236 4.4
(ZQIATER )
o| s 100.0 28.1 48 233 56.8 15.1 12.8 2.3
HY S 2} Q1 2 100.0 22.8 43 185 51.6 25.6 20.8 48
Ate /ol & 100.0 20.9 6.1 14.8 61.2 17.9 11.8 6.1
(BAESE
2 of 100.0 24.6 4.4 20.1 50.5 24.9 20.5 4.4
ADI D HpRIEE 100.0 21.8 5.4 16.4 61.1 17.1 12.2 4.9
R
e/ ng 100.0 18.5 0.9 17.6 433 38.2 28.2 10.0
At [=] 100.0 286 1.4 27.2 45.1 26.2 245 1.7
M H| A /T O} 100.0 21.2 47 16.6 54.8 24.0 22.2 1.8
= 2 o of 100.0 31.0 6.3 24.6 49.1 20.0 14.6 5.4
=] 100.0 16.3 1.4 14.9 60.0 23.7 18.5 5.1
2 ol 100.0 42.3 233 19.0 34.3 23.4 19.9 35
OtHAE5E
1000+l Ojot 100.0 20.8 5.7 15.1 64.3 14.9 10.3 46
100~2008+ 100.0 326 6.1 26.5 45.4 21.9 17.3 4.6
200~3008+2 100.0 215 43 17.2 53.4 25.1 22.0 3.1
300~4008t2] 100.0 21.7 8.7 13.0 55.6 22.7 215 1.2
4008t oAt 100.0 21.9 4.7 17.2 458 32.2 23.3 8.9
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2 - 11, O7IYE VZE - (2) MM oJIYS

£r9) © %)

T+ = A == {2 ) 23 o= ) {2
20tz | gorE N

2025 4 100.0 22.2 50 17.3 57.6 20.1 15.8 43
20234 100.0 28.2 86 19.6 54.8 17.0 12.9 4.1
CA 9 EH
z = g 100.0 17.9 2.2 15.7 58.3 23.9 17.4 6.4
2 = g 100.0 11.5 40 7.5 64.1 24.4 20.3 4.1
N =2 o 100.0 334 86 24.7 55.7 11.0 10.2 0.8
ZF=oaxy 100.0 27.3 7.8 19.5 53.1 19.5 15.8 38
CHoE
Lt p 100.0 21.7 49 16.8 57.0 21.3 17.2 4.1
ol Zt 100.0 22.8 5.0 17.8 58.3 18.9 14.4 4.4
(A
15~29A 100.0 18.4 4.7 13.7 67.4 14.2 10.8 3.4
30~39A 100.0 29.3 12.9 16.4 53.2 17.4 14.5 2.9
40~49 A 100.0 25.1 5.0 20.2 49.9 25.0 19.4 5.6
50~509 Al 100.0 21.9 36 18.3 55.7 22.5 20.3 2.1
60M O At 100.0 21.4 4.1 17.2 58.6 20.0 14.7 5.3
65AM O At 100.0 21.1 48 16.3 59.7 19.1 13.6 5.6
-
z = o & 100.0 23.5 5.1 18.3 58.9 17.7 12.3 5.4
Il £ 100.0 19.3 4.4 14.9 62.7 18.0 14.6 3.4
o = o] A 100.0 238 5.3 18.5 50.8 25.5 218 3.7
(ZQIATER )
O| T 100.0 24.7 6.0 18.7 60.5 14.8 12.4 2.3
HY S 2} Q1 2 100.0 21.7 4.4 17.3 54.8 23.5 19.0 45
Ate /ol & 100.0 21.4 56 15.8 63.3 15.3 9.6 5.7
(BAHZFE
2 of 100.0 21.9 4.1 17.8 55.4 22.6 18.6 4.1
ADI D HpRIEE 100.0 22.7 6.3 16.4 61.2 16.0 11.4 4.7
R
A2/ B g 100.0 15.8 0.9 14.9 47.3 36.9 30.0 6.9
Ab o 100.0 22.4 1.4 21.0 54.3 23.3 21.6 1.7
A H| A /Tt Of 100.0 20.6 4.4 16.2 57.3 22.2 18.9 3.3
= 2 o of 100.0 27.2 5.1 22.0 52.0 20.8 15.6 5.2
=] 100.0 19.3 2.8 16.5 62.9 17.8 12.7 5.1
2 ol 100.0 31.8 19.8 12.0 55.3 13.0 13.0 0.0
Tt as58>
1000te! Ojat 100.0 20.3 5.4 14.9 65.8 13.9 96 43
100~2008+ 100.0 33.1 4.4 28.7 50.1 16.8 12.2 46
200~3008+2 100.0 17.7 43 13.4 59.7 22.6 18.9 3.7
300~4008t2] 100.0 24.2 8.7 15.6 56.3 19.4 17.6 1.9
4008t oAt 100.0 16.9 39 13.0 55.3 27.7 19.7 8.0
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2 - 12, ANZHAHEO] OfSt TR - (1) H
(@9 : %)
& =H
S N EE ST B B T B PRSP P
att | ot
2025 4 700.0 58.3 79.3 39.0 1.7 333 83
20234 100.0 615 19.8 417 385 30.7 7.8
EEEE
= = A 100.0 547 18.5 36.2 45.3 34.8 10.5
2 o o 100.0 716 32.2 39.4 28.4 217 6.7
N = 100.0 59.8 16.4 43.4 40.2 348 5.4
2 zo0 a3 100.0 54,3 143 40.0 45.7 37.3 8.4
TR
=k At 100.0 55.6 17.5 38.0 44.4 35.1 9.3
of 2t 100.0 61.2 211 40.1 388 31.4 7.4
Cow e
15~2094 100.0 42.3 5.1 37.2 57.7 455 12.2
30~394 100.0 46.8 16.2 306 53.2 40.5 12.7
40~49A 100.0 39.1 5.3 338 60.9 52.0 8.9
50~59MA 100.0 49.3 13.1 36.2 50.7 37.1 13.6
60A O A 100.0 72.5 29.1 43.4 275 23.0 45
65AM oOfA4 100.0 76.4 33.2 43.3 23.6 20.2 3.3
Cote s
= = of 3 100.0 72.4 306 418 27.6 22.1 5.5
i = 100.0 53.8 16.0 37.7 46.2 36.4 9.8
= o A 100.0 45.1 8.2 36.9 54.9 44.4 105
RITES
0| = 100.0 49.0 11.6 374 51.0 37.9 13.1
Hf @ A U S 100.0 56.0 16.3 39.7 44.0 35.3 8.7
AbE /o= 100.0 75.1 36.3 388 24.9 22.4 25
FAEE
3 of 100.0 485 9.6 38.8 515 41.4 10.2
AR Ol HPREE 100.0 74.5 35.1 39.4 25,5 20.1 5.3
TR
A2/ 100.0 46.1 7.9 38.1 53.9 40.9 13.0
At = 100.0 43.8 4.4 39.4 56.2 48.6 7.6
A H| A /T of 100.0 410 5.3 35.7 59.0 483 10.7
= 2 o ¢ 100.0 62.8 17.1 457 37.2 29.6 7.6
s/ =8 100.0 50.2 10.9 39.3 49.8 349 15.0
= ol 100.0 30.5 2.5 28.0 69.5 66.1 3.5
R PET
1008kl Ojat 100.0 86.8 476 39.2 13.2 1.8 15
100~2008+) 100.0 66.4 20.9 45.5 336 245 9.0
200~3008H 100.0 52.6 135 39.0 47.4 39.0 8.4
300~4008t 100.0 438 8.0 358 56.2 45.1 11.1
4000+S) O] A} 100.0 46.3 6.9 394 53.7 4.4 12.3
2025 Hetdz: B/da ABIRA
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2 - 12. MZHALGOl TS MZE - (2) FU(ZFY TY)
: %)

2 8 YAl T ME 17 Za| 2% airt -
2025 4 100.0 66.3 22.1 442 33.7 27.7 6.0
20234 100.0 67.1 22.0 451 32.9 26.3 6.6
CAL 9 g5
= = A 100.0 64.5 23.6 40.9 355 28.1 7.5
2 = 3 100.0 77.5 32.9 44.6 22.5 15.7 6.8
N o2 A 100.0 67.5 18.5 49.0 32.5 30.3 2.3
Fzolay 100.0 59.6 14.0 45.6 40.4 337 6.8
<A D
2 At 100.0 65.6 20.4 45.2 34.4 28.0 6.4
o At 100.0 67.0 23.8 43.2 33.0 27.4 5.6
@
15~29A 100.0 51.9 6.3 456 48.1 40.3 7.8
30~39A 100.0 67.1 228 44.3 32.9 24.4 8.5
40~49A 100.0 485 6.0 425 51.5 43.8 7.7
50~509 Al 100.0 61.6 17.1 44,5 38.4 29.8 8.6
60AM o4 100.0 75.7 31.7 441 24.3 20.5 3.7
65A O A 100.0 77.4 35.4 42.0 22.6 19.8 2.8
-
Z2 Z o] 3} 100.0 76.1 33.7 42.4 239 19.7 4.2
i Z 100.0 62.8 18.5 44.3 37.2 30.6 6.6
I & o 4 100.0 57.3 10.9 46.4 42.7 35.0 7.7
(ZAIAERED
0| = 100.0 62.1 13.1 49.0 37.9 29.7 8.2
HY 2 2t 9 2 100.0 64.0 19.7 44.3 36.0 29.4 6.6
At /ol & 100.0 77.5 38.6 38.9 22.5 20.6 1.9
(BAEEE>
Z| o 100.0 59.6 13.4 46.2 40.4 33.4 7.0
AP QI HpBE 100.0 77.2 36.3 40.8 22.8 18.5 4.3
R
A2 /1o g 100.0 62.0 13.4 48.6 38.0 33.9 4.1
At = 100.0 51.1 5.3 45.8 48.9 41.6 7.3
M H| A/ THOY 100.0 52.1 10.2 419 47.9 39.6 8.3
L a2 o o 100.0 68.8 17.5 51.3 31.2 247 6.5
s/ =8 100.0 64.7 18.4 46.3 35.3 26.9 8.4
= ol 100.0 53.7 13.0 40.8 46.3 43.8 2.5
(A RE N
1009+ Ojot 100.0 87.4 48.6 388 12.6 11.4 1.1
100~2000+2] 100.0 70.9 25.5 45.4 29.1 23.1 6.0
200~3008+2 100.0 59.5 14.6 44.8 40.5 33.3 7.2
300~4000+ 100.0 57.8 9.9 47.9 42.2 35.5 6.7
4008t8) oAt 100.0 57.9 10.1 47.7 42.1 32.9 9.2
20254 Hette AL Z AL






3 REEA

O







(T2l = %)
§R0! S [P oy NPT - R
g B |oazar[FOFEAl w3 SuS| ESAE| T4 7 |SM4EH
7 i A | 2oy (qazg| A= | 2R A2 | MR LA 29171 1B
2| Bt S s =Y | 23 |eETE 51 | 28
- 2/sst A|@

20254 100.0 23.1 15.9 11.9 10.9 12.3 8.4 10.8 6.3 0.5
202 34 100.0 29.2 22.0 11.6 7.4 10.1 6.5 7.7 4.7 0.8
<AL g EH
= = 3 100.0 239 14.9 11.8 9.7 11.4 7.1 12.4 7.9 1.0
2 = 3 100.0 21.8 14.4 13.4 11.4 13.0 10.5 10.4 5.0 0.0
4 = @| 1000 221 174 104 119 136 100 94 50 03
mzoam| 1000 239 176 129 118 120 73 91 52 01
Koy
= At 100.0 23.0 16.2 11.8 11.1 11.8 8.1 11.1 6.2 0.8
o At 100.0 23.3 15.6 12.0 10.7 12.8 8.6 10.5 6.3 0.2
g g g
15~294| 1000 172 14 147 167 116 69 153 45 1.9
30~394| 1000 263 145 141 98  11.1 25 153 45 1.9
40~49 K| 1000 296 149 124 89 91 142 9.1 18 0.0
50~594 | 1000 196 169 120 107 139 69 114 85 0.0
60AM o4 100.0 239 17.1 10.6 10.2 12.8 8.9 9.0 7.2 0.2
65AM O A4 100.0 24.3 17.5 10.6 9.0 12.5 9.2 8.7 7.8 0.3
<o EEH
Z2 Z o] 3} 100.0 245 17.2 10.3 8.6 12.5 9.3 9.5 7.7 0.3
i Z 100.0 22.4 16.1 12.7 12.0 12.2 8.8 10.4 4.8 0.5
I & o 4 100.0 22.2 14.2 12.9 12.5 12.0 6.8 12.7 6.0 0.8
(ZASENES
0| =z 100.0 18.3 13.3 13.7 13.5 13.0 6.0 15.9 5.2 1.1
oo e| 1000 244 161 113 107 126 90 96 59 03
At /o = | 1000 242 180 119 85 105 88 92 86 03
(BAZED
Z| o 100.0 22.2 16.7 11.7 11.0 12.9 7.8 11.4 6.1 0.4
AR Ol HPREE 100.0 24.8 14.5 12.3 10.7 11.2 9.4 9.8 6.6 0.7
N I - I
Ao pe| 1000 239 136 114 104 116 100 124 59 08
At = 100.0 17.6 15.7 15.3 13.9 16.2 4.1 15.2 2.1 0.0
MHA/THOf | 1000 195 152 138 114 131 82 115 66 07
L 2 o ¢ 100.0 23.1 22.3 10.7 8.0 13.1 7.7 8.9 6.3 0.0
s/ =8 100.0 24.2 15.6 6.6 11.4 12.2 9.6 12.3 8.2 0.0
= 0l 100.0 34.6 16.6 12.8 11.2 9.8 5.8 1.9 5.5 1.9
LSS
1000t mjat| 1000 285 168 108 91 113 88 72 73 04
100~2008tgl | 1000 243 175 9.9 95 107 123 6.6 83 1.0
200~3000tg | 1000 184 233 132 79 133 67 131 4.1 0.0
300~4008t2 | 1000 232 174 135 131 126 6.0 9.2 43 0.7
4000te] of4f | 1000 244 139 107 114 122 75 98 95 07
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3- 1. HEA S HZS AT HY - (2) oMM AY £
(Tl 5, %)
TooE S L ow | w2 | 3w | am | sy | ew | O3
27

2025 4 2.2 1000 70 164 490 271 46 76 0.1 0.1
20234 2.1 100.0 2.1 221 49.9 21.0 29 1.3 0.5 0.2
EELE

= = A 2.2 100.0 1.4 16.8 50.1 25.7 4.6 1.0 0.2 0.2
2 = 3 25 100.0 0.3 13.0 44.2 31.3 6.1 438 0.3 0.0
AN 52 H 2.1 100.0 1.1 21.0 49.3 25.1 2.7 0.9 0.0 0.0
B zo 2y 23 1000 07 120 499 297 56 16 00 04
(N e

=1 At 2.2 100.0 0.9 16.8 52.6 24.2 3.9 1.4 0.1 0.0
o At 2.3 100.0 1.1 16.0 45.3 30.1 5.2 1.9 0.1 0.3
LR

15~29 XA 1.6 100.0 4.0 38.0 50.5 7.5 0.0 0.0 0.0 0.0
30~39A 1.8  100.0 0.0 32.8 58.2 6.8 2.1 0.0 0.0 0.0
40~49A 20 1000 10 175 613 203 0.0 0.0 0.0 0.0
50~59 A 2.2 100.0 1.6 12.6 54.1 26.7 5.0 0.0 0.0 0.0
60AM o4 25 100.0 0.3 9.3 421 37.4 7.1 3.4 0.2 0.3
65N O At 2.7 100.0 0.3 6.6 39.1 40.8 8.2 4.2 0.3 0.4
SEEE

= z o 3 25 1000 04 130 390 358 75 36 0.3 0.4
ni = 2.1 100.0 1.6 19.3 51.7 24.3 29 0.2 0.0 0.0
I & o 4 2.1 100.0 1.2 17.8 59.1 18.8 25 0.6 0.0 0.0
E QN>

0| =z 1.6 100.0 3.8 38.4 49.6 7.9 0.0 0.2 0.0 0.0
2 29 S 23 100.0 04 110 525 295 5.0 1.4 0.2 0.0
At /ol & 26 100.0 0.0 10.2 379 39.4 7.8 3.9 0.0 0.7
BREED

Z| o 2.2 100.0 0.7 15.0 52.9 26.3 4.3 0.8 0.1 0.0
AR Ol HPREE 2.3 100.0 1.6 18.7 42.7 28.4 4.9 3.0 0.2 0.4
EEEE

A2/ 2.2 100.0 0.0 16.0 48.8 32.6 1.1 1.4 0.0 0.0
At = 1.9 100.0 0.0 25.5 59.2 12.3 2.1 0.9 0.0 0.0
M H| A /Oy 22 1000 13 158 549 226 51 03 00 00
L a2 o o 25 100.0 0.6 8.2 449 39.1 6.1 1.1 0.0 0.0
s/ =8 2.3 100.0 1.4 10.8 53.3 25.8 7.4 0.8 0.5 0.0
= 0l 1.8  100.0 0.0 23.3 74.2 2.5 0.0 0.0 0.0 0.0
A5

1008k O|at 27 1000 10 115 356 341 104 60 04 09
100~2008+] 2.4 1000 2.0 86 437 387 52 18 0.0 0.0
200~3000tH 21 1000 00 173 582 200 39 0.0 0.5 0.0
300~4000+ 22 1000 12 110 585  27.3 1.3 0.7 0.0 0.0
40028l o[ A} 23 1000 00 87 583 271 44 15 00 00
20258 HEfdE Zga AfRIZAL



3- 2. AW WY - (1) ASHE WY
Tl 1 %)
. ]
2ooe | oA |y |zre|iS] we | A | Uy | Da | Ge |meE| 2
2025 43| 1000 343 103 79 39 350 19 06 39 08 13
20234 1000 350 110 95 53 272 19 07 41 09 45
Ao
= = | 100.0 33.1 9.2 8.0 2.4 37.1 2.0 0.9 49 0.7 1.7
=2 = 2 100.0 25.6 14.0 8.3 2.7 445 1.6 0.3 1.6 0.0 1.4
A = = 100.0 37.6 9.0 7.9 6.9 32.4 1.9 0.5 2.5 1.3 0.0
2zol2| 1000 405 116 74 47 251 21 03 51 13 19
CH e
=k At 100.0 34.6 7.7 10.3 5.6 31.7 2.1 1.2 4.3 0.9 1.6
o At 100.0 341 13.0 5.4 2.1 38.5 1.7 0.0 3.5 0.8 1.0
LR
15~294 | 1000 566 21 21 109 114 60 00 67 40 00
30~394 | 1000 586 00 62 33 179 35 20 47 30 07
40~494 | 1000 41 58 146 10 305 00 10 32 08 19
50~594 | 1000 393 93 77 25 365 04 06 31 00 06
60AM o4 100.0 21.0 15.6 8.1 3.5 44 .4 1.6 0.4 3.5 0.0 1.8
65AM O A4 100.0 17.8 17.3 8.1 3.3 46.8 1.4 0.5 2.9 0.0 1.8
Cof e
Z2 Z o] 3} 100.0 21.0 16.7 8.6 2.9 42.9 1.7 0.5 3.2 0.6 1.9
ni = 100.0 41.0 8.8 6.0 5.4 32.1 0.8 0.4 3.1 0.7 1.8
I & o 4 100.0 44 6 3.6 9.0 3.7 28.0 3.3 0.9 5.6 1.3 0.0
CEIAER )
0| =z 100.0 52.3 4.8 5.8 5.6 15.9 4.2 0.9 7.3 2.9 0.3
ozo el 1000 331 94 79 38 391 14 07 30 04 13
A /o =] 1000 197 187 101 25 422 12 00 33 00 24
BHESH>
2 A 100.0 36.6 7.9 8.6 4.0 33.9 1.2 1.0 4.4 1.0 1.4
AR Ol HPREE 100.0 30.7 14.2 6.8 3.7 36.9 3.0 0.0 3.1 0.6 1.1
CH Y
Ao/ ma| 1000 437 58 49 42 307 35 00 47 09 13
At = 100.0 50.3 3.3 11.9 0.0 16.2 2.6 0.0 11.9 3.8 0.0
MH|A~/otof | 1000 387 99 67 12 376 04 24 16 00 14
L 2 o ¢ 100.0 29.7 10.0 11.2 4.5 37.7 0.9 1.3 4.0 0.0 0.7
s/ =8 100.0 25.4 10.3 6.2 2.8 45.0 0.7 0.6 2.9 2.3 3.9
= 0l 100.0 39.7 0.0 14.0 24.9 21.4 0.0 0.0 0.0 0.0 0.0
OtpAasE)
1000k Ot | 1000 161 224 102 34 404 14 00 45 00 16
100~2000k9l | 1000 273 84 91 62 401 14 05 59 00 1.1
200~3000tgd | 1000 230 102 48 92 360 26 11 12 12 06
300~4000ted | 1000 334 76 103 31 329 37 31 29 00 30
4000k O[AH| 1000 419 48 126 42 295 04 12 33 00 20
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(T2l %)
_ 71207
7 & A |aze se| wggw | LS |TEH I wie 21| e
4014

2025 4 700.0 238 105 29.0 86 27.2 0.8
20234 100.0 19.1 15.1 242 9.7 286 33
TR
= =5 2 100.0 215 8.7 30.5 10.2 28.1 0.9
2 = 3 100.0 323 9.7 324 6.6 18.7 0.3
N =2 3 100.0 17.6 11.7 315 8.8 29.2 1.2
B zol2my 100.0 31.1 13.9 19.0 5.9 29.5 0.7
R,
=k At 100.0 24,5 10.4 31.7 7.4 25.3 0.7
o At 100.0 23.1 10.6 26.2 9.9 29.2 1.0
TR
15~29 A 100.0 24,5 16.6 30.6 6.8 18.6 2.9
30~394 100.0 405 73 245 76 20.1 0.0
40~49A 100.0 246 6.2 311 41 321 1.9
50~509A| 100.0 19.3 58 48 7.0 26.1 0.0
60N O A 100.0 22.2 12.4 24.0 10.9 29.9 0.6
65AM O A4 100.0 221 11.9 20.6 11.9 33.0 0.4
<ot
Z2 Z o] 3} 100.0 24.9 13.0 19.5 10.6 31.6 0.4
il = 100.0 24,5 8.1 32.8 9.3 24.2 1.2
I & o 4 100.0 21.8 9.7 37.3 5.4 24.8 1.0
EQYE >
0| =z 100.0 29.0 15.5 29.8 5.8 18.3 1.7
By © 2t QS 100.0 22.2 7.7 331 8.0 28.3 0.7
R 100.0 235 13.7 15.7 13.5 333 0.3
GHEE D
2 A 100.0 22.3 10.4 324 7.0 27.1 0.9
AR Ol HPREE 100.0 26.3 10.6 23.5 11.3 27.4 0.8
Ao
Mg 100.0 19.3 12.3 37.7 4.8 238 2.1
At = 100.0 21.2 17.6 30.2 5.4 25.6 0.0
A H| A /THOf 100.0 22.2 6.4 33.7 5.9 31.8 0.0
v g of o 100.0 24.4 9.1 31.2 7.1 27.5 0.7
s/ =8 100.0 23.4 14.2 25.4 12.5 23.4 1.1
= 0l 100.0 18.9 3.5 45.8 7.0 20.9 4.1
B E P
1000te! Ojat 100.0 26.7 16.4 15.0 11.0 30.3 0.7
100~2008+] 100.0 25.0 127 17.9 151 277 16
200~3008+] 100.0 206 16.5 315 7.4 24.1 0.0
300~4000+ 100.0 18.4 11.9 42.9 4.4 206 1.9
4008t] OfAf 100.0 20.8 56 37.2 6.0 29.7 0.8
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3 - 3. A7 AEL ofEE - (1) AHg AR ¥ ol F=(7Ik23 §
(EF9l %)
R R Bl IS T ) BT T (- Y R R B
ot |ofal | ge | ot |TEH| AL | ST
ot | moltt Gl
2025 4| 1000 749 1000 618 439 180 279 102 55 47 251
<A A
=z =2 3 100.0 76.8 100.0 66.9 50.4 16.5 21.2 11.9 6.3 5.6 23.2
2 =2 3 100.0 75.7 100.0 48.4 35.7 12.7 36.8 14.8 7.8 7.0 24.3
N 2 #H 100.0 70.4 100.0 66.7 46.9 19.9 27.0 6.3 4.3 2.0 29.6
ZFzo Yy 100.0 75.5 100.0 53.9 29.9 24.0 39.1 7.0 2.9 4.1 24,5
<N e
= At 100.0 80.6 100.0 66.8 46.9 19.9 253 7.9 5.1 2.8 19.4
o At 100.0 68.9 100.0 55.8 40.1 15.7 31.2 13.1 5.9 7.1 31.1
LR
15~29MA 100.0 98.2 100.0 92.8 82.1 10.8 5.4 1.8 1.8 0.0 1.8
30~39A4 100.0 96.1 100.0 88.8 81.5 7.3 11.2 0.0 0.0 0.0 3.9
40~49AM | 1000 95 1000 8.1 631 180 163 26 16 1.0 35
50~59MA 100.0 92.5 100.0 63.4 36.3 27.0 32.2 4.4 4.4 0.0 7.5
60AM o4 100.0 53.3 100.0 29.7 11.0 18.7 45.8 24,5 11.3 13.2 46.7
65AM oOfA4 100.0 449 100.0 23.7 7.7 15.9 44.8 31.5 12.4 19.1 55.1
(st
Z2 Z o] 3} 100.0 48.8 100.0 329 22.3 10.5 35.7 31.5 13.3 18.2 51.2
i Z 100.0 85.7 100.0 61.1 41.6 19.4 33.9 5.0 4.6 0.4 14.3
I & o 4 100.0 97.1 100.0 81.2 59.7 21.5 17.5 1.3 1.3 0.0 2.9
EQIY >
0| =z 100.0 93.6 100.0 88.0 74.5 13.5 10.5 1.5 1.5 0.0 6.4
o9 e | 1000 772 1000 572 366 205 333 96 65 31 228
At /ol & 100.0 48,5 100.0 32.5 17.9 14.6 36.9 30.6 8.4 22.2 51.5
GHEE D
Ef of| 1000 854 1000 649 456 193 288 64 47 1.7 146
AR Ol HPREE 100.0 57.7 100.0 545 39.6 14.9 25.9 19.6 7.4 12.2 42.3
CH o
A2 /1o g 100.0 94,5 100.0 77.5 60.7 16.7 19.9 2.6 2.1 0.5 5.5
At = 100.0 97.4 100.0 90.1 75.2 14.9 6.1 3.8 3.8 0.0 2.6
A H| A /THOf 100.0 92.0 100.0 56.6 39.4 17.2 37.9 5.5 4.4 1.1 8.0
L a2 o o 100.0 69.3 100.0 50.5 24.5 26.0 38.5 11.0 7.1 3.9 30.7
s/ =8 100.0 77.6 100.0 51.6 24.4 27.2 38.1 10.3 6.6 3.7 22.4
= ol 100.0 100.0 100.0 86.1 71.6 14.5 13.9 0.0 0.0 0.0 0.0
REESTX
1008t Ojmt | 1000 375 1000 182 57 124 291 528 185 343 625
100~2002+2 100.0 60.7 100.0 35.3 15.1 20.2 50.0 14.7 9.4 5.3 39.3
200~3002t=d 100.0 82.1 100.0 55.4 37.8 17.6 38.2 6.4 3.8 2.6 17.9
300~4000tel | 1000 858 1000 634 411 223 295 70 60 10 142
4002+ o|At 100.0 93.5 100.0 75.5 53.9 21.5 21.9 2.6 2.6 0.0 6.5
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3 - 3. HA7|7] AH29 o3 E - (2) o2 &4 fsH AT n&(CtFSH)

(T : %)

2mE g |AR, sga| SN B8 | 2HAU 88 oo 5y
T o= A 2EZ, | HY U | ;“ETJEH (o,au?u‘?;.) (7le23 5)[  7Igt
OIEY 5) | A = 2P0 A ne
IPeE 5)| 18

2025 4 100.0 16.7 7.6 31.8 14.2 28.5 1.2
CA D
2 H 2 100.0 16.0 7.2 32.2 18.1 255 1.0
2 =2 7 100.0 9.1 7.5 20.7 16.2 43.2 3.3
A = = 100.0 19.5 4.9 43.9 0.0 31.6 0.0
Fzolay 100.0 29.1 11.4 37.0 7.6 14.9 0.0
& S
=k At 100.0 16.2 4.7 29.9 12.0 358 1.4
o At 100.0 171 9.5 33.1 15.6 23.4 1.2
<o g
15~29 A 100.0 50.0 0.0 0.0 0.0 50.0 0.0
30~394A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49A 100.0 14.4 14.4 475 0.0 23.8 0.0
50~59M4A 100.0 24.4 0.0 451 0.0 30.5 0.0
60M O A 100.0 14.2 8.6 30.6 17.6 27.5 1.6
65M O A 100.0 14.7 8.6 35.0 15.7 24.2 1.9
-
Z2 Z o] 3} 100.0 11.0 8.0 31.6 19.2 28.4 1.7
ni Z 100.0 37.3 8.4 26.6 1.6 26.1 0.0
I & o 4 100.0 12.5 0.0 50.0 0.0 37.5 0.0
CZOIAE >
0| = 100.0 0.0 0.0 45.3 141 40.6 0.0
B 2 2t 9 2 100.0 20.9 6.7 26.4 12.8 32.7 0.6
At & /ol & 100.0 12.0 10.1 39.1 16.4 19.9 2.5
(AAH TS
2 A 100.0 15.7 11.0 B585 9.0 28.1 0.7
AR Ol HPREE 100.0 17.6 4.6 28.7 18.5 28.9 1.7
<A
A8 /e 100.0 35.2 15.9 29.0 0.0 19.9 0.0
At = 100.0 0.0 0.0 50.0 12.4 37.6 0.0
M H| A /ot Oj 100.0 28.7 4.8 29.4 0.0 37.1 0.0
=2 of o 100.0 10.2 16.7 32.2 15.9 22.5 2.5
s/ =8 100.0 9.8 16.1 38.4 12.8 229 0.0
o ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R ES=:P
1008+ Ojat 100.0 12.0 7.3 39.3 19.8 21.5 0.0
100~2009+ 100.0 11.1 0.0 35.9 14.0 34.0 5.0
200~3009+H 100.0 8.8 12.4 1.6 15.8 51.2 0.0
300~4008+ 100.0 19.1 16.9 356 0.0 28.4 0.0
4000+ O] A} 100.0 24.0 0.0 32.0 0.0 43.9 0.0
2025\ HeteE Z/dT AIBIZRAL



3 -4 WoAZ 28(CHF3H)

§ we | ng | 27| A2 | o3 | o7 | et | we | wo | ae
S B vl ol I R I A TP o P S
AER AR = e P IR IONV= AT

2 025 4| 100.0 7.9 78 222 168 105 9.7 75 105 5.4 1.2 0.4
2 02 3 4| 100.0 105 9.3 251 15.2 8.4 8.6 8.2 8.7 3.6 0.8 1.6
CA o

Z =2 A1 1000 104 82 201 14.3 6.1 11.2 9.2 133 5.4 1.6 0.2
2 =2 A 100.0 7.8 91 240 197 126 10.2 6.0 6.5 2.4 1.6 0.3
N = | 1000 43 68 256 168 168 64 77 83 64 02 07
2zolay| 1000 69 69 214 198 106 103 47 106 67 13 08
R

= At 100.0 6.7 86 211 15.8 103 98 7.7 120 6.0 1.2 0.5
o At 100.0 9.1 69 234 178 107 9.6 7.3 8.9 4.8 1.2 0.3
oy

15~29A ([ 100.0 4.2 9.7 16.1 52 146 116 160 125 10.1 0.0 0.0
30~39 M| 1000 166 145 20.3 8.3 4.2 83 120 10.4 3.8 0.0 1.5
40~49A | 1000 104 150 196 67 90 88 104 122 67 03 09
50~59 A || 100.0 9.0 86 190 138 85 121 7.0 140 5.9 2.0 0.0
60AM ©OfA | 100.0 6.2 40 26.1 248 118 8.8 4.0 8.3 4.0 1.7 0.4
65A O] AH| 100.0 5.7 40 272 258 120 7.5 3.3 8.1 4.2 1.7 0.4
<ot

= Z O] 5} | 100.0 6.3 44 265 254 127 8.1 4.5 6.7 3.9 1.3 0.2
i Z | 100.0 8.4 9.4 21.0 139 9.7 11.2 78 11.0 6.0 1.3 0.2
[ £ o] A [ 1000 9.2 102 184 9.2 87 101 108 1438 6.6 1.1 0.9
CE oAl )

0| Z | 100.0 6.6 9.4 18.1 81 116 11.0 142 124 8.6 0.0 0.0
W oz9 el 1000 89 79 224 170 97 95 67 112 45 16 06
At & /o] & | 100.0 6.0 56 263 256 121 9.1 25 6.2 5.0 1.4 0.3
LS

Z| of | 100.0 8.4 9.1 20.7 149 9.9 99 7.7 118 5.8 1.2 0.5
Abiglypek | 100.0 6.9 55 250 200 116 9.4 7.1 8.3 4.8 1.2 0.3
EELR

Mg /ma || 1000 92 92 138 109 67 92 107 190 89 15 09
At S| 100.0 8.0 152 185 8.9 9.6 129 6.9 11.7 7.3 0.9 0.0
MH|A/DHDy | 1000 127 91 212 140 66 132 85 103 31 12 00
L 2 o o 100.0 6.7 69 258 217 113 6.6 4.8 9.4 4.7 1.2 0.7
7| 5/ & 2| 100.0 7.1 47 186 166 142 111 8.0 105 7.4 1.8 0.0
= ol | 100.0 41 126 281 7.8 176 4.1 56 11.9 3.9 0.0 4.1
REETH

1000te) Ojot | 1000 56 39 287 279 136 52 27 59 46 16 04
100~2002t2] [ 100.0 6.4 43 242 237 9.6 7.1 6.4 115 5.9 0.7 0.2
200~300%+=! || 100.0 7.1 76 227 125 153 122 50 11.3 4.2 1.9 0.3
300~400%H || 100.0 9.0 101 153 145 9.0 140 74 114 6.8 0.7 1.8
40082l oJAt || 100.0 7.2 96 180 140 83 9.5 82 16.9 6.7 1.0 0.5
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3 -5 % Ao cHgt AA
TRl %)
T e I ROV IO e ) I S R (e
= | | | TS (e | IR AR ey | = | T
2025 4 700.0 43.7 36 25 256 8.0 13 51 0.1
2023 4 100.0 41.0 31 16.1 11.2 57 1.9 188 2.3
TEEE
= = 3 100.0 40.1 3.6 2.4 25.8 6.6 1.7 19.7 0.0
2 = 3 100.0 46.8 4.7 3.1 22.8 10.8 20 9.9 0.0
N 2 #H 100.0 40.6 2.5 3.0 28.9 9.7 0.6 14.3 0.4
F=olamy| 1000 549 39 14 230 6.8 08 9.1 0.0
R,
=k At 100.0 454 3.4 25 26.1 6.3 1.2 15.1 0.0
o At 100.0 42.0 3.7 2.5 251 9.8 15 15.2 0.2
TEER
15~294 100.0 48.0 4.1 59 239 1.1 0.0 17.0 0.0
30~39 A 100.0 44.7 25 1.4 27.3 105 30 106 0.0
40~49A 100.0 42.4 35 26 321 4.4 0.5 14.4 0.0
50~59 A 100.0 488 2.8 0.6 237 9.4 1.7 124 0.5
60AM o4 100.0 40.9 3.9 2.6 249 9.6 1.4 16.7 0.0
65AM O A4 100.0 38.9 3.9 2.6 255 9.8 1.6 17.7 0.0
CotE g
Z2 Z o] 3} 100.0 40.4 4.4 1.9 252 9.8 1.2 17.1 0.0
il = 100.0 46.3 2.6 3.0 234 7.4 1.1 16.1 0.0
0 = of 4| 1000 453 35 28 284 6.3 18 117 0.3
E AN
0| =z 100.0 47.6 3.8 5.0 24,5 4.7 0.2 14.2 0.0
oz e| 1000 425 36 19 258 86 15 159 0.2
Ag /o= | 1000 @ 434 33 19 262 9.5 19 139 0.0
GHEED
2 A 100.0 45.2 3.3 23 27.2 7.3 15 13.3 0.0
AR Ol HPREE 100.0 41.4 4.0 2.9 23.0 9.2 1.1 18.2 0.3
TELE
Hg/2a| 1000 527 8.1 05 236 4.7 0.7 96 0.0
At = 100.0 44.4 2.5 6.3 258 6.6 4.5 9.9 0.0
MH|A/moy | 1000 428 2.7 12 286 6.0 23 164 0.0
= o2 of off 1000 @ 446 2.8 19 239 102 10 156 0.0
s/ =8 100.0 44.6 2.5 3.9 27.7 9.8 0.0 11.4 0.0
= ol 100.0 34.4 0.0 0.0 53.6 0.0 0.0 12.0 0.0
R
1009k Tjar | 1000 340 35 22 277 130 25 170 0.0
100~2000t 100.0 49.7 36 1.9 223 57 2.2 14.4 0.0
200~3008+] 100.0 383 2.7 5.1 31.0 6.0 0.0 17.0 0.0
300~4008tS) 100.0 44.6 36 0.5 323 45 0.8 137 0.0
4000tg o | 1000 463 37 00 252 7.9 15 154 0.0
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Al | o Jlz02 ARl | =2
o o A BAIZQI ALt 71a|55r Fak i ;51 oMo | =& | SA 7|E}
oS [ 18Ol 6o | 24 |22 e BEOIN| ME|A | AlE
| V- ° ot | BF | BF
2025 4| 1000 207 35 69 457 141 0.9 35 2.4 1.9 0.3
202 34|( 1000 218 5.1 53 470 109 0.6 2.6 2.9 2.5 1.2
CA 9 g
z = | 1000 193 3.0 66 459 154 1.0 4.0 3.1 1.2 0.4
g =2 Y| 1000 202 4.9 49 424 193 0.6 2.4 2.8 2.1 0.6
N =2 @[ 1000 230 1.7 81 50.5 9.7 0.9 2.4 0.7 3.0 0.0
Fzolay| 1000 220 5.0 86 440  10.1 1.0 4.8 2.3 1.9 0.3
& D
Lt 2| 1000 220 4.2 6.7 433 137 0.9 5.2 1.8 2.1 0.0
of 2| 1000 197 3.0 71 477 144 0.9 2.1 2.9 1.7 0.6
CHHE)D
15~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~394 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~59A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60A O|A| 1000 207 35 69 457 141 0.9 35 2.4 1.9 0.3
65N Ol AH| 1000 207 35 69 457 141 0.9 35 2.4 1.9 0.3
= I
Z Z o] 3| 1000 215 2.2 70 466 1522 1.1 2.5 2.3 1.6 0.1
nl Z| 1000 201 6.4 50 442 114 0.4 7.0 1.9 2.8 0.7
[f 2 o A 1000 145 105 102 400 9.0 0.0 6.2 45 3.1 1.9
(ZOIGENES
o] & | 1000 141 62 101 425 181 0.0 0.0 9.1 0.0 0.0
B2 29 e | 1000 211 45 71 460 108 0.7 5.1 1.6 2.6 0.5
Ab® /o] & | 1000 205 2.0 65 455 186 1.2 1.3 3.3 0.9 0.1
(BAHZEEE
EY of [ 1000 19.4 46 6.1 469  11.1 0.2 6.6 1.9 3.1 0.1
ADiQlHpgEE | 100.0 217 2.7 76 449 163 1.4 1.2 2.8 1.0 0.5
CA A EHD
A2 /32| 1000 203 75 146 374 8.2 0.0 6.0 3.4 2.6 0.0
At o |l 1000 360 267 00 374 0.0 0.0 0.0 0.0 0.0 0.0
MHA/THOR | 1000 12.8 3.2 34 472 171 00 153 1.0 0.0 0.0
= 2 of o 1000 210 4.0 59 484 8.6 0.3 4.7 2.1 46 0.3
Js /= 2| 1000 182 4.2 6.2 487 136 0.0 3.9 2.0 3.3 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OIRASE
1000tgl Dot | 1000  26.1 1.9 6.8 428 165 15 0.8 2.6 0.9 0.2
100~2000tgl | 1000  21.9 3.9 82 443 122 0.0 3.0 3.2 3.0 0.4
200~3000te] | 1000 134 2.6 22 549 134 0.7 48 2.2 43 15
300~4000t | 1000 167 43 93 460 36 00 170 1.8 1.3 0.0
4008 oA | 1000 144 7.7 88 434 164 0.0 6.6 1.2 15 0.0
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7. TIE3 7172l A2lE

ot

[ =]
T %)
mage | AgEe | 4uYs | S50 | Lo |48 32
I O T | I T I N e e IR
g | sgxy |me A | T30 A

2025 4 100.0 22.8 106 116 22.4 53 73 0.1
20234 100.0 433 114 123 20.8 7.0 4.9 0.3
CA A
= =5 2 100.0 43.1 10.2 10.6 22.4 5.0 8.7 0.0
2 =2 | 100.0 31.8 9.8 15.1 23.4 6.2 13.6 0.0
N o= 100.0 475 10.9 12.1 22.7 2.9 3.9 0.0
2z o0 a3 100.0 44.5 11.9 10.5 21.3 8.4 3.0 0.4
R,
= At 100.0 43.8 10.2 10.7 22.2 6.6 6.5 0.1
o At 100.0 41.7 11.0 12.5 22.8 3.9 8.1 0.0
TR
15~209K 100.0 416 12.8 12.7 22.3 8.3 2.2 0.0
30~394 100.0 495 41 1256 233 0.0 9.8 0.7
40~49A 100.0 42.3 14.0 122 22.0 6.5 3.0 0.0
50~509A| 100.0 45.2 78 125 231 37 7.7 0.0
60A O A 100.0 41.0 11.4 10.6 22.2 58 8.9 0.0
65M O A 100.0 40.8 12.0 10.0 21.7 6.4 9.2 0.0
Cofe
= = o 3 100.0 40.4 12.1 10.1 21.5 6.2 9.7 0.0
ini Z 100.0 43.2 9.8 121 21.1 6.9 6.7 0.2
I & o 4 100.0 45.2 9.5 12.9 25.0 2.5 4.8 0.0
RTIPUED
0| =z 100.0 34.4 12.2 14.3 27.0 7.0 52 0.0
229 S 100.0 44.8 10.4 11.0 22.6 4.1 7.1 0.1
A& /O & 100.0 45.2 95 10.7 17.4 71 10.0 0.0
AAESE
Z| o 100.0 43.4 10.6 10.8 235 4.8 6.9 0.1
AR Ol HPREE 100.0 41.6 10.7 12.9 20.7 6.1 8.0 0.0
CH Y
HE /e 100.0 435 13.8 12.8 26.2 2.4 1.2 0.0
At = 100.0 34.0 111 13.2 29.7 3.8 8.3 0.0
M H| A /Oy 100.0 41.0 12.1 9.8 20.3 5.6 10.6 0.4
L 2 o ¢ 100.0 411 9.0 10.1 25.0 7.0 7.8 0.0
s/ =8 100.0 50.6 11.3 8.1 19.8 5.6 4.6 0.0
= ol 100.0 66.2 35 13.9 13.9 0.0 2.5 0.0
GrRasE
10008l Ojat 100.0 436 10.7 8.8 20.8 7.7 8.4 0.0
100~2008+] 100.0 345 10.8 8.7 308 46 106 0.0
200~3000tS) 100.0 36.9 9.4 16.1 215 73 8.8 0.0
300~4000+ 100.0 485 9.1 9.7 215 4.0 7.1 0.0
4008t] OfAf 100.0 50.8 7.4 8.9 22.0 45 6.0 0.4
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ZE - (1) SAHY

(

o
)

ol &, %)

T = B A e | 1~53 | 6~10 | 11~202 | 21~30A |31 o4
2025 4 2.7 100.0 49.2 40.2 6.0 3.1 0.7 0.9
20234 2.8 100.0 52.4 36.3 6.3 36 0.5 0.8
CA 9 EH
z = g 2.9 100.0 50.2 38.0 6.9 2.5 1.0 1.3
2 = g 2.1 100.0 62.6 32.2 2.8 1.2 0.3 0.8
N =2 o 3.4 100.0 38.1 47.3 7.7 55 0.8 0.8
Zzolay 1.9 100.0 50.4 43.1 3.7 2.8 0.0 0.0
CHoE
Lt p 2.8 100.0 455 43.9 6.4 2.9 0.2 1.1
ol Zt 2.6 100.0 53.1 36.4 5.5 3.3 1.1 0.6
g 8o
15~29A 5.0 100.0 13.7 59.0 15.4 11.9 0.0 0.0
30~394A 36 100.0 24.4 66.5 2.9 3.2 3.0 0.0
40~49 A 45 100.0 232 59.9 12.2 1.5 0.0 3.1
50~509 Al 3.3 100.0 39.4 46.9 6.8 4.7 1.8 0.4
60M O At 1.3 100.0 72.5 23.6 2.3 0.7 0.1 0.9
65M O At 1.2 100.0 77.8 18.7 1.7 0.9 0.1 0.9
<ot
z = o & 1.0 100.0 77.1 18.2 2.5 2.2 0.0 0.0
] = 2.6 100.0 39.1 50.7 6.7 2.9 0.2 0.5
o = o] A 5.0 100.0 24.0 57.5 9.7 4.4 2.0 2.4
(ZQIATEN )

O| s 43 100.0 25.9 53.7 11.1 8.3 0.4 0.6
HY S 2} Q1 2 2.8 100.0 48.4 M8 5.8 2.0 0.7 1.3
Ae /ol & 0.9 100.0 75.8 21.4 1.3 0.9 0.7 0.0
(BAHZFE

2 o 3.0 100.0 43.1 46.5 5.6 2.7 0.9 1.2
ADI D HpRIEE 2.2 100.0 59.2 30.0 6.6 3.7 0.2 0.4
(Y

A2/ 5 g 6.3 100.0 22.5 58.0 6.2 4.4 4.0 4.9
Ab o 3.3 100.0 27.9 62.3 3.8 3.8 2.3 0.0
A H| A /Tt Of 2.5 100.0 44.8 46.5 6.0 1.7 0.3 0.8
= 2 of of 1.3 100.0 59.9 36.6 2.8 0.6 0.0 0.0
=] 2.5 100.0 61.3 26.4 5.3 6.0 0.0 1.0
2 ol 5.5 100.0 7.0 67.4 19.6 2.5 0.0 35
OtRLSE

1009te! Ojat 0.4 100.0 85.6 12.6 1.5 0.2 0.0 0.0
100~2008+ 2.3 100.0 68.1 24.0 46 0.9 1.0 1.4
200~3008+2 2.4 100.0 57.5 33.4 3.3 45 1.3 0.0
300~4008+2 3.0 100.0 39.6 49.1 7.7 1.7 0.0 1.8
4008t oAt 35 100.0 28.9 60.5 6.2 2.0 0.8 1.6
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3-8 SMAE U BZE - (2) SNY HFZ0Y
(H9] %)
T = A S2otCt 0 & ZE%t | EFO|Ct | EF5i0H | §&Tt 0
S&oftCt | Ho|ct Ho|Ct | BFoltt

2025 4 100.0 10.3 40 6.3 32.7 57.0 333 23.6
202 3 4 100.0 9.3 33 6.0 34.7 56.0 31.9 24.0
<2 Qe

z = g 100.0 14.3 6.6 7.7 26.5 59.2 35.7 23.5
2 = o 100.0 8.2 2.7 5.5 26.5 65.3 41.2 24.1
N =2 o 100.0 8.5 2.7 5.9 44.9 46.5 25.8 20.7
ZF=oaxy 100.0 43 0.2 4.1 37.3 58.4 30.8 27.7
CHoE

Lt 2t 100.0 9.5 3.0 6.6 346 55.8 33.0 22.8
ol 2t 100.0 11.1 5.1 6.0 30.7 58.2 33.7 24.5
D

15~29A 100.0 20.5 13.0 7.5 52.7 26.8 18.2 8.7
30~394 100.0 11.1 0.9 10.2 37.2 51.7 35.1 16.6
40~49A 100.0 21.1 6.3 14.8 43.6 35.3 27.9 7.4
50~59 A 100.0 9.7 34 6.3 35.6 54.8 326 22.2
60M O At 100.0 5.3 2.0 3.3 23.3 71.4 38.4 33.0
65AM O At 100.0 48 1.7 3.0 21.2 74.1 40.3 33.7
-

z = o & 100.0 48 2.3 2.5 21.6 73.5 37.8 35.7
Il £ 100.0 11.2 34 7.8 37.3 51.4 34.1 17.3
o = o] A 100.0 16.4 6.7 9.7 42.1 415 26.8 14.6
(ZOIAEN)

O| T 100.0 19.0 96 9.4 416 39.4 27.9 11.5
HY S 2} Q1 2 100.0 10.1 34 6.7 32.7 57.1 32.4 24.8
Ate /ol & 100.0 2.0 0.0 2.0 235 745 418 32.7
AHBEL

2 of 100.0 11.5 39 7.6 34.8 53.7 33.0 20.7
ADI D HpRIEE 100.0 8.4 42 4.2 29.3 62.3 33.9 28.4
R

8/ g 100.0 15.6 7.7 7.9 47.4 37.0 24.1 12.8
Ab o 100.0 21.7 9.3 12.4 35.3 43.0 31.9 11.0
A H| A /Tt Of 100.0 11.7 3.1 8.7 36.2 52.1 32.1 20.0
= 2 of o 100.0 2.8 1.2 1.6 285 68.7 40.0 28.7
s /=R 100.0 8.6 23 6.3 23.4 68.0 39.0 29.0
2 ol 100.0 215 35 18.0 58.7 19.8 6.9 12.9
OtRLSE

1000te! Ojat 100.0 1.7 0.0 1.7 18.2 80.1 415 386
100~2008+ 100.0 4.7 0.6 4.1 27.0 68.3 32.4 35.9
200~3008+2 100.0 10.7 6.0 48 26.5 62.7 40.2 22.5
300~4008t2] 100.0 14.4 46 9.8 30.6 55.0 325 22.5
4008t oAt 100.0 8.4 33 5.2 43.7 47.9 29.8 18.0
20254 et ZET AIRI2AL
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- [l 3=
2w S el TP ogse |80 BE 8
= eSO bty | zopep | A SV 2t A
ES | ol

2025 4 700.0 338 221 66 7.0 2.1
2023 4 100.0 313 232 58 10.4 1.8
TEEE
= = 100.0 315 24,7 7.6 5.5 2.4
2 = g 100.0 29.6 21.3 13 10.7 0.6
N =2 3 100.0 41.5 17.7 8.5 5.7 2.0
B zol2my 100.0 34.4 21.3 6.6 8.9 2.9
R,
L 2t 100.0 34.4 23.1 6.8 6.1 1.9
o At 100.0 33.2 21.0 6.3 8.0 2.3
TEER
15~294 100.0 29.9 426 17.7 0.0 49
30~39 A 100.0 248 35.9 192 0.0 35
40~49A 100.0 24.6 341 89 2.8 35
50~59 A 100.0 385 248 88 26 0.9
60N O A 100.0 353 152 2.4 10.8 1.8
65AM O A4 100.0 33.9 13.1 1.3 13.4 1.6
Cope >
Z2 Z o] 3} 100.0 34.8 13.0 1.9 10.6 2.4
il Z 100.0 375 24.8 8.6 4.6 1.9
= o A 100.0 27.2 375 136 2.5 1.8
Ay
ol s 100.0 27.9 324 12.7 0.5 5.2
B © 2 Q2 100.0 35.8 22.9 6.5 7.0 15
R 100.0 32.3 138 3. 11.0 1.8
FHEED
Z| o 100.0 31.1 27.5 9.4 2.9 2.3
ADI T HpREE. 100.0 378 14,0 2.2 13.1 18
EEE
A8/ 100.0 35.9 36.3 9.1 0.0 2.9
At = 100.0 15.9 45.4 215 2.5 0.0
M H| A /Oy 100.0 32.3 295 11.3 1.1 2.2
v 2 of o 100.0 35.4 18.4 5.4 4.4 2.2
s/ =8 100.0 29.3 26.9 4.0 5.8 1.5
2 ol 100.0 26.0 45.2 19.2 0.0 0.0
OtresE
1008k O|ot 100.0 32.1 11.0 0.8 13.8 16
100~2008+] 100.0 332 17.7 16 12.7 1.4
200~3000tH 100.0 285 26.1 85 2.3 2.7
300~4000+ 100.0 332 306 137 1.8 0.0
40008l OfAt 100.0 319 337 9.3 4.0 1.0
20253 AHetde F/ETE APSIRA



oo oo | S e | M2 qow | M2 9D S A2
T = ;-{;'Z,IE °*|_01L}~1 S Fa2t [ BAHA A]7H| Olshst? |7t 2R3 7|Et
S QloIA Q101 A ofFYM | L7z RHA

2025 4 0.5 0.4 0.2 31 226 17
20234 1.4 0.7 1.2 5.2 15.2 3.7
CAL g &5

z = 3 0.2 0.0 0.3 1.8 24.8 1.3
2 = o 0.0 0.0 0.0 8.1 25.3 3.2
N =2 2 0.9 0.0 0.4 35 17.7 2.1
Zzolay 1.1 2.1 0.0 16 203 0.8
<H g

Lt at 0.5 0.5 0.2 29 22.7 1.0
of Zt 0.4 0.3 0.2 3.4 225 2.4
(A

15~29A 0.0 0.0 0.0 0.0 4.9 0.0
30~39A 0.0 1.7 0.0 1.7 13.1 0.0
40~49A 1.7 33 0.0 0.0 21.1 0.0
50~59 Al 0.0 0.0 0.0 16 22.7 0.0
60M O At 0.6 0.0 0.3 46 26.2 2.8
65M O At 0.4 0.0 0.2 5.8 27.0 33
-

z = o & 0.4 0.0 0.2 53 28.2 3.1
Il £ 1.0 0.4 0.3 2.1 18.7 0.0
o = o] A 0.0 1.2 0.0 0.0 15.6 0.6
(ZOIGENES

i s 0.9 2.8 0.6 1.0 15.6 0.6
Hi 2 29 S 0.6 0.0 0.0 3.0 21.9 0.8
Ad /o 0.0 0.0 0.5 47 28.4 4.4
(BAESE

2 o 0.8 0.5 0.3 2.4 21.9 0.7
ADI D HpRIEE 0.0 0.3 0.0 42 236 3.0
(Y

=] 0.0 2.5 0.0 0.0 11.0 2.3
At =] 0.0 0.0 0.0 0.0 14.6 0.0
M H| A /THOj 1.0 0.0 1.4 0.6 20.7 0.0
= 2 of o 1.4 0.7 0.0 37 28.0 0.5
N /L2 0.7 0.0 0.0 36 26.3 1.9
2 ol 0.0 0.0 0.0 95 0.0 0.0
OttasE

1000t Ojot 0.6 0.0 0.0 6.3 29.7 4.1
100~2008+) 0.6 0.0 0.8 1.0 31.0 0.0
200~3000+2 0.7 2.4 0.0 5.8 22.1 0.8
300~4000+2 0.0 1.4 0.0 2.7 16.6 0.0
4008t oAt 0.0 0.0 1.0 15 16.1 1.5
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2 = A | orHsict | oje |m3 | 2ol | ZorstCt 2

QrHstCt | QHHMoiTt StCt Ct
2025 4 100.0 58.4 18.8 39.6 29.7 11.9 9.3 2.6
20234 100.0 40.9 14.1 26.8 40.7 18.4 13.7 4.7
CA 9 EH
z = g 100.0 63.7 23.2 40.5 27.0 9.3 7.0 2.3
2 = g 100.0 66.2 15.2 51.0 28.7 5.2 43 0.8
N =2 o 100.0 48.0 15.4 32.7 35.5 16.5 13.3 3.2
Zzolay 100.0 52.7 15.5 37.2 29.7 17.6 13.6 4.0
CHoE
Lt p 100.0 61.5 20.8 40.7 28.3 10.2 8.1 2.2
ol Zt 100.0 55.2 16.8 38.4 31.2 13.6 10.5 3.0
g 8o
15~29A 100.0 54.7 9.0 45.7 31.4 13.9 9.9 4.0
30~39A 100.0 49.1 11.7 37.4 31.6 19.3 14.5 4.7
40~49 A 100.0 54.2 16.9 37.3 26.2 19.5 15.4 4.1
50~509 Al 100.0 59.1 19.5 39.6 27.5 13.5 9.7 38
60M O At 100.0 61.7 22.7 39.0 30.7 76 6.5 1.0
65AM O At 100.0 60.7 21.0 39.7 33.1 6.3 5.3 0.9
<ot
z = o & 100.0 58.6 211 37.4 34.7 6.7 5.9 0.8
Il £ 100.0 60.3 18.9 1.4 27.5 12.2 8.8 3.4
o = o] A 100.0 56.3 15.8 40.5 25.6 18.1 14.1 4.0
(ZQIATER )
O| T 100.0 52.9 12.5 40.4 32.8 14.3 11.6 2.7
HY S 2} Q1 2 100.0 62.0 215 40.5 25.7 12.3 9.4 2.9
Ad /o E 100.0 53.2 17.2 36.0 38.8 7.9 6.4 1.5
(BAHZFE
2 of 100.0 58.0 18.0 40.0 29.9 12.1 9.9 2.2
ADI D HpRIEE 100.0 59.1 20.2 38.9 29.5 11.4 8.3 3.2
(Y
A2/ B g 100.0 62.1 16.0 46.2 21.8 16.0 12.5 36
Ab o 100.0 61.8 16.4 45.4 23.2 15.0 13.3 1.7
A H| A /Tt Of 100.0 57.9 16.6 413 28.7 13.5 9.8 3.7
= 2 o of 100.0 51.5 18.9 32.6 37.8 10.7 9.4 1.3
s /=R 100.0 62.5 25.9 36.7 33.9 36 36 0.0
2 ol 100.0 49.8 25 47.2 338 16.5 10.5 6.0
OtRLSE
1000te! Ojat 100.0 54.9 18.4 36.4 39.1 6.0 6.0 0.0
100~2008+ 100.0 63.4 23.6 39.8 24.3 12.2 11.2 1.0
200~3008+2 100.0 57.5 18.2 39.4 31.8 10.7 76 3.1
300~4008t2] 100.0 54.6 16.7 37.9 28.4 17.0 8.7 8.3
4008t oAt 100.0 62.9 20.1 428 23.7 13.3 12.3 1.1
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[Wgy— | [ (o] _ =
(T2l = %)
T = Al 7I250| BlolM | REAIFo|2Z2 | 2140 EZ0M 7| Ef

2025 4 100.0 53.2 0.8 443 1.8
20234 100.0 53.1 1.7 4.4 3.8
2%
z = 100.0 1.4 2.3 53.0 3.3
N 100.0 67.8 0.0 32.2 0.0
N o2 3 100.0 63.9 0.0 36.1 0.0
ZF=oaxy 100.0 51.6 0.0 45.9 2.4
< g
Lt 2t 100.0 61.7 0.0 34.3 4.0
of 2t 100.0 46.4 1.4 52.2 0.0
o
15~29A 100.0 55.1 0.0 36.8 8.2
30~394 100.0 81.2 0.0 18.8 0.0
40~49A 100.0 49.2 0.0 50.8 0.0
50~59A 100.0 54.5 0.0 45,5 0.0
60N O] A 100.0 4.2 2.6 54.3 2.0
65K O] A 100.0 48.2 0.0 48.7 3.1
s
z = o 3 100.0 49.7 0.0 47.4 2.9
il = 100.0 48.8 0.0 51.2 0.0
o = o A 100.0 57.8 1.7 38.0 2.5
(ZQIAENED
0| = 100.0 60.3 0.0 35.0 4.7
Hy 2t 9 & 100.0 52.5 13 46.2 0.0
Ab" /ol & 100.0 431 0.0 52.2 4.7
(BAHZE B
EY o 100.0 48.8 1.3 47.1 2.8
AR Ol HPREE 100.0 60.7 0.0 39.3 0.0
CH A
A2 /1o g 100.0 50.2 6.8 43.0 0.0
At =] 100.0 46.2 0.0 42.6 11.3
MH| A /THOY 100.0 58.0 0.0 42.0 0.0
L 2 o ¢ 100.0 23.0 0.0 72.4 4.5
s/ 100.0 81.7 0.0 18.3 0.0
2 ol 100.0 78.7 0.0 21.3 0.0
OrASE
1009+ O|at 100.0 32.0 0.0 68.0 0.0
100~2000+ 100.0 55.9 0.0 36.8 7.3
200~3000t) 100.0 30.5 0.0 57.2 12.4
300~4000+ 100.0 70.7 0.0 29.3 0.0
4008+ OfAF 100.0 52.8 0.0 47.2 0.0
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3 -9 OfZtEF QtM/d - (3) CHAYH

EROl ¢ %)

2= Lo
PR | gpTe (R W] ot | T |zHETE
T+ = Al a4 EEOW EONE=S APt LS 7tA| 7|EL
e | S et | SHsiCH | v|EE | cdct
O|=Ct

2025 4 100.0 382 53 4.7 7.7 40.8 2.1 11
20234 100.0 46.0 5.5 43 8.0 28.3 1.9 6.1
<2 Qe
z = g 100.0 25.0 4.4 3.9 8.2 49.2 6.0 3.3
2 = 100.0 83.0 0.0 0.0 0.0 17.0 0.0 0.0
N =2 o 100.0 40.2 9.5 5.8 8.0 36.5 0.0 0.0
Zzolay 100.0 425 2.3 5.6 8.7 40.9 0.0 0.0
<M g
Lt p 100.0 49.1 3.7 4.0 8.4 30.0 4.7 0.0
ol Zt 100.0 29.6 6.5 5.3 7.2 49.4 0.0 2.1
<A FED
15~29A 100.0 50.7 126 0.0 0.0 286 8.2 0.0
30~394A 100.0 55.1 47 0.0 22.3 17.8 0.0 0.0
40~49 A 100.0 33.9 7.9 12.9 5.0 40.2 0.0 0.0
50~509 Al 100.0 22.1 3.3 6.7 0.0 58.2 43 5.4
60M O At 100.0 387 19 2.6 11.6 452 0.0 0.0
65M O At 100.0 41.2 2.9 0.0 18.1 37.8 0.0 0.0
-
z = o & 100.0 389 13 0.0 10.2 495 0.0 0.0
T = 100.0 27.8 10.7 3.3 3.9 47.9 2.9 36
o = o] A 100.0 45.2 3.3 8.0 9.2 31.7 2.5 0.0
(ZQIEHEH>
O| s 100.0 46.9 7.3 1.9 8.8 30.4 4.7 0.0
Y © 2t 9 & 100.0 35.6 45 6.8 6.3 435 1.5 1.8
Ad /o 100.0 346 5.3 0.0 12,6 476 0.0 0.0
(BAHEEE>
2 o 100.0 315 3.7 7.4 9.3 431 3.3 1.8
ADI D HpRIEE 100.0 50.0 8.1 0.0 5.1 36.9 0.0 0.0
(Y
A2/ 5 g 100.0 21.2 0.0 17.7 0.0 61.1 0.0 0.0
Ab o 100.0 35.6 9.4 5.7 6.5 31.5 11.3 0.0
A H| A /Tt Of 100.0 15.6 40 0.0 19.6 54.0 0.0 6.9
= 2 of of 100.0 232 5.1 4.6 6.9 53.5 6.7 0.0
=] 100.0 65.6 0.0 16.1 0.0 18.3 0.0 0.0
2 ol 100.0 57.4 0.0 21.3 21.3 0.0 0.0 0.0
OtRLSE
1009te! Ojat 100.0 39.1 0.0 0.0 13.0 47.9 0.0 0.0
100~2008+ 100.0 438 0.0 0.0 7.3 35.4 0.0 135
200~3008+2 100.0 28.3 0.0 0.0 15.8 435 12.4 0.0
300~4008t2] 100.0 42.1 0.0 35 30.3 24.1 0.0 0.0
4008t oAt 100.0 29.3 10.1 10.8 0.0 44.0 5.7 0.0
2025\ HeteEE Z/dT AIBIZRAL
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3 - 10. CIAE X3t 2of - (1) A £o}

(=4
(CH9 : %)
=0z NE-TRPN _ = L=l Il b=
o == 5 A HO WEAE 2E oreL
2 = 7] assh | odgs | SFC 0 | Rocg | % e | I
AlA AlA == ns Al
2|9l
2025 4 100.0 25.2 24.4 23.8 14.4 121 0.1
20234 100.0 26.5 22.4 30.0 11.7 8.7 0.6
<2 Qe
z = g 100.0 18.2 275 22.9 17.3 14.2 0.0
2 = g 100.0 29.8 18.8 36.6 10.6 4.0 0.3
N o2 - 100.0 31.0 23.1 19.9 15.5 10.1 0.4
Zzolay 100.0 31.4 23.3 20.5 8.5 16.2 0.0
<N g
Lt Zt 100.0 276 23.4 19.8 15.6 13.4 0.2
ol 2t 100.0 226 255 28.0 13.1 10.7 0.1
R
15~209A4 100.0 15.2 18.8 12.2 27.0 26.8 0.0
30~39A4l 100.0 18.0 17.4 15.9 30.0 18.7 0.0
40~49A 100.0 14.6 29.7 24.9 18.2 12.1 0.5
50~509 Al 100.0 27.3 235 23.3 11.4 14.6 0.0
60M O At 100.0 30.7 26.2 28.0 8.7 6.3 0.2
65M O At 100.0 31.4 27.0 286 7.7 5.1 0.2
-
z = o & 100.0 29.6 25.9 26.3 11.5 6.6 0.1
] = 100.0 26.6 25.6 23.9 12.4 11.4 0.1
o = o] A 100.0 18.0 21.3 20.5 20.0 19.9 0.2
(ZOISEIE>
o| s 100.0 17.8 18.7 14.1 25.3 24.1 0.0
HY S 2} Q1 2 100.0 26.3 25.2 24.9 12.8 10.5 0.2
Ad /o 100.0 29.3 27.9 30.6 7.8 4.4 0.0
(BAHESE
2 o 100.0 26.0 23.0 22.0 14.7 14.1 0.2
ADI D HpRIEE 100.0 23.8 26.8 26.7 13.8 8.8 0.1
(Y
e/ ng 100.0 145 28.2 21.3 135 22.4 0.0
At [=] 100.0 11.0 22.0 19.4 29.1 18.5 0.0
M H| A /T O} 100.0 18.0 27.1 22.7 17.6 14.2 0.4
= 2 of of 100.0 493 19.3 20.6 3.2 7.4 0.3
=] 100.0 28.9 22.9 21.3 14.0 12.9 0.0
2 ol 100.0 7.5 16.4 31.9 30.2 13.9 0.0
OtRLSE
1000t Ojot 100.0 30.1 28.0 31.3 8.4 2.2 0.0
100~2000t] 100.0 33.0 22.1 27.5 7.7 8.7 1.0
200~3008+2 100.0 22.3 238 26.8 15.3 11.7 0.0
300~4008t2] 100.0 233 26.2 16.4 15.8 18.2 0.0
4008t oAt 100.0 25.6 22.7 22.8 16.1 12.8 0.0
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3 - 10. CIAIY M2 2of - (2) A 7I&

[ =]

g8 =33 ')

s2 | A8l | 82| o |38 | 25 | 38 | am | -
=g | Aoz | S| e | on | au | EE | 28| 35 | e
2o | got | o | % | mop | mop | mop | EF| EH | E

20205 4| 1000 149 241 239 83 62 104 44 33 32 11 01
202 34| 1000 161 218 238 97 52 102 23 36 59 13 0.1
TR

Z =2 4| 1000 11.2 256 229 9.2 6.6 10.0 5.8 3.8 3.5 1.3 0.2
2 =2 A1 1000 191 19.6 26.1 4.8 53 15.2 1.2 4.0 3.7 0.9 0.0
N = | 1000 184 203 247 96 63 107 38 28 27 08 00
FzolaA| 1000 159 292 235 74 58 74 44 21 30 12 00
R,

=k At 100.0 16.0 23.6 240 9.1 5.8 9.5 5.0 25 3.1 1.1 0.2
ol | 1000 138 247 238 74 66 114 37 41 34 12 00
<o

15~29A | 1000 75 157 160 179 134 85 88 57 29 31 06
30~394 | 1000 68 226 201 110 53 154 78 50 46 14 00
40~49A | 1000 123 217 188 176 72 125 37 43 15 03 00
50~59A | 1000 131 236 218 67 84 118 55 46 37 07 00
60A O]A| 1000 198 274 288 3.7 3.4 8.9 23 1.5 3.3 0.9 0.0
654 oA 1000 196 278 304 36 29 87 20 14 30 07 00
S LR

Z Z O] 5| 100.0 191 26.2 283 6.6 3.7 8.5 2.2 1.9 2.9 0.6 0.0
il Z | 100.0 152 233 206 7.4 72 114 4.5 4.4 4.4 1.6 0.0
[ £ o] A [ 1000 96 225 219 114 82 11.7 6.9 3.7 25 1.4 0.3
AR

0| Z | 1000 102 174 195 122 103 10.2 8.2 6.1 3.2 23 0.4
Hi € A Q& | 1000 165 250 237 7.6 57 10.9 3.6 2.8 3.5 0.8 0.0
At & /o & | 1000 151 289 293 6.2 3.4 9.3 2.8 1.7 2.5 0.9 0.0
FHEED

2 of | 100.0 154 239 219 8.8 6.0 10.7 5.1 3.8 3.1 1.3 0.0
Abiglyprel | 100.0 141 246 273 7.5 6.6 10.0 3.2 24 3.4 0.8 0.2
<A Y

A 2 /3 g2 | 100.0 7.3 282 264 9.9 83 127 3.1 0.8 23 0.8 0.0
At S| 100.0 50 197 179 11.7 11.4 125 121 3.7 4.3 1.7 0.0
MU A/THOf | 1000 85 248 240 83 74 97 63 72 24 15 00
L 2 o of 1000 334 241 188 5.6 25 7.7 1.3 2.8 2.9 0.9 0.0
7| 5/ 2| 100.0 17.8 253 204 6.1 44 129 3.6 3.8 4.3 1.5 0.0
= ol | 100.0 77 1777 273 16.3 23 149 7.7 3.9 0.0 23 0.0
REESTX

1000k O[Tt | 1000 166 276 335 37 22 104 09 15 26 10 00
100~2009tgl || 100.0 183 304 277 5.5 4.5 6.9 2.8 0.6 2.5 0.9 0.0
200~3000tgd | 1000 168 212 213 51 72 108 55 75 32 13 00
300~4000te | 100.0 145 203 237 102 53 110 42 43 54 11 00
40082l ofAH | 1000 13,6 238 204 108 6.1 128 7.0 24 2.6 0.5 0.0
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3- 11 WHYM U5 WY - (1) SHHE &5 40
Q%)
= ZJ%PE{’ HEAF | =
22 | A |=mEy| v |ace| ae [T e sns | 58| TR | 7
AA| A0S =S
o
2025 4| 1000 78 330 01 62 51 123 196 09 150 00
20234| 1000 92 447 16 35 36 134 95 03 136 05
T ELE
= =l | 100.0 6.8 33.5 0.2 7.6 3.5 14.2 20.4 1.0 12.8 0.0
=2 =l | 100.0 8.9 43.6 0.3 53 2.3 4.4 23.4 0.5 11.4 0.0
4 = | 1000 98 248 02 38 113 126 187 03 184 00
2zoamy| 1000 67 336 00 66 30 139 157 15 190 00
R,
= At 100.0 8.8 31.1 0.1 7.2 6.4 14.4 221 0.5 9.4 0.0
o At 100.0 6.8 35.0 0.2 51 3.6 10.2 17.0 1.3 20.9 0.0
TR
15~29A | 1000 25 144 00 18 60 261 427 00 66 00
30~39A4 100.0 8.7 17.9 0.0 4.1 9.4 14.9 40.5 0.0 4.4 0.0
40~49A| 1000 42 195 00 43 88 216 363 00 52 00
50~59MA 100.0 11.2 28.3 0.0 7.3 7.5 19.9 16.9 0.4 8.4 0.0
60AM o4 100.0 8.6 453 0.3 7.7 2.2 3.3 7.2 1.6 239 0.0
65AM O A4 100.0 7.2 471 0.4 6.1 1.9 3.0 5.6 1.9 26.9 0.0
Core e
Z2 Z o] 3} 100.0 6.9 475 0.4 3.7 2.2 3.1 8.3 1.9 26.1 0.0
ini Z 100.0 8.5 29.4 0.0 10.0 51 10.2 25.0 0.5 11.3 0.0
I & o 4 100.0 8.3 18.0 0.0 5.4 8.7 26.4 28.6 0.0 4.6 0.0
CBOIAE
0| =z 100.0 4.0 20.5 0.0 1.0 4.9 23.7 38.2 0.0 7.7 0.0
oxoe| 1000 109 330 01 87 63 114 176 07 113 00
At /ol & 100.0 2.4 458 0.5 3.9 1.5 3.3 6.7 2.1 33.8 0.0
AHES
Z| o 100.0 9.0 28.3 0.1 7.3 6.4 14.8 22.6 0.3 11.2 0.0
AR Ol HPREE 100.0 59 40.7 0.3 4.4 2.8 8.2 14.8 1.8 21.2 0.0
EEEE
Ao/ 2;g| 1000 52 175 00 34 90 244 341 05 60 00
At = 100.0 14.4 16.7 0.0 0.0 7.5 26.1 33.0 0.0 2.3 0.0
MH|A/mof| 1000 93 320 00 72 48 135 230 00 101 00
L 2 o ¢ 100.0 12.7 33.7 0.3 12.7 2.3 7.1 12.7 0.5 18.0 0.0
s/ =8 100.0 6.2 38.8 0.0 9.8 8.2 7.3 12.4 0.0 17.3 0.0
= ol 100.0 0.0 12.9 0.0 2.5 16.4 26.9 41.3 0.0 0.0 0.0
GIRASE
j00mtel mjar | 1000 49 481 02 32 16 12 31 29 347 00
100~2000t! | 1000 67 465 05 59 43 24 160 04 173 00
200~300Ttel | 1000 7.2 348 00 68 57 220 133 07 95 00
300~4000tel | 1000 162 249 00 105 80 90 228 08 78 00
4002+ o|At 100.0 9.0 20.0 0.0 8.5 9.9 20.8 25.6 0.5 5.6 0.0
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3- 11 WHAM YS WA - (2) 24 HE &S 4
T %)
My,
2 ot HEAF =
2ooe | oA | 58| v |ane| ve |BE aeu| sns | 5E | Sie | 7
s
2025 4| 1000 20 221 10 39 93 161 150 28 2/8 0.1
20234 1000 70 183 14 28 84 152 151 12 299 07
Ao
= = 2 100.0 1.5 18.9 0.8 6.0 58 17.4 19.8 29 26.8 0.0
=2 = 2 100.0 1.7 43.6 3.1 4.3 4.1 4.1 8.5 3.4 27.3 0.0
A = = 100.0 2.8 10.9 0.6 0.0 22.5 17.6 11.4 2.0 31.9 0.3
2zolagy| 1000 23 272 04 32 46 208 129 31 254 00
R,
=k At 100.0 2.4 21.7 0.7 4.4 10.9 16.8 17.6 2.2 23.1 0.1
o At 100.0 1.5 22.4 1.3 3.3 7.6 15.4 12.2 3.5 32.8 0.0
R
15~29A| 1000 18 91 00 00 161 299 355 00 78 00
30~394 | 1000 00 184 00 41 81 264 278 00 152 00
40~49A 100.0 0.0 9.5 0.0 5,5 11.8 29.2 25.6 0.0 18.4 0.0
50~59A| 1000 20 187 00 58 108 220 183 40 185 00
60AM o4 100.0 2.8 30.3 2.1 3.6 6.6 5.4 3.8 4.3 40.9 0.1
65AM O A4 100.0 3.3 31.0 2.4 3.5 5.3 4.8 2.7 4.8 42.0 0.2
oo
Z2 Z o] 3} 100.0 1.9 29.7 2.1 2.8 6.0 5.7 51 4.5 421 0.0
ni = 100.0 29 21.8 0.3 4.0 11.9 16.6 17.2 29 221 0.2
I & o 4 100.0 1.0 12.5 0.3 51 10.9 28.8 25.2 0.5 15.6 0.0
(ZOIAEE>
0| =z 100.0 0.4 15.5 0.0 0.9 12.2 28.3 31.4 0.6 10.7 0.0
oxzoe| 1000 27 222 13 56 101 146 131 32 271 0.1
Abg /o =] 1000 12 283 14 16 40 80 37 41 478 00
BT S E
2 A 100.0 2.2 20.3 1.0 51 10.6 18.5 17.0 2.4 22.8 0.1
AR Ol HPREE 100.0 1.6 25.0 1.0 1.8 7.2 12.2 11.6 3.5 36.1 0.0
TR
Ao/ ma| 1000 07 156 00 42 58 277 271 05 184 00
At = 100.0 0.0 11.3 0.0 3.9 14.3 36.3 27.6 0.0 6.7 0.0
MH|A/mof | 1000 07 219 16 60 73 164 157 21 282 00
L 2 o ¢ 100.0 4.3 25.7 2.3 6.0 10.0 12.4 4.6 59 28.4 0.4
s/ =8 100.0 53 24.2 0.4 7.2 14.2 6.0 17.0 1.6 241 0.0
= ol 100.0 0.0 6.0 0.0 0.0 22.3 30.4 239 0.0 17.4 0.0
RIEPS=T"N
7000k Ot 1000 07 283 1.7 13 38 28 24 74 516 00
100~2000+L] 100.0 3.7 33.9 1.5 2.2 8.3 8.0 9.1 2.8 30.5 0.0
200~300atgd | 1000 32 218 10 20 127 166 196 14 219 00
300~4000tel | 1000 59 207 00 109 98 193 141 39 148 07
4000t oAt | 1000 08 145 06 51 131 211 238 18 192 00
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4 -1, ARZL S HAM(CHESH)
Tl 1 %)
.0 2434 7| ™ot
o Mool | asaz| @ |uomsy|T2 B3 yzon
TR A ey [BY R e | asen| zs | SR e | M
A 24t
E
2025 4 700.0 16.6 7.7 20.2 1.4 9.0 22.4 2.4 0.3
20234 100.0 20.8 20.3 19.8 9.1 6.3 16.5 7.1 =
Ao
= =l | 100.0 18.4 19.5 16.2 12.1 8.3 22.4 2.4 0.7
=2 = 2 100.0 14.2 14.8 24.6 9.3 10.8 21.9 4.3 0.0
4 = | 1000 168 141 265 102 69 248 0.6 0.0
Fzo2A| 1000 139 205 178 131 11.8 199 2.9 0.1
(N e
=k At 100.0 17.0 16.7 20.5 10.6 9.0 23.4 2.7 0.1
o At 100.0 16.1 18.7 19.9 12.3 9.1 21.3 2.1 0.5
LR
15~294 100.0 15.4 14.9 136 16.8 7.4 287 2.0 1.2
30~39A 100.0 19.1 17.0 11.8 12.7 8.9 30.2 0.4 0.0
40~49A| 1000 17.3 155 19.2 126 86 25.5 0.7 0.7
50~59M4A 100.0 16.4 15.8 259 9.7 8.3 21.4 2.1 0.3
60AM o4 100.0 16.3 19.8 215 10.2 9.8 19.0 3.4 0.0
65AM Of A4t 100.0 14.7 20.4 21.4 10.8 9.8 19.4 3.4 0.1
Cof e
Z2 Z o] 3} 100.0 16.8 20.2 22.0 9.8 9.9 18.6 2.5 0.1
ni = 100.0 141 18.9 20.3 11.5 8.0 24.0 2.9 0.4
h = o A 1000 187 134 178 134 9.0 254 16 0.6
CBQIAE )
] = 100.0 16.2 16.6 14.2 13.2 10.0 27.4 1.7 0.7
Hf @ A U S 100.0 16.5 17.3 22.6 11.8 8.1 21.3 2.3 0.2
AtE /ol & 100.0 17.2 20.2 19.2 8.6 10.7 20.5 3.2 0.3
GBS
Z| o 100.0 16.9 16.9 20.1 11.7 9.1 22.8 2.3 0.2
AR Ol HPREE 100.0 16.0 19.0 20.3 11.0 8.9 21.7 2.5 0.5
CH Y
A /@a| 1000 167 114 214 152 54 281 1.8 0.0
A a| 1000 187 185 188 98 144 189 0.8 0.0
MHA/TrOy| 1000 171 19.1 169  14.1 85 215 2.1 0.7
= 2 of 9| 1000 127 180 273 100 110 185 2.4 0.0
s/ =8 100.0 18.2 16.6 18.2 8.9 6.7 271 4.1 0.2
= 0l 100.0 29.1 11.0 11.0 13.3 8.1 275 0.0 0.0
OlRASE)
1009k mjat | 1000 17.3 20 22.4 9.1 110 171 2.8 0.1
100~2000t | 100.0 14.8 18.1 234 12.8 58 222 2.4 0.5
200~3000tH 100.0 19.4 187 173 9.6 133 19.7 1.9 0.0
300~400%+d 100.0 15.6 15.7 22.4 15.2 6.6 21.8 2.6 0.0
4000k9J OjAH| 1000 201 129 196 9.7 103 235 35 0.4
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(Tt = %)
. sy [NEBEM| ewe | Ay |MemEA
22 | oA | 2208 | saiw (RAELS ] AW o | odSa | 7
sxigal | 2200 [Aaenal axel | agms | a4
B e | e | zE | A

2025 4 700.0 26.2 7.0 8.3 7.4 129 8.1 0.1
(Ao
2 5 = 100.0 25.9 15.7 17.0 18.9 13.4 9.2 0.0
2 g 3 100.0 15.3 147 246 19.4 14.9 11.1 0.0
N o2 2 100.0 315 159 18.9 146 12.8 6.0 0.3
Fzo 2z 100.0 29.5 233 15.7 15.7 10.1 5.7 0.0
Koy
=k At 100.0 26.9 18.4 17.4 16.9 11.6 8.6 0.1
o At 100.0 25.4 155 19.3 17.9 14.2 7.6 0.0
TR
15~2094 100.0 296 178 9.7 20.1 16.4 6.4 0.0
30~394 100.0 241 16.7 18.8 11.1 1238 159 0.7
40~49A 100.0 27.4 175 16.4 17.1 14.9 6.6 0.0
50~509 A 100.0 263 176 17.5 19.3 12.7 6.7 0.0
60AM oOf4 100.0 25.3 16.5 21.4 17.3 11.5 8.0 0.0
654 O A 100.0 257 16.4 21.0 17.6 11.6 7.7 0.0
Cofe e
= = of 3 100.0 251 158 21.0 18.3 125 7.2 0.0
i = 100.0 25.4 15.7 18.7 17.7 13.5 9.0 0.0
0 = o A 100.0 28.2 197 14.9 16.0 126 8.3 0.2
EoNEE
0| =z 100.0 26.1 17.3 12.5 19.4 15.3 9.4 0.0
b S 2t Q2 100.0 26.6 17.0 19.3 16.3 12.4 8.4 0.1
A& /O & 100.0 25.0 16.9 21.9 18.7 11.6 59 0.0
BN
2 A 100.0 25.9 179 17.5 16.6 13.5 8.5 0.1
AR Ol HPREE 100.0 26.7 15.4 19.9 18.8 11.8 7.5 0.0
Cag e
Y 100.0 27.0 240 16.1 16.4 10.7 58 0.0
At = 100.0 23.6 17.3 16.9 18.4 17.3 6.6 0.0
A H| A/ THOf 100.0 2556 19.1 16.0 143 14.4 10.7 0.0
L 2 of of 100.0 24.9 17.4 21.0 16.5 1.7 8.6 0.0
s /Lo 100.0 29.4 135 16.2 188 145 7.7 0.0
= 0l 100.0 23.2 16.8 21.9 13.5 12.0 10.5 2.1
OlRLEW
1008t Ojat 100.0 21.4 130 239 213 118 8.7 0.0
100~2008+ 100.0 255 17.9 233 15.8 9.5 8.1 0.0
200~3008H 100.0 18.9 16.4 24.4 21.2 11.2 8.0 0.0
300~4008H 100.0 285 209 13.4 14.9 12.0 9.5 0.7
4000+S] O] A} 100.0 29.0 195 16.2 16.2 106 8.4 0.0
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4-3 WEDSHE BIE - (1) ol of% Y BIE
o %)
2] T p-3Je:ke;
SR B T -t i)
@z | oo | oz | 285 |=us| o | g
oz | o 20i% | g0z
2025 9| 1000 208 1000 469 175 294 461 70 55 15 792
20234 1000 171 1000 376 132 244 567 57 29 28 829
TEEE
=z =2 3 100.0 219 100.0 44.3 18.4 26.0 48.7 7.0 7.0 0.0 78.1
2 =2 i 100.0 21.1  100.0 52.2 22.2 299 39.6 8.2 1.2 7.0 78.9
N 2 #H 100.0 209 100.0 44.0 16.7 27.3 47.3 8.7 6.6 2.0 79.1
mzo2m| 1000 173 1000 548 109 438 421 32 32 00 827
N TN
= At 100.0 16.4 100.0 45,9 17.0 29.0 50.9 3.2 3.2 0.0 83.6
o At 100.0 253 100.0 47.6 17.8 29.7 42.8 9.6 7.1 2.6 74.7
TEEE
15~294 | 1000 159 1000 227 00 227 663 1.0 110 00 841
30~39A4 100.0 20.1 100.0 447 21.5 23.1 38.4 17.0 4.5 12.4 79.9
40~49K| 1000 266 1000 557 197 360 355 88 88 00 734
50~59A| 1000 252 1000 403 87 316 527 70 49 21 748
60AM oOf4 100.0 189 100.0 52.8 241 28.7 43.5 3.7 3.7 0.0 81.1
65AM O A4 100.0 18.2 100.0 55.9 29.2 26.7 40.7 3.4 3.4 0.0 81.8
TLEEE
Z2 Z o] 3} 100.0 15.8 100.0 46.5 24.3 22.2 42.0 11.5 6.3 5.2 84.2
i Z 100.0 21.8 100.0 39.1 11.4 27.7 58.5 2.4 2.4 0.0 78.2
I & o 4 100.0 26.0 100.0 54.0 17.4 36.6 38.5 7.5 7.5 0.0 74.0
EOI BN
0| =z 100.0 16.0 100.0 26.8 2.9 239 60.1 13.1 6.5 6.7 84.0
Bl o9 e| 1000 241 1000 500 181 319 446 54 54 00 759
At /ol & 100.0 15,5 100.0 53.9 30.0 239 38.0 8.1 4.8 3.3 84.5
FHBED
Z| o 100.0 23.3 100.0 48.5 15.2 33.3 43.5 7.9 6.4 1.5 76.7
AR Ol HPREE 100.0 16.6  100.0 431 22.7 20.5 52.0 4.9 3.3 1.6 83.4
EEEE
A2 /e | 1000 202 1000 515 198 317 431 54 54 00 798
At = 100.0 296 100.0 40.4 10.5 299 38.8 20.8 11.7 9.1 70.4
MH|A/TtOf| 1000 271 1000 497 118 379 432 714 71 00 729
L a2 o o 100.0 245 100.0 54.2 17.2 37.0 45.8 0.0 0.0 0.0 75.5
s/ =8 100.0 15.7 100.0 45.6 17.3 28.2 36.8 17.7 17.7 0.0 84.3
= ol 100.0 32.8 100.0 42.3 21.2 21.0 57.7 0.0 0.0 0.0 67.2
T
1000te gjat | 1000 129 100.0 452 386 66 477 71 71 00 871
100~2008¢gl | 1000 146 1000 582 170 413 418 00 00 00 854
200~3000tgd | 1000 297 1000 482 158 324 427 92 92 00 703
300~4008+2] 100.0 10.1  100.0 36.1 5.2 30.8 52.3 11.6 11.6 0.0 89.9
4002+ o|At 100.0 255 100.0 46.1 19.9 26.2 51.4 2.5 2.5 0.0 74.5
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m2oa ]
2 & A |MEIETR| aws | FOUg (FEENUE e
25 Sh oz 2 8= =

2025 700.0 52.1 355 82 4.2 0.0
20234 100.0 34.8 29.4 20.8 52 9.7
T EEE

= = A 100.0 60.7 30.3 0.0 9.1 0.0
2 = 100.0 14.8 85.2 0.0 0.0 0.0
AN o= A 100.0 72.3 0.0 277 0.0 0.0
B zo 2z 100.0 0.0 100.0 0.0 0.0 0.0
Koy

o 2t 100.0 4.4 35.4 0.0 231 0.0
o At 100.0 545 355 10.0 0.0 0.0
TELR

15~2094 100.0 100.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.0 73.2 26.8 0.0 0.0
40~49A 100.0 75.0 25.0 0.0 0.0 0.0
50~59M4A 100.0 30.2 69.8 0.0 0.0 0.0
60AM o4 100.0 70.6 0.0 11.5 17.9 0.0
65AM oOfA4 100.0 56.7 0.0 16.9 26.4 0.0
TELR

Z2 Z o] 3} 100.0 353 50.3 56 8.8 0.0
i = 100.0 100.0 0.0 0.0 0.0 0.0
I & o 4 100.0 58.9 27.6 13.5 0.0 0.0
o

0| = 100.0 49.3 50.7 0.0 0.0 0.0
by S 2t Q2 100.0 43.7 38.2 10.2 7.9 0.0
At /ol & 100.0 83.9 0.0 16.1 0.0 0.0
NS

3 o 100.0 48.1 44.9 6.9 0.0 0.0
ADI QI HPREE 100.0 67.1 0.0 128 20.1 0.0
TEEE

A2/ 100.0 0.0 100.0 0.0 0.0 0.0
At = 100.0 425 575 0.0 0.0 0.0
A H| A /T of 100.0 241 47.9 27.9 0.0 0.0
w2 o of 0.0 0.0 0.0 0.0 0.0 0.0
s/ =8 100.0 100.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0
GRS

1008t T|at 100.0 27.1 0.0 28.4 445 0.0
100~2002+] 0.0 0.0 0.0 0.0 0.0 0.0
200~3008+) 100.0 100.0 0.0 0.0 0.0 0.0
300~400%+d 100.0 100.0 0.0 0.0 0.0 0.0
4000+S) O] A} 100.0 0.0 100.0 0.0 0.0 0.0
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4- 3. WHDSHE VRE - (3) Y olf
(Tt = %)
gosin | myas
28 | A | azes | pyes (MRS RSN RS | S
ge | e=as
2025 700.0 28.4 45.1 7.2 0.4 7.9 7.0
20234 100.0 17.1 50.0 7.5 0.8 7.4 17.2
(Ao
=z =2 3 100.0 35.4 453 45 0.5 6.2 8.1
2 = 3 100.0 26.0 56.2 10.9 1.1 1.0 49
AN o= A 100.0 22.8 439 58 0.0 141 133
B zo 2z 100.0 20.7 37.0 12.4 0.0 9.8 20.1
Koy
n 2t 100.0 314 446 5.2 0.3 8.3 10.0
of 2t 100.0 247 456 9.5 0.4 7.5 1222
TR
15~2094 100.0 325 41.7 42 0.0 6.6 15.1
30~39A4 100.0 46.8 34.6 8.3 0.0 3.9 6.4
40~49A 100.0 40.8 35.1 2.6 0.8 16.2 45
50~59M4A 100.0 42.7 38.7 3.8 0.0 8.6 6.1
60AM o4 100.0 16.2 52.2 10.0 0.6 7.0 14.0
654 O A 100.0 11.8 53.4 11.2 0.8 7.4 15.5
Cofe e
Z2 Z o] 3} 100.0 16.4 52.6 8.9 0.6 6.7 14.7
il Z 100.0 33.9 42.0 8.5 0.5 6.1 9.0
I & o 4 100.0 39.7 374 34 0.0 11.7 7.9
EoIAEE>
0| =z 100.0 314 43.6 6.1 0.6 7.3 11.0
Hf @ A U S 100.0 33.2 42 1 6.1 0.3 8.8 9.4
A& /O & 100.0 12.0 54.8 11.3 0.2 6.2 15.6
BN
Z| %) 100.0 38.3 39.3 4.8 0.5 7.3 9.9
AR Ol HPREE 100.0 13.4 53.7 10.9 0.2 9.0 12.8
Cag e
A2/ 100.0 40.6 38.0 6.6 0.0 6.9 7.8
At = 100.0 29.8 53.1 47 1.2 55 5.7
A H| A/ THOf 100.0 53.9 313 11 0.0 6.4 7.3
w2 of of 100.0 24.2 47.2 9.5 0.4 6.4 12.2
s/ =8 100.0 42.0 35.3 4.0 1.3 5.0 12.3
= ol 100.0 33.2 26.7 0.0 0.0 31.2 8.9
OlRLEW
1008kl Ojat 100.0 48 57.2 128 14 45 19.2
100~2008+) 100.0 147 57.9 7.3 0.0 9.0 111
200~3008H 100.0 31.8 42.1 10.4 0.0 8.5 7.2
300~4002t 100.0 38.9 37.6 55 0.0 11.3 6.7
4000+S) O] A} 100.0 46.4 338 14 0.0 9.3 9.0
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4 - 4 GHREHE MSE

(T2l %)
2w | a4 |2zEe|ezay TS soew agas | SR
23 ms | A |t [4e Al |es | O
=R A=y

2025 4 700.0 171 3 47 26.1 328 75 05
2023 4 100.0 16.6 8.3 4.0 28.1 341 6.7 2.2
TEEE
= = 100.0 16.1 14.4 4.5 27.1 30.2 7.1 0.6
2 = g 100.0 15.4 9.7 4.7 23.7 386 7.8 0.0
N o= 2 100.0 23.7 7.8 4.8 24.0 33.4 5.8 0.6
B zol 3 100.0 12.0 9.7 4.9 28.2 337 10.8 0.7
(N e
= At 100.0 20.4 11.8 1.8 22.4 35.7 7.6 0.3
o At 100.0 13.6 10.8 7.6 29.9 29.8 7.5 0.7
TEER
15~294 100.0 456 9.0 18 276 9.3 6.7 0.0
30~39A4 100.0 31.3 22.3 0.9 33.2 9.5 2.8 0.0
40~49A 100.0 289 118 0.5 27.4 217 8.1 15
50~59MA 100.0 14.9 15.2 0.5 31.9 25.3 12.3 0.0
60AM o4 100.0 55 8.3 8.7 21.9 48.4 6.6 0.6
65AM oOfA4 100.0 3.5 6.3 10.7 21.2 51.9 6.0 0.5
(ot
Z2 Z o] 3} 100.0 6.5 47 11.0 21.9 494 5.7 0.8
il Z 100.0 25.2 12.0 1.1 25.0 27.9 8.8 0.0
I & o 4 100.0 22.3 19.2 0.3 32.4 16.7 8.6 0.6
N>
0| =z 100.0 39.0 14.6 0.5 24.6 14.3 7.0 0.0
by © 2t 9 S 100.0 12,6 12,5 3.4 29.3 32.4 9.2 0.6
A /o s 100.0 8.1 43 13.0 17.7 53.2 3.2 0.5
GBS
Z| %) 100.0 16.6 12.4 2.1 29.0 30.7 8.8 0.5
AR Ol HPREE 100.0 17.9 9.6 8.9 21.3 36.3 55 0.4
TR
A8/ 100.0 14.2 22.7 0.0 36.2 188 8.1 0.0
At = 100.0 22.9 19.7 0.0 27.4 16.6 12.5 0.8
M H| A /Tt Of 100.0 145 116 1.4 36.3 27.9 8.3 0.0
L a2 o o 100.0 7.2 6.2 34 26.1 455 10.6 1.0
s/ =8 100.0 15.9 7.2 5.7 27.0 37.0 6.1 1.1
= ol 100.0 45.8 17.0 0.0 13.9 17.4 6.0 0.0
OtresE
1008k O|ot 100.0 6.6 30 16.2 16.0 54.9 3.0 0.3
100~2002t=d 100.0 12.0 5.0 2.9 18.8 53.3 7.2 0.8
200~3000tH 100.0 141 135 31 222 392 78 0.0
300~4002t 100.0 16.3 16.6 1.4 241 33.7 5.7 2.2
40028l o[ A} 100.0 14.0 176 0.0 30.4 273 10.7 0.0
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~ |ox oe ] ] yorg- | Hau
2 = 2 RSB | Lo oa | BAUS | Rools | QMsl (A= AW
A oo | IS O | TS | ZRI [ oixg
=o %3t T2

2025 4 100.0 6.4 20.8 10.5 19.4 29.3 136 0.0
20234 100.0 14.9 19.9 9.7 16.3 22.7 14.7 1.7
<A 9 g

=z =2 3 100.0 6.4 22.7 8.5 18.8 30.3 13.3 0.0
2 =2 7 100.0 6.7 12.3 22.1 18.9 31.6 8.4 0.0
N =2 HA 100.0 7.1 18.9 7.1 20.9 27.9 18.1 0.0
ZFzoa 100.0 4.8 26.2 10.4 19.6 26.4 12.6 0.0
<A =Y

= At 100.0 5.3 20.6 11.5 20.6 28.0 14.0 0.0
o At 100.0 7.5 211 9.5 18.2 30.5 13.2 0.0
<oy g

15~29A 100.0 1.1 19.9 10.5 26.0 22.9 19.6 0.0
30~39A4 100.0 10.2 189 8.0 15.0 33.6 14.3 0.0
40~49A 100.0 7.6 36.1 10.8 14.7 20.1 10.7 0.0
50~59M4A 100.0 2.6 24.0 11.2 19.7 26.7 15.8 0.0
60AM o4 100.0 8.1 16.5 10.6 19.6 33.2 11.9 0.0
65AM oOfA4 100.0 79 15.8 11.2 17.0 36.3 11.8 0.0
==

Z2 Z o] 3} 100.0 8.9 16.7 9.7 17.9 33.3 13.5 0.0
ni = 100.0 2.8 18.8 141 19.7 32.6 12.0 0.0
tf £ o At 100.0 6.8 28.3 7.8 21.1 20.6 15.4 0.0
CZOIAENE

0| =z 100.0 2.7 20.6 9.6 241 25.9 171 0.0
B © 2t Q! & 100.0 6.2 22.4 10.6 18.8 28.4 13.6 0.0
At & /o & 100.0 10.5 16.2 11.2 16.6 35.4 10.0 0.0
(AAHZSE

Z| %) 100.0 58 239 10.6 20.0 26.6 13.1 0.0
AR Ol HPREE 100.0 7.4 15.8 10.4 18.4 33.5 14.5 0.0
<2 g

A2/ e 100.0 7.0 35.3 12.3 16.7 19.3 9.4 0.0
At = 100.0 3.9 325 9.9 22.6 221 8.9 0.0
A H| A /Tt oOf 100.0 6.0 21.0 11.4 16.5 29.9 15.2 0.0
= 2 of o 100.0 4.4 17.0 11.2 23.2 29.1 15.2 0.0
s/ 2 100.0 7.9 21.2 9.0 17.2 35.1 9.7 0.0
= ol 100.0 9.4 31.0 3.5 26.8 13.0 16.3 0.0
tPASE

1009+l Ojat 100.0 11.0 10.2 16.1 14.0 39.3 9.5 0.0
100~2008t2 100.0 8.4 21.9 11.5 17.1 25.8 15.2 0.0
200~3009+H 100.0 4.5 25.4 8.2 27.1 24.7 10.1 0.0
300~4009+8] 100.0 59 23.2 15.0 18.7 19.9 17.3 0.0
4000+l OfAt 100.0 5.0 25.8 10.4 20.5 28.9 9.4 0.0
2025\ HeteEE Z/dT AIBIZRAL
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(Er9] : %)
Hra 747t Z-IA|7-I7I-/ %E%F
Fooog | A [olwEs | awsy | eas | CR0C9NES| we | we | e
= S| EAAY

2025 4 100.0 26.8 125 179 153 185 27 2138 0.6
20234 100.0 326 14.4 1.8 14.9 15.8 42 15.7 0.6
CAL g &5
z = g 100.0 26.1 11.4 1.3 14.7 21.9 20 21.7 1.1
2 = g 100.0 223 132 2.0 205 16.9 47 20.4 0.0
N =2 2 100.0 27.7 12.3 2.3 13.8 15.8 32 24.9 0.0
Zzolay 100.0 31.0 15.2 2.7 14.3 14.9 2.2 189 0.8
=
Lt 2t 1000 27.8 14.7 1.5 15.0 16.2 19 221 0.9
o 2t 1000 25.6 10.2 2.3 15.6 20.9 36 21.4 0.3
(A
15~29A 100.0 305 17.3 1.8 5.2 3.4 19 36.6 3.4
30~39A 100.0 345 14.4 5.9 8.4 6.9 0.0 29.1 0.7
40~49A 100.0 31.0 15.2 5.3 11.0 10.1 1.0 26.3 0.0
50~59 Al 100.0 29.1 15.4 0.4 14.6 16.0 1.7 2238 0.0
60AM Ol A| 1000 225 9.2 0.9 20.2 27.3 42 15.3 0.3
654 O/ A| 1000 21.8 8.2 0.7 2238 27.3 5.1 13.8 0.4
-
z Z o 8| 100.0 23.9 8.1 1.1 21.0 24.0 5.2 16.3 0.3
Il = 100.0 245 14.7 2.4 115 16.4 0.5 2838 1.2
f 2 o A 1000 327 15.9 2.2 11.8 136 1.8 215 0.4
(ZQIAYER )
i k3 100.0 303 16.8 2.7 6.8 6.7 19 325 2.3
Hi 2 29 S 100.0 275 13.4 1.4 13.9 21.7 2.0 19.9 0.2
Ae /ol & 100.0 21.0 5.4 2.5 28.1 20.9 5.7 16.5 0.0
(BAESE
2 o 100.0 26.6 14.8 2.3 133 17.8 2.2 2238 0.1
ADI D HpRIEE 100.0 27.0 8.7 1.1 185 19.6 36 20.0 1.5
(Y
Mo /e 100.0 32.1 125 2.3 126 13.9 49 217 0.0
n =] 100.0 31.0 18.9 0.8 10.9 7.3 0.0 311 0.0
M H| A /THOj 100.0 24.8 15.9 2.0 135 2338 0.7 19.2 0.0
= 2 o of 100.0 20.0 12.6 5.2 16.3 24.1 5.0 16.9 0.0
N /e m 100.0 242 12.6 0.0 15.1 17.9 0.8 2838 0.6
2 ol 100.0 432 24.0 0.0 6.0 0.0 0.0 26.8 0.0
OttasE
1000k Oj@t|  100.0 20.9 6.8 1.5 26.4 23.0 6.6 14.8 0.0
100~2008+) 100.0 25.6 11.4 0.0 18.1 15.2 4.0 25.7 0.0
200~3008+2 100.0 21.3 16.7 3.4 14.1 22.9 23 18.7 0.6
300~4000+2 100.0 25.0 14.7 3.1 123 17.9 37 226 0.7
4008tel ofAt | 100.0 31.8 16.6 2.3 125 14.0 09 217 0.3
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4-7 L= By

(59 : %)
VIS |y gy < _
=9l o= | H AR |92 ° voigz||wo =& oty
T 2 Al Yakg| [ MHA | Y Id:gq;lil M;g% M“HIE;’ Hz2g [ 7IE
Als As [Z21H e = A Y2t
i ©

2025 4 100.0 20.5 25.7 14.4 7.8 6.3 133 11.7 0.2
202 34 100.0 19.1 27.4 21.0 5.1 8.6 96 8.9 0.2
CA 9 g
z2 =2 100.0 18.7 26.9 12.1 9.2 5.6 14.1 13.1 0.4
g =2 Y 100.0 17.7 22.3 15.9 45 85 18.4 12.7 0.0
N o= A 100.0 17.4 28.7 13.6 8.4 8.7 10.6 126 0.0
=0l 100.0 32.0 21.4 20.3 6.5 3.2 10.5 5.9 0.0
& D
Lt 2f 100.0 21.3 25.5 12.7 9.3 6.2 13.1 11.7 0.2
of 2f 100.0 19.8 25.9 16.3 6.3 6.5 135 11.6 0.1
< HE)
15~294 100.0 22.3 27.6 6.0 12.7 6.1 11.2 14.2 0.0
30~394 100.0 11.7 33.2 24.9 8.8 7.0 76 6.9 0.0
40~49A 100.0 21.6 30.4 13.7 6.7 1.9 9.9 14.7 1.0
50~59 A 100.0 21.6 22.3 15.3 11.2 6.2 139 9.4 0.0
60A O A 100.0 21.0 24.1 14.5 5.4 7.4 15.4 12.0 0.1
65K O A 100.0 20.5 24.8 13.0 48 7.7 17.0 12.1 0.2
= I
z = o 3 100.0 18.1 27.0 12.9 3.4 9.0 15.9 135 0.2
nl = 100.0 24.6 236 13.2 11.0 5.4 11.6 10.5 0.0
I & of A 100.0 19.4 26.3 17.6 10.2 39 11.7 10.5 0.4
(ZOIGENES
o] o3 100.0 17.2 28.1 10.3 12.3 5.4 133 13.3 0.0
Hi © 2t 9l & 100.0 22.8 24.3 15.6 7.6 6.2 11.9 11.4 0.2
A" /o & 100.0 16.9 27.6 15.1 4.1 7.7 17.4 10.8 0.3
(BAHZEEE
ES of 100.0 21.5 25.6 14.8 8.0 5.9 11.7 12.2 0.3
ADY QI HPRBES 100.0 18.9 25.9 13.8 7.6 7.1 16.0 10.8 0.0
CA A EHD
A2 /g 100.0 22.1 26.4 18.7 6.1 35 14.4 8.7 0.0
At =] 100.0 12.9 28.4 12.9 13.3 55 9.7 15.9 1.4
A H| A/ THOK 100.0 20.5 27.3 14.2 5.7 6.5 11.8 14.0 0.0
= 2 of o 100.0 215 24.6 14.9 8.4 4.4 13.7 12.0 0.4
s/ B2 100.0 26.6 21.3 12.8 7.3 7.1 8.9 16.0 0.0
2 ol 100.0 27.4 27.9 18.9 6.9 12.9 6.0 0.0 0.0
OtHAE5E
1008+ Ojat 100.0 18.7 27.5 12.6 1.8 85 19.0 11.4 0.4
100~2008+ 100.0 27.1 17.7 11.0 7.1 6.4 15.4 15.2 0.0
200~3000t) 100.0 17.4 28.8 12.7 8.9 7.1 9.4 15.7 0.0
300~4009tY 100.0 19.7 22.6 19.7 6.7 3.4 16.7 11.1 0.0
4008+ OfAF 100.0 22.7 21.4 15.8 9.7 7.4 10.6 11.7 0.8
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o O
T %)
2 . o |2 e suaa (eopere| BRI I | mume | L
oy | =4 | %A o a2
e | =z

2025 4 700.0 23.0 14.7 29.8 16.7 8.3 73 0.2
20234 100.0 22.1 14.4 31.5 15.5 7.9 8.2 0.4
Ao
= = 2 100.0 239 16.6 31.9 13.3 6.5 7.5 0.3
=2 = 2 100.0 25.6 15.6 29.5 15.8 9.5 3.9 0.1
N =2 3 100.0 25.6 11.3 26.7 19.1 9.1 7.9 0.2
ZFzo Yy 100.0 15.2 13.6 29.1 22.5 10.3 9.1 0.1
<M ==
=k At 100.0 23.4 13.6 28.6 17.2 8.5 8.6 0.2
o At 100.0 225 15.9 31.2 16.1 8.0 6.0 0.2
Co e
15~29 Al 100.0 22.1 10.7 29.7 21.8 6.1 9.0 0.6
30~39A 100.0 25.6 11.4 25.0 18.6 7.7 11.8 0.0
40~49A 100.0 19.1 13.5 27.9 229 8.1 8.6 0.0
50~59M4A 100.0 22.1 18.4 27.0 18.5 7.5 6.3 0.2
60AM o4 100.0 24.0 15.2 32.4 12.8 9.3 6.2 0.2
65AM oOfA4 100.0 23.3 15.6 31.7 12.3 9.9 6.9 0.2
SR
Z2 Z o] 3} 100.0 25.0 14.8 32.1 141 8.0 59 0.2
ni = 100.0 24.0 15.7 30.1 16.5 8.4 4.8 0.5
I & o 4 100.0 19.4 13.6 26.9 20.0 8.5 11.6 0.0
(ZOIAEE>
0| =z 100.0 21.3 13.9 29.0 19.0 71 9.1 0.6
i © 2 Q2 100.0 23.7 14.8 28.3 17.2 8.7 7.2 0.0
AHE /O T 100.0 22.4 15.2 35.6 12.5 8.0 5.8 0.4
BT S
Z| o 100.0 22.7 14.0 28.6 17.3 8.6 8.6 0.2
AR Ol HPREE 100.0 23.4 15.9 32.0 15.7 7.7 52 0.1
TR
He /e 100.0 22.2 10.7 27.6 25.8 6.0 7.8 0.0
A a 100.0 22.1 11.9 29.7 12.8 9.8 13.8 0.0
M H|A /T 100.0 23.2 17.9 29.8 13.1 7.0 8.9 0.0
v 2 of o 100.0 20.9 14.3 28.6 17.3 11.1 7.2 0.6
s/ =8 100.0 247 16.7 289 15.5 9.4 4.9 0.0
= 0l 100.0 20.5 53 20.1 27.3 9.6 14.9 2.3
RIEPS=T"N
1008kl Tjat 100.0 236 16.6 35.1 11.3 7.1 59 0.4
100~2008+ 100.0 227 10.0 303 16.1 11.4 8.4 1.2
200~3000tS) 100.0 23.6 16.3 27.3 12.0 9.6 11.2 0.0
300~400%+d 100.0 20.7 10.6 29.6 19.6 12.6 6.9 0.0
4009 O| A} 100.0 22.9 13.2 29.5 18.3 6.6 9.3 0.3
2025@ Metde HdT ABIRAL
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4 -9 7IHEl=

A

A (T3S §)

StE 7t 2T WAL
Oiox.llo :E:-,?;q. SUME | o gorz | anza | =52
T 2 A | grn |swagz| SHES TS TZRT | BE | 7E

urziol | amas | AAE e e o

AFg& | &8st Ar2i5
2025 4 700.0 381 296 9.4 1.2 38 7.7 03
20234 100.0 40.5 32.2 4.4 12.1 3.7 6.5 0.6
CAL 9 g5
= = 3 100.0 411 29.4 12.0 9.3 16 6.2 0.5
2 = 3 100.0 28.5 34.0 11.5 12.3 3.0 10.7 0.1
N 2 #H 100.0 39.9 26.6 5.8 12.0 9.8 5.5 0.3
Bzolaz 100.0 37.0 30.1 6.0 136 2.2 1.2 0.0
T
=k At 100.0 38.7 30.1 8.6 11.9 3.4 7.1 0.2
o At 100.0 37.4 29.0 10.4 10.3 4.2 8.3 0.4
g g 8
15~29A| 100.0 473 254 6.0 7.2 7.7 59 0.6
30~39A 100.0 35.7 338 11.2 7.7 4.5 6.6 0.5
40~49 K 100.0 36.6 322 73 13.8 4.9 5.0 0.3
50~59M4A 100.0 33.6 28.8 12.4 12.6 3.4 8.8 0.3
60AM o4 100.0 38.3 295 9.3 11.6 2.6 8.5 0.2
65AM oOfA4 100.0 39.3 295 8.6 10.7 2.3 9.6 0.1
<o EEH
=z = o 3 100.0 40.7 29.0 8.4 10.9 2.4 8.4 0.2
i Z 100.0 36.0 31.0 98 12.2 4.3 6.4 0.3
0 = of A 100.0 37.0 28.9 10.2 10.4 4.9 8.1 0.5
(ZASENES
0| =z 100.0 43.6 27.7 9.7 8.8 3.6 6.3 0.4
b © 2t 9l & 100.0 36.2 29.7 9.6 138 4.4 8.0 0.3
AHY /ol & 100.0 37.9 31.2 8.7 1.7 2.2 8.1 0.1
(BAEEE>
Z| o 100.0 37.0 30.4 8.8 11.8 4.2 7.6 0.3
AR Ol HPREE 100.0 39.9 28.3 10.5 10.1 3.1 7.7 0.3
CA Y gD
A2/ 100.0 339 32.4 5.8 175 2.4 7.9 0.0
At = 100.0 40.8 30.5 8.1 5.8 6.0 7.9 0.9
A H| A /THOf 100.0 37.8 30.3 125 9.7 1.4 8.2 0.2
= 2 o ¢ 100.0 36.7 311 7.2 11.1 5.0 8.5 0.4
s/ =8 100.0 34.7 30.4 11.7 14.8 2.8 5.6 0.0
= ol 100.0 38.1 27.0 4.2 14.5 14.7 1.5 0.0
tHA5E
1008+el O|at 100.0 38,0 30.1 9.7 12.2 16 8.3 0.1
100~2002t=d 100.0 38.0 279 98 12.5 3.1 8.6 0.0
200~3000+] 100.0 384 27.8 116 9.3 5.8 6.6 0.6
300~4008tS) 100.0 37.8 325 8.2 12.7 28 5.4 0.7
40038 OfA 100.0 336 31.2 8.3 16.7 4.0 6.1 0.0
2025 HetdE /8T ARIRAL
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4 - 10, RSA UZE - (1) H=F

: %)

T = Al = OH% oFt 23 == Zt Oi%
ohE | s & Z

2025 4 100.0 32.0 10.9 21.1 46.5 215 15.9 5.6
20234 100.0 27.5 10.1 17.3 47.4 251 19.3 5.8
CAL 9 g5
= = A 100.0 32.1 13.3 18.8 46.5 21.4 16.5 4.9
2 = 3 100.0 43.7 10.7 33.0 46.7 9.5 6.8 2.7
N =2 oA 100.0 26.1 8.4 17.6 46.5 27.4 215 5.9
=0l a3 100.0 29.7 8.0 21.7 46.4 23.9 14.7 9.2
<A oD
=k At 100.0 328 10.2 22.5 44.0 23.2 16.4 6.8
of 2t 100.0 31.1 115 19.6 49.1 19.7 15.4 43
@
15~29A 100.0 24.0 5.1 18.9 51.6 24.4 15.3 9.1
30~39A 100.0 26.8 4.9 22.0 42.2 30.9 22.9 8.1
40~49A 100.0 24.8 9.4 15.4 418 33.3 22,5 10.8
50~59M4A 100.0 31.3 10.4 20.8 46.5 22.3 16.4 5.8
60AM o4 100.0 36.8 13.9 23.0 47.2 16.0 13.1 2.9
65AM oOfA4 100.0 34.4 13.1 21.4 50.0 15.6 12.7 2.9
-
Z2 Z o] 3} 100.0 33.5 13.8 19.7 51.4 15.1 11.7 3.4
il = 100.0 31.9 11.2 20.7 46.3 21.8 14.0 7.8
I & o 4 100.0 30.1 6.8 23.3 40.4 295 23.3 6.1
(ZIAERED
0| =z 100.0 23.2 5.2 18.1 525 24.3 16.9 7.3
Y 2 29 & 100.0 345 11.0 235 42.3 23.1 17.3 5.8
A" /o & 100.0 33.1 16.4 16.8 53.0 13.8 10.8 3.0
(BAEEE>
Z| o 100.0 31.6 9.6 22.0 441 243 18.2 6.2
AR Ol HPREE 100.0 32.5 129 19.6 50.5 16.9 12.3 4.7
<Y
e /e 100.0 40.0 14.8 25.1 36.4 23.7 14.9 8.8
At = 100.0 26.9 7.3 19.5 46.6 26.5 18.9 7.6
M H| A/ THOY 100.0 36.6 11.7 24.9 41.9 21.5 16.8 4.7
L a2 o o 100.0 30.1 8.4 21.7 50.0 19.9 16.8 3.1
s/ =8 100.0 29.9 8.1 21.8 41.5 28.6 20.7 7.9
= ol 100.0 3.5 0.0 3.5 55.8 40.8 27.9 12.9
(A RE N
1009+ Ojat 100.0 34.4 16.0 18.4 535 12.1 9.9 2.2
100~2002+] 100.0 31.9 12.0 19.8 53.2 15.0 11.1 3.9
200~3000tS 100.0 37.2 12.0 25.2 426 20.3 17.2 3.0
300~4002+H= 100.0 27.4 6.7 20.7 43.2 29.4 16.1 13.3
4008t8) oAt 100.0 306 9.7 21.0 4.4 28.0 23.1 4.9
2025 HetdE /8T ARIRAL



(] : %)
AFA -
o | =2 25 | e | s
2 = A === ws| 2w | omne | FINE | EA O o
zuxy | =z w5 | U8=
T =
2025 4 700.0 35.1 215 54 5.8 9.8 2.4
20234 100.0 32.9 21.5 5.2 21.7 13.1 5.6
LR
= = 3 100.0 42.1 19.7 33 12.9 20.8 1.2
2 o 3 100.0 498 1856 135 181 0.0 0.0
A = = 100.0 13.9 249 8.9 22.7 25.3 4.4
B zol 3 100.0 47.3 21.2 18 10.8 159 3.0
T
=k At 100.0 33.6 21.3 4.8 18.8 17.6 3.9
of 2t 100.0 36.9 21.7 6.0 12.2 226 0.6
LR
15~29A| 100.0 26.7 35.0 4.6 125 17.1 4.2
30~39A4 100.0 25.9 22.9 7.2 329 11.2 0.0
40~49 K 100.0 28.8 16.2 59 13.4 255 102
50~59M4A 100.0 458 14.8 8.7 12.5 18.3 0.0
604 Of A 100.0 387 22.2 3.0 14.2 21.9 0.0
65K O A 100.0 42.2 22.1 30 12.4 20.2 0.0
LR
Z2 Z o] 3} 100.0 35.7 21.7 7.1 9.2 26.3 0.0
ni = 100.0 27.4 26.8 2.5 21.9 19.6 1.7
I & o 4 100.0 40.5 17.3 6.4 15.4 15.8 4.6
CBQIAE )
0| =z 100.0 34.1 15.2 4.3 23.8 20.1 2.5
b © 2t 9 2 100.0 346 238 56 14.1 19.1 2.9
AHY /ol & 100.0 39.4 21.2 6.1 10.1 23.2 0.0
BHES
Z| %) 100.0 35.5 21.0 4.1 171 19.9 2.3
ADI I HPREE 100.0 340 226 8.2 12.8 196 2.8
R
A2/ e 100.0 26.9 22.8 56 16.9 22.2 55
At = 100.0 455 14.2 0.0 30.5 9.8 0.0
A H| A /Tt Of 100.0 46.1 16.5 0.0 10.5 26.9 0.0
L a2 o o 100.0 31.0 19.6 5.4 20.4 23.6 0.0
s /Lo 100.0 29.6 24.2 42 18.4 236 0.0
2 ol 100.0 8.6 40.1 17.0 8.5 8.6 17.2
R EPN=TEN
1008+el O|at 100.0 46.4 12.1 6.0 16.0 195 0.0
100~2002+] 100.0 15.4 37.6 11.9 19.0 16.1 0.0
200~3000+] 100.0 31.7 19.3 0.0 28.6 20.3 0.0
300~400%+d 100.0 46.9 17.6 4.2 15.8 15.5 0.0
40038 OfA 100.0 3556 211 5.7 15.6 13.4 8.5
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4 - 1. A% ol HEl

(Tt = %)
_ O|235}A _ 4§ O| A| A
S B U P I el PP e AL BN -
goin | 22 ek | Ng | =@
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2025 S| 1000 561 439 1000 166 423 2.3 52 239 96
20234 100.0 542 45.8 100.0 23.5 41.6 3.6 2.7 17.0 11.6
TEEE
= = A 100.0 56.7 43.3 100.0 13.8 36.1 2.2 5.0 32.1 10.8
2 = 3 100.0 546 45.4 100.0 14.5 334 0.0 6.9 29.0 16.2
N 2 #H 100.0 57.8 42.2 100.0 22.8 45.3 4.0 6.0 15.5 6.4
ZF=ola2my| 1000 531 469 1000 175 609 23 34 108 52
T
= At 100.0 50.9 491 100.0 15.0 43.4 2.5 49 25.9 8.3
o At 100.0 61.5 38.5 100.0 18.8 41.0 2.0 5.6 214 11.3
TEER
15~29A 100.0 13.6 86.4 100.0 6.1 57.7 2.2 3.3 25.7 5.0
30~39A 100.0 47.7 52.3 100.0 18.8 40.9 7.9 7.3 14.7 10.4
40~49 K| 1000 429 571 1000 294 354 0.8 43 267 3.4
50~59MA 100.0 55.3 447 100.0 11.4 455 2.9 47 25.2 10.2
60AM o4 100.0 71.5 28.5 100.0 20.7 32.7 0.9 6.7 23.5 15.4
65AM oOfA4 100.0 70.1 29.9 100.0 18.1 329 1.1 6.8 229 18.1
<o e
Z2 Z o] 3} 100.0 66.4 33.6 100.0 16.9 285 0.4 7.5 30.8 16.0
i = 100.0 53.0 47.0 100.0 13.5 491 3.7 3.6 24.7 54
I & o 4 100.0 46.0 54.0 100.0 19.2 473 2.6 4.8 17.8 8.2
AN
0| =z 100.0 25.9 741 100.0 10.8 50.0 2.7 41 23.8 8.5
ozt | 1000 648 352 1000 212 420 26 65 209 68
AtE /ol & 100.0 60.5 39.5 100.0 15.5 284 0.6 3.9 32.4 19.2
FHEED
Z| o 100.0 55.5 445 100.0 17.9 459 1.1 4.8 23.6 6.8
AR Ol HPREE 100.0 56.9 431 100.0 14.4 36.3 4.3 6.0 24.6 14.4
EEE
Ao /oe| 1000 391 609 1000 193 488 25 51 162 81
At = 100.0 44 4 55.6 100.0 13.1 544 0.0 6.3 22.2 41
MHA/DHOH | 1000 607 393 1000 149 334 1.1 39 407 60
L a2 o o 100.0 69.1 30.9 100.0 17.2 53.4 0.0 53 20.0 41
s/ =8 100.0 56.8 43.2 100.0 17.1 53.2 0.0 1.4 19.7 8.6
= 0l 100.0 38.7 61.3 100.0 40.0 30.8 5.6 11.3 5.6 6.6
LS
1009t DjOF | 1000 634 366 1000 252 216 00 68 228 236
100~2002t=d 100.0 66.3 33.7 100.0 11.6 31.7 0.0 7.2 33.2 16.3
200~3000t | 1000 641 359 1000 230 438 0.0 00 267 6.6
300~400%+d 100.0 491 50.9 100.0 9.1 61.5 47 3.3 15.8 5.6
4000tg oj4f | 1000 508 492 1000 152 404 09 98 27 6.6
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4 - 12. BT St ¥ BFMY
TRl %)
9], ®)

SN T T E TV o comill I SV PO - I ENT )
2025 4 700.0 46 79.0 352 274 76 .4 0.8
20234 100.0 7.0 25.0 37.4 18.1 2.7 8.2 1.7
TEEE
= = 100.0 4.7 17.7 313 29.6 18 13.8 1.1
2 =2 3 100.0 6.8 9.9 48.5 22.3 1.1 11.2 0.3
N =2 100.0 35 228 36.6 26.2 0.8 9.7 0.3
B zo 2y 100.0 3.9 25.1 31.7 27.9 2.8 7.6 1.1
(N e
=k At 100.0 4.4 18.3 34.4 26.5 1.6 13.8 1.0
o At 100.0 47 19.8 36.0 28.4 1.7 8.8 0.6
TEER
15~29A 100.0 1.1 309 31.6 12.1 2.1 20.0 2.1
30~39A 100.0 13.2 27.9 30.3 13.3 1.6 13.0 0.7
40~49A 100.0 7.0 19.5 38.2 22.2 1.5 9.5 2.1
50~59M4A 100.0 4.8 22.7 35.2 23.8 2.0 10.5 1.0
60AM o4 100.0 3.2 13.0 36.2 36.4 1.4 9.8 0.1
65AM oOfA4 100.0 2.8 13.3 36.9 37.1 1.5 8.3 0.1
<o e
Z2 Z o] 3} 100.0 2.5 13.0 36.2 35.9 1.8 9.9 0.8
il = 100.0 2.5 23.5 38.2 22.6 1.0 11.2 0.9
I & o 4 100.0 9.3 221 30.7 21.6 2.1 13.5 0.7
N>
0| =z 100.0 41 284 30.8 18.5 1.6 15.2 1.6
b © 2t 9 2 100.0 5.4 180 34.4 28.6 1.8 11.1 0.6
A /o s 100.0 2.5 126 42.1 32.9 1.1 8.3 0.5
GBS
Z| %) 100.0 53 221 32.8 26.3 1.3 11.3 0.9
ADI T HpREE. 100.0 33 14.1 39.1 29.2 2.2 11,5 0.7
TR
HE e 100.0 8.4 24.1 30.1 18.7 1.4 16.3 1.0
At = 100.0 4.2 31.4 329 22.1 0.0 9.4 0.0
M H| A /Tt Of 100.0 7.2 27.1 31.0 248 16 7.6 0.9
L a2 o o 100.0 2.6 14.0 39.4 33.0 1.9 8.2 1.0
s/ =8 100.0 5.1 13.5 29.5 33.6 1.7 14.7 1.8
= ol 100.0 0.0 36.4 36.9 12.9 0.0 13.9 0.0
OtresE
10008 ot 100.0 3.8 9.0 40.0 36.6 1.7 8.9 0.0
100~2002+] 100.0 2.2 14.6 35.9 36.4 0.0 10.5 0.5
200~3000tH 100.0 2.8 256 35.4 23.9 4.6 7.0 0.7
300~4000+ 100.0 2.3 28.1 28.6 25.4 0.7 12,6 2.4
40028l o[ A} 100.0 6.0 19.0 37.0 22.8 1.4 133 0.6
2025\ Hetde /gt AR|ZAL



4 - 13. 8 g 2ZMHACHESH)
2 %)
=< EH. = .
R " [T [ v S P (PR I 1= [P i
22l &% | ns | 4z
2025 4| 1000 405 167 44 35 206 30 28 48 36 01
2023 4 100.0 37.1 11.5 7.2 3.2 22.7 3.1 3.7 5.8 5.7 0.2
RECLR
= =l | 100.0 40.3 15.9 3.7 3.1 20.3 3.1 4.1 6.1 3.4 0.0
=2 =l | 100.0 42.5 13.3 4.5 3.4 28.0 3.8 1.1 1.1 2.0 0.1
A = = 100.0 40.9 16.7 4.6 4.2 18.5 1.8 2.0 5.8 5.3 0.3
ZF=olamy| 1000 390 216 56 38 174 35 21 36 34 00
T
Lt 2| 1000 389 170 44 41 204 33 33 48 37 01
of 2| 1000 424 163 44 29 208 27 21 48 36 0.1
LR
15~294 | 1000 129 217 60 180 20 106 181 19 89 00
30~39A4 100.0 25.0 23.9 6.9 4.3 6.6 6.8 4.1 15.7 6.6 0.0
40~49 4| 1000 274 189 94 34 134 26 09 198 43 00
50~59MA 100.0 439 16.6 3.5 1.3 26.1 1.4 0.0 3.4 3.6 0.2
60AM o4 100.0 52.7 13.4 2.6 0.6 27.7 1.1 0.2 0.2 1.5 0.1
65AM oOfA4 100.0 54.2 12.6 3.0 0.3 27.3 0.8 0.1 0.3 1.4 0.1
Cstag
Z2 Z o] 3} 100.0 49.2 11.9 2.7 1.9 26.8 0.6 3.8 0.7 2.2 0.1
ini Z 100.0 38.2 18.8 4.2 5.1 19.4 3.6 2.6 5.3 2.7 0.1
I & o 4 100.0 32.6 20.2 6.5 3.9 14.3 5.3 1.7 9.2 6.3 0.0
CZOINER >
0| =z 100.0 21.1 21.1 7.2 13.5 5.8 10.6 11.2 1.7 7.6 0.0
oz e | 1000 435 170 39 08 236 10 06 68 27 0.1
A& /O & 100.0 52.6 10.5 2.9 1.3 271 1.1 0.3 1.7 2.1 0.2
AATEE
B of| 1000 388 178 52 24 206 40 09 62 40 01
ADiQiupgeE | 1000 436 147 30 55 205 13 60 24 30 01
A
Ao /ma| 1000 377 173 71 13 174 23 15 83 70 00
At = 100.0 30.7 22.2 9.0 2.3 6.5 14.9 1.2 7.1 5.9 0.0
MH|A~/otoy | 1000 373 185 43 24 213 37 17 76 32 00
L a2 o o 100.0 48.3 17.1 2.7 1.0 26.4 0.6 0.1 1.5 1.9 0.4
s/ =8 100.0 39.3 16.8 3.3 3.8 28.5 3.6 0.0 4.2 0.5 0.0
= ol 100.0 33.0 6.9 8.8 4.6 12.6 0.0 2.2 20.5 11.3 0.0
OFpaSE
7000te gjot | 1000 532 114 37 16 260 10 09 07 12 03
100~2002t=d 100.0 48.5 13.9 3.0 3.1 26.6 1.5 0.9 1.4 0.9 0.3
200~300mte | 1000 419 171 61 11 224 65 02 12 34 00
300~4002t 100.0 42.5 19.6 5.6 1.3 18.1 2.6 0.4 5.7 4.1 0.0
4000tgl o4 | 1000 379 141 47 08 218 20 13 16 57 02
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o zo | 29 | 59 .

T = Al [ 2AkE] 27 | By | == s [ uF | 27 | e | 2d | 7IE
2025 4| 1000 231 261 112 76 80 44 77 60 57 0.1
202 34| 1000 171 289 122 77 88 45 71 62 76 0.
CAL g &5
=z = | 1000 258 233 106 49 99 36 93 61 67 00
2 = m| 1000 157 282 89 133 52 45 76 105 60 00
N = | 1000 218 301 132 77 78 64 51 30 50 00
m=oamy| 1000 246 257 122 94 61 35 76 62 44 04
<H g
Lt Z| 1000 230 249 112 81 87 46 77 60 56 0.1
ol | 1000 232 273 113 71 73 40 78 60 59 00
(A
15~29A4 | 1000 260 136 17.1 11 151 77 80 71 37 06
30~39A| 1000 246 254 177 16 116 19 145 22 04 00
40~49M | 1000 230 188 126 41 243 53 66 31 22 00
50~59A | 1000 251 273 118 88 48 41 87 60 35 00
60AM O/ A| 1000 213 306 79 109 28 38 62 72 91 00
65M OlAH| 1000 194 324 66 119 28 37 56 78 97 00
-
=z % ol s 1000 203 297 60 110 51 46 58 74 99 02
Il =z| 1000 275 267 109 57 84 36 75 60 37 00
f 2 o A| 1000 221 212 177 57 111 48 103 43 29 00
(ZQIAYER )
o| s | 1000 286 174 134 23 113 61 107 59 40 03
oS | 1000 217 269 123 88 83 37 74 58 51 00
Ab® /o & | 1000 219 327 55 96 37 46 54 69 97 00
(BAESE
2 of| 1000 246 247 119 79 86 43 80 56 45 00
ADlwnpges | 1000 206 284 101 71 70 45 73 68 79 02
(Y
M@ /me | 1000 193 228 183 38 117 42 87 65 46 00
At o 1000 265 183 108 27 87 65 121 109 34 00
MH|A/otoy | 1000 255 258 138 26 87 27 118 48 43 00
= 2 o 9 1000 203 278 58 233 55 35 40 49 49 00
Jls /=2 | 1000 314 288 85 52 60 36 74 26 64 00
2 ol | 1000 188 173 243 19 229 77 14 58 00 00
OttasE
1000t O[Ot | 1000 196 319 59 91 29 42 55 100 107 00
100~2008k | 1000 250 341 53 88 42 26 48 49 103 00
200~300tel | 1000 288 209 94 96 54 50 64 96 49 00
300~4000t) || 1000 198 296 132 61 82 71 70 56 36 00
4000t oA 1000 177 238 156 89 131 38 97 43 30 00
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1 o856t

2 = %u, r

20254 100.0 14.6 37.2 48.2
202 3 4 100.0 16.0 24.2 59.8
CAL 9 g5

2 =2 100.0 17.6 40.4 41.9
2 =2 3Z 100.0 9.3 37.3 53.4
N 2 A 100.0 13.3 30.5 56.2
Fzo 100.0 13.0 38.1 48.9
< =1

=1 At 100.0 15.4 39.7 44.8
q At 100.0 13.7 34.6 51.7
oAy

15~29A 100.0 17.5 48.6 339
30~39A 100.0 17.0 52.2 30.7
40~49NA 100.0 36.7 37.5 25.7
50~59A 100.0 19.9 45.7 34.5
6 0A OfA 100.0 6.0 28.4 65.6
65N O At 100.0 3.7 23.1 73.2
sty

2 Z o] gt 100.0 3.6 25.8 70.6
n = 100.0 16.5 44.2 39.4
o & o A 100.0 26.7 44.6 28.7
(ZASENES

]l z 100.0 18.7 46.4 34.9
Hi & A Q! & 100.0 16.2 39.7 441
A /o & 100.0 5.5 20.2 74.3
(BAEEE>

= A 100.0 19.0 42.3 38.7
AD1 Ol HPRBE:S 100.0 7.3 28.8 63.9
g g

dq4 2/ 8z 100.0 26.2 47.1 26.7
At = 100.0 35.1 36.1 28.7
A H| A /THOj 100.0 18.1 52.2 29.7
L a2 o o 100.0 12.6 40.1 47.3
Ns/ 2 100.0 9.0 39.5 51.5
= ol 100.0 243 17.4 58.3
OIRASE

10022l O]3tk 100.0 1.5 13.9 84.6
100~2000r 100.0 10.6 26.4 63.0
200~300%+d 100.0 15.7 41.2 43.1
300~4008t2] 100.0 14.3 50.8 34.9
40082 O|At 100.0 25.9 39.9 34.3
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of

2 o= o | Holas ElD | Q= 23 |FFIeAER
2025 4 100.0 28.1 18.9 10.3 2238 1.1 838
20234 100.0 35.1 10.2 16.7 20.7 13.4 3.9
NI I

z = g 100.0 309 21.3 11.2 17.9 8.9 9.7
2 = g 100.0 382 227 0.0 145 7.1 175
N =2 2 100.0 233 175 14.8 23.2 14.9 6.2
Zzolay 100.0 17.7 7.6 32 50.6 16.8 4.1
=

Lt 2t 100.0 29.6 20.7 8.0 24.8 11.6 53
o 2t 100.0 26.4 16.8 13.1 20.4 10.6 12.8
(A

15~29A 100.0 15.4 325 12.4 18.6 16.5 46
30~394 100.0 10.7 19.9 233 15.6 239 6.6
40~49A 100.0 29.6 231 145 13.4 9.4 10.0
50~509A 100.0 336 8.7 33 408 4.6 9.0
60M O At 100.0 39.0 13.0 0.0 26.7 11.1 10.2
65AM O At 100.0 395 11.4 0.0 26.7 17.1 53
-

z = o & 100.0 18.9 19.9 6.5 345 75 12.7
i} = 100.0 305 12.1 11.7 27.4 83 10.0
o = o] A 100.0 28.1 23.0 10.1 18.1 135 7.3
(ZQIAYER )

o] k3 100.0 17.3 28.7 12.8 26.0 8.1 7.1
Hi © 2t 9 & 100.0 343 14.8 9.3 20.7 13.2 7.8
Ae /ol & 100.0 11.2 223 109 30.2 36 21.8
(BAHZE B

3 o 100.0 30.1 18.8 9.9 22.1 105 8.7
AP HpgEE 100.0 17.8 19.7 12.4 26.7 14.6 8.8
(Y

Mo /e 100.0 396 5.8 8.7 208 16.4 8.8
Ab =] 100.0 246 31.8 12.8 13.1 9.2 85
M H| A/ Toj 100.0 30.7 13.9 7.4 27.1 6.4 145
= 2 o of 100.0 33.0 10.1 7.0 39.9 6.2 3.9
N /L2 100.0 216 28.6 14.7 28.1 0.0 7.0
2 ol 100.0 23.2 23.2 15.3 7.6 22.9 7.8
TrHa2SE

1009+l O]t 100.0 22.1 28.8 0.0 49.2 0.0 0.0
100~2008+) 100.0 46.6 11.2 0.0 385 0.0 38
200~3008+2 100.0 125 46.9 10.8 15.0 43 10.6
300~4000+2 100.0 326 6.9 11.2 285 15.6 5.1
4008t oAt 100.0 34.9 18.5 7.2 185 12.8 8.2
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